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�� ��� ������ ��	
�	� ��	
�	 �
��
 �
����� �� ������
��
� 
� �
��
� ������ ��	����������



������� �� 	����������� 1

��� ;*; 77 
�
� �	������ �� ��� �����	�� >����� :��������	� ������ K8L� ��� �����������$

������� ������������ 	� �� ��$�������� ����	���� &$ ����� ���	� ��������� ������������

����� 	� ��� �� ��������� �	� �� ��	����	� K/L� 7���	��� �����������	�� 	� ��� ���

������� �����# ��� ���� �	������ 	� ��� &	��	� %���� �	 ��� �� %����# �������$ ����	�� ���

����������$ 	� ����� ������������ ������

!�	� �� ������������ ��� ���	������� �	��� 	� ����# ��������� ��������� ��������	���

� ����$�# � � ��
��# ��� ��� �	�� �������&�� ������� �	� ��������� ������ ��	 	&�����&���

���� &��� ���� �	 ��������� ����� ��	� ��������� ��������	��� � ����$�
 ��� ����	��� 	�

��� ����	� �	������ �������� K9L ��� ��� ���� 	� ��� ���	����$��� ����	��� �$���� K2L�

7� ���� ����������	�# � � ��
�� ����$� ��� ������A�� ��	� � ������ 	� "" �����	� �� �����

�	������� &$ ��� ����� ������	������ � �	��� ����	��� &���� 	� ���������	�� ��%���������

�	� ��� ������	� �����$# ��# ��� ��� ��������� ���� �%����� 	� ��� 
�� ����# �� K"L� ���

�������	 8 �	������ �� ���	��������� ��	� ��� ����&�� 8 �	������ ��� ��	������ 	� ���


�
� ������� ������ ��� �	������ ����� &�����	��� �� ���������� &$ ��������� � ����	� 	�

��� �� �� ����� ����� ����� �	������$ ���	��������� � � �

�� ������ ��� ������������$

��������� C�����	��� �	���������	� �� ��� ������ ����	� �� ��� �	 ���	����	� �'���� ���

�� ��������� �� �	��� ����	 ��������	��� !������ �������	� �������� ��� ���	��� �	 ������ �

��	��� �������	 ���	��������	�� ��� �	��� ��� ������� � � ��
�� &�������� ����	 �� ����

�������� ����� ��� 	&������ $���� �� ����# ��� &�����	��� ��������� ��� ������ �Æ���� 

���� ��������� �� �	��� ����	 ��������	��� !�����$# ���	������� ���������	�� &���� 	� ���

(���$ )���� *������	�# �� �'������ A��� ���	�$# ���	� �	� ��� �����������	� 	� ��� ���

������� ����� ����� ��� �������� � ���	� �������� ��� � � ��
�� &�������� ����	� ���

�����������	� 	� ����� �� ������� �	���$ &$ 	�� ��	������ 	� ��� � %���� �����

�	� 
���
��

: &���� 	������� 	� ��� �������� �	��� 	� �������� ��$���� �� ���� �� ������� 1� 7� ��� 

�������# ��� ������	����� &������ ��� ������� ����� 	� ��� ��� ������ ��� �� ��	����	�



������� �� 	����������� -

�� ���������# ��� ��� ���	�$ 	� ��������	��� � ����$� �� �����	��� �� ��� ������	�� 	� ���

(���$ )���� *������	� ���	 �� ��������	� �	� ����� �� ����� 	� ��� � ���	� �������� ���

� � ��
�� &�������� ����	� 7� ������� -# ��� ������������ �����	����� �� ���������� ���

���� ��� ������� 	� ��� �	��� ����	 ��������	� ������� ���� �� ���� ����$ ��� ������&�� ��

������� 8� 7� ������� /# ��� ����$��� �������$ �� 	�������# ��� ��� ��������� 	� ������� / �	

������� 2 ������&� ��� ����	�� ����� ������� �	 ��� ��������	� 	� ��� � � ��
�� &��������

����	 ��� ��� ��������	� 	� ��� �	������ �$�������� �������������� 
������ ��� ��������� ��

������� "# ����� ������ �	� ��� ��� ������ ������� ����� ��� ����������
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�

�� �����	 �����

J>������

*��������$ �������� ��$���� ���� �� ��� ������������� 	� ��� ����������� �	� 

��������� 	� ������ ��� ��� �	���� &������ ����� 7�� �		�� ��$ &� ������ &��� �	 4".2

���� ��� ����	���$ 	� ��� ������	� &$ M�M� ��	��	�� 7� ��� ������$ ��	�� �� ��� ���� ����

����	�� ��$� ������� �� �������� ������ ����� ���$ �	��� &� ��=����� &$ � ������� ����

��������� ���� ����� ��$� ���� �� ���� ������� ���������� ��	��	� ��� �� �� ���������� ��

����� � ����	��� &��� ��� ���� ���	��� ��	���� �������� ��� �������� A���� C$ ������ ���

A���� �������� ����� ��� ��� ��=����	� ��� G��	# �� ��� �&�� �	 ��������� ��� ���	���$ 	�

��� ��������� �� ���� �� ��� ����	 	� ����� ���� 	��� ����� ������� (� ����� ����� ���������

�	��������# ��� ����� ������ ��� ������	��

5��� ��� ���� 	�� ������� $����# �������� ��$���� ��� �������	���$ ��	����� �����

���	���� ���� ������ �� ���� �� �	� �������� �	 �� ��� �������� �	��� ,��3� 7� ������&��

��� 	� ��� ��	�� ����������� ��������� ��� ����� ���������	�� ��� ����� �	����
 ������	��� 

������# ��� ���� ��� ��� ���	�� �	����� )������ *�����	�$������ ,)*�3 ��� ��� A���

���	�$ �����	��� ��� ������&�� ������	�������� ����	����� >����# �� ��� ���� 4.90N�# ���

���� ��� ������	�������� ���������	�� ���� ���A�� �� ��� ���	�$ 	� ������	���� ���������	��

��	�	��� &$ ?����	�# 6���&��� ��� ����� K.# 40# 44L� ��� ?����	� 6���&��� ����� ��� 

	�$ ���	��	����� )*� ��	������ ��� ��	����� � ���������	� 	� ��� ���� �	���� ��� �����

���	�$# )������ ���	�	�$������ ,)��3# ������&�� ��� ���������	�� 	� %����� ���	���



������� �� ������ /

!������� ������ 4�� ��������	� 1�� ��������	� -�� ��������	�

)����� O1E- � � �
 4E- � � �

>���	��  4 
 � �
0 �� �� �


��&�� 1�4
 ��� ��	 �����	� ���������

��� ���	�� P�	�	��Q A���� 7� ��� ���� �����$ $����# ��� �� ��� &��� ����������$ ������ &$ �� 

���	�� �����������R �	 ���# �	 ������������ ������ ��� &��� �	���������$ ��	�� �	 ��������

���� ��� ��������	�� 	� ��� ���

7� ��� �	��	���� �����	��# �� 	������� 	� ��� �������� �	��� ���������$ ���������

��� ����� ���������	�� ���� &� �����# �	��	��� &$ � ���������	� 	� ��� ��� ��������� �	�

������� ������	���� ���������	��� ��� ������	����� &������ �� ��	����	� ��� ��� ���

������ ���� ���� &� ���������# ��� ��� ���	������ 	� 	&������� � ������� ����������� 	�

��� ������� ����� 	� ��� ������# ��� �	�� 	� ���� ����������	�# ���� &� ������������ !�����$#

���	������� ��������	�� �	� ��������� ��������	��� � ����$� ���� &� �����	��� ���	 �� �� 

������	� �	� ���������� ����� ��	� � ����������� 	� ��� ��������� � � ����� &��������

����	�

�	� ��� ���������� ����
����

��� �������� �	��� �� �	��	��� 	� ����� �$��� 	� ���������
 ��� ���� 4E1 �����	�� ,����	��

��� %�����3 ���� �	�������� ��� ������# ��� ���� 4 ����� &	�	�� ���� ������� ��� �	����

���	��� ����� ��������� ��������# ��� ��� ���� 0 (���� &	�	�� :� ��	�� �� ��&�� 1�4# �����

��� �� �	��� 41 �����	�� ��	���� �� ��	 ��������# ���� 	� ����� �� ������� ���	 ����� ��� 

�����	��� ��� ������	� ,
3# ��	� ,�3 ��� ��� ,�3 ��� ������� ����	��# ������� ��� 	� �����

�������	 �������� ,��# �� ��� �
 3 ��� �����������$ ��������

��� %���� �����$ �� �	��	��� 	� ��� �� ,�3# ����� ,�3 ��� �	� ,�3 %����� �����

����$ � ������ 	� O�
�
 ����# ������� ��� �	�� ,�3# ������� ,�3# ��� &	��	� ,�3 %����� ����

�� ���������� ������ 	� ��
�
� !�������	��# �	� ���� �����	� ����� ������ �� ���� �����	� 	�
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�%��� ���� &�� ���� 	��	���� ������ ��� =��	�� ���&��� !	� ��������# ��� �	����	� ,
�3

�� ��� ���� �������� ������� 	� ��� ������	� ,
�3�

����� 	� ��� �	�� ��	�� �	���� ��� ���� 	� ��� ��
 ��� ���	��# ������	��������# ���

���� �	����R ������$ �� &$ ��� ��� ������� �	��� ��� �� �	� ���� 	� ��� �������� �	���� ���

������	���� �	��� ���� 	� &	�� ����	�� ��� %����� ��� ��� �������� 	� ����	� ����� &	�	��


�# ��# �� 	� ��� ��� ���A����	� 	� ��� ������	�������� ��� ���� ���������	�� �	 ���

������	���� ���������	� �� �� ��������� ���� 	� ��� ��# ��� ��%����� ��� ��������� 	� �� �����

	�� (���� &	�	�� ��� ������ 	� �����	�� ��� ����� &	�	�� ��� ��������� ����� ��	�����	��

�$�����$ &������� 	� ��� ������ ��� ��� (���� ��������� ��	������ � ������� �������

������ (���� &	�	� K40# 44L� 6��� ��� ����	���$ 	� ��� �� K41L ��� �� K4-L �� �*
@� ��

4."-# ��� 	� ��� �	� %���� �� 4../ �� !������& K48L# ��� (���� &	�	� �� ��� 	��$ ���������

�������� 	� ��� �������� �	��� ����� ��� �	� &��� �������������$ 	&������� ��� ����	���$

	� ��� (���� &	�	� �� ��� �	�� 	� ��	 ����������� ������� �� ��� >���� (���	� �	������#

����� �� ��������$ ����� �	��������	� �� �*
@�

>���	�� �	 �	� ���� ��� ���	�� �	��� ����� ���� 	��$ 	� %����� ���� ����$ 	�� 	�

����� P�	�	��Q �������� ��� ���	�� �	��� �� �������� &$ ��� �������� 	� �	�	���� ���	��

,�3# ����� &��� %����� �	 ��	���� �	�	������ ��������� ������ ����	��� *��� 	� ��� ���

%����� �	��� �� ����� ��'����� �	�	���# ���	��� �� P���Q# P&���Q ��� P�����Q� )����� ���

������	�� �	�&��� �� ��	 ��'����� ��$� �	 ��	���� � �	�	������ ������ : %���� ,���# &��� 	�

�����3 ��� �	�&��� ���� �� ����%���� ,�������# ����&���# 	� ���������3 �	 ��	���� �������

���� ��������� ������ ���	��# ���� �� ��� �� ,��3 ��� ��� �� ,��3� 7� �� ���	 �	���&�� �	�

����� %����� ,���# &��� ��� �����3 	� ����� ����%����� ,�������# ����&��� ��� ���������3 �	

�	�&��� ��� �	�� � ���� ������� ���� �������� ������ � &��$	� ���� �� ��� ��	�	� ,���3 ���

�����	� ,���3� : ������$ 	� ��� ����	� &	�	�� ��� ��� �	���� ���$ ������� �� ���������

�� ��&�� 1�1�

��
�	��� ���
����� �
�� �� ���
���
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� �
� ���
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C	�	�� !	��� ��������

� *�����	��������
�� @������ ����
�� ������� ����
� ���	��

��&�� 1�1
 ��� ����	� ����� &	�	���

�	� ���� 
�������
���

@������ ��� ������� ���� ���������	�� ��� �������� ���	��� ��� �������� 	� ������� ����	�

&	�	��
 ��� S� ��� ��� 6�# �����������$� 7� ��� ������� �������# %���� =��	�� �� �	��������

5� ��� 	���� ����# %���� =��	�� ������� �� ������� ������� ��	������ ���� �� ��� ����$ 	�

� &	��	� %���� �	 �� �� %���� ��� � ����	� ���� �������	 ����


�� � �� �� � �� � � ��� ,1�43

����� � �� ���	��� � ������� �� &	�	�� :� ���� �����#� ���� ���� ����$ ��������	� ��

������&�� &$ ��� >���������

� + � ��
1
	 ���

� O ����� ,1�13

����� 	 � �� � � : ������� ���� ������� 	�����	� �	������ �	 ��� � &	�	�#

	 � + ,��� ��� �
 3�
�,4 � ��3

�
�� 
�

��

��

�
��O ,���� �3�

�,4 � ��3� ���

�
�� �
�
�

�
�� � ,1�-3

��� A��� ���� ���	�� ��������	�� &������ � ������� ����	� ��� ��� �	�����	����� =��	��

�������	# ��� �� �	������ &$ � ��������� �	������ �	������# ��# 	���� ��������� ��

�� +



��� ��
� ,1�83

����� �� �� ��� ���� 	� 6���&��� ������ ����� ��� 
 �� ��� ������	�������� ������� :�

�	� �����$# ��� ������� ���� ������� ���������	� ����� ���� �	 �	��� �	�� �����	� �	�������

	� ��� �	��

��� + �1
�

1 �	 �	 �
� � ,1�/3

�!
� �
��	� 
���� �� � ����������
� �"���	�
��
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�

1���!""
�
� � ��� ������ � ��� �� ��� ���	�� ����

	� �%����	� 1�- �� ��	�� �� ��� ��&&�&	 �	&�$���� ������� ,���3 ������# ��� �������

���� ���������	� ����������� �	 %���� =��	�� �����������# ��� ��� &� ������� ���������$ ��

� ��� +

�
�� ��� ��� ���
�
� �
� �
�
��� ��� ���

�
�� � ,1�93

������	��# ��������	�� &������ ��	 %����� ��# ��� �	���&�� ���� &������ ��'�����

��������	��� ��� �������� ��G� 	� ��� ������� ������� ��������� �� ���� ��	�	���	��� �	 ������
7� ���� ����������	�# ��� ��������� 	� ��� ������� ����� 	� ��� ������ ���� &� ����������

����� ��� ��	���� 	������ �� �%����	� 1�4�

����� ��� ��	 
��
�� ��� �� ���������

7� %������ A��� ���	�$# ��� >��������� �� ��������� ����� ����� 	������	��
 ���� ��������#
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7� 	���� �	���# � �$�����$ ���	��� ��� 	����� 	� ��� ��������� �$���� ��� &� �	���# �������

��� ���� ��� ����� !�����$# ������ �	�B�����	� ,�3 �� ��� 	������	� ����� �������� ���

��������� &$ ����� �������������# &�� ����� ��� ����� ���� ��	������� ������ ��� ����� (����#

��� �	�&�����	� �� �������� � �������� &$ ��� ������������ ��� �������� �	������ ���

�������$�� ��� ���	�� ��� ������	�������� ���������	�� ���� &��� ��	�� �������������$ �	
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� �� ����� 7� �� ����

�	���&�� �	 �	�����G� ��� �������� �	 ��� ������ 	� ��
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����� ��� ��&������� / ��� � ���	�� ��� ����� 	��	���� �	 ���� ����� ��&�� 1�- �������G��

��� ������ ����������� 	� ��� ��� ���������� �� ���	���� &$ K4"L� !�	� ����� ������# 	��

�	����� ���� ��� ������ 0� �� �������&��# ������� ��� ������� ������ 	� �	� %����� ������� ��

� �		��� &	��� 	� 0� � ����� �
��� + 0�00"- � 0�0049�
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���� �� ��� ����������G���	� ���� �� ������ �� ��	����	� �� ��� � ���	� �$���� ��

��������� &$ ��������� ��� ������ . ��� / ���	��� �����A� ����$ ��������� ��� ��������

�	��� ���������	� 	� �� ��	����	� ��� ���� &� ������ &$ �		���� �� ��� ��������� 	�

�	� ��������� &������ ��� ������ 0� 	� ��� ��������$ �������� ��� ��� ����� / �� ���� &�

��������� �� ��� �	��	���� �����	��

����� �
��
����� �� 
����
��� �����


����� ������������ 	� ��� 1/ &$ ��� ����� ��� C���� ����������� $���� �� ������� �����

	� ��� 1/ + 0�21/ � 0�0-2 K4.L� !����� 1�1 ������$� ��� �	���&�� ������������	� 	� ���� ��� 
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!����� 1�1
 ������ 	� �� ��	����	� ���� ������� �	 ��� �������� �	��� K10L� ��� ����	��
���� ,+� ,3 	� ��� ��������$ �������� �� �	����� �� ��� ������� ���� ������ ����� 7� �� ��������$
�	��������� &$ ��� ������������ 	� ��� 1/ ��� ����!�
���

������$��# ���� �� ��� ��  ��	������ ��������� �2� � �� ��� ������� ��	� �$����# ��� ����!�
��#
����� ���������� ��� ������ 0� 	� ��� ��������$ ��������� ��� ,+� ,3 ���� �� ���� �	�����

�� ��� ����	� �	������� &$ ��� ����������$ 	� ���1/ ��� 0�� :� �������# ��� ���	� 	� �����
�� �&	�� 4-U ,��� ��&�� 1�-3# ����� �	������� ��� ����������$ 0� ������$�� �� ��� ����

�11 �������� ����	� �� A���� 1�1� 7� 	���� �	 ������� �	������� ��� ������$ �������� ��� ����

��� �� ��������� �	� �� ��	����	�# ��� �������	� 	� ����� ���� &� ����	���� !�����$# &$

��������� �����# 	�� ��� ��� 	��	������$ �	 ���� ��� ��� �	��� 	� ���� ���������	�� �������

�	� ���
������
� ������� ������

��'����� �$��� 	� � ���	� ����$ ��$ ���� �	 �� ��������	� 	� ������ !����� 1�- ��	�� ���

A��� 	���� !�$���� �������� �	� ��� ���� ����$ 	� � � ���	� ��� ��������	���# ����	���

��� �����$ ����	��� ��������� �	�� 	� ����� ��	������ ��� ������ �	 ������ �������������$
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!����� 1�-
 !���� 	���� !�$���� �������� �	� ��� ���� ����$ 	� � � ���	� ,��3 ��� ��'�����
��������
 �3 ��������	���# &3 ����	���# ��� �3 ��� �3 ����	���� ��� ��&�� � ���	��� � %����#
3 � ����	� ��� � � �������	�

������� 	����� ���� ����� ���	������� ������������� ���	������ �	 ����� !	� ��������# ���

���� ���������	�� ������$��� ��� ����	��� ��	������ ,� ��� �3 ��� ���������	����� �	 �� 

����&� ���	��������$# &�� �	��������	�� ����� &������ ��� %����� ��� &	��� ������ ��� ����	��

&$ ��� ���	�� �	���� !�������	��# ����	�� �� ��� A��� ����� ��� �������� ���	���$ ���� ����

	����� ����� ���������	�� ��� ���	���&�� �	 ������� ����� ������&����� ����	�� &������ ���

���	�� �	������ �� ����� �� ��� �$����� �������� �� ����� ����$� K14L�

��������	��� ��� ����	��� ����$� ,A���� 1�-� ��� 1�-�# �����������$3 ��� ���������$

���� ������� �	 ���� ���� ����� ��� �'���� 	� ��� ���	�� ���������	� ��� &� ��	������ 7�

����$ %���� ����$�# ��������	��� �	��� ��� ��������$ ���� �	�� �������&�� �������������$
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�����$ &������ ����� &�������� ������	�� ��� �������

7� ��� �	��	���� �����	��# ��� ��$���� 	� ��������� ��������	��� C ���	� ����$

� � ������ ,1�4/3

����� � �� ������ �� ������	� 	� ��	�� ��� �� ���	��� ��$ ���	� �	�������� �� �� %����# ��

�����	��� ���	 �� ��������	� ����� ����� ��� &� ���������� :���	��� ���	�� ���������	�� ���

��Æ���� �	 ���������# ���$ ��� ��	����� �	 ��� ����	��� ������� �� ��������	��� ����$�� :� �

�	���%�����# ��� �'���� 	� ��� ���	�� ���������	�� ��$ &� ����������G�� �� ����� 	� �	��

����	�� 	� 	� � ����� ������	� �� ���� &� ������&�� �� �����	�� 1�8 ��� 1�/�9# �����������$� ���

��������	� 	� ����� �� ������� �	��������� &$ ��� ����� &�����	��� ��	� � � �
���# �����

��� � ���� �&	�� 400 ����� ������ ���� ���� 	� ��������� ��������	��� ����$� ������	��#

��������� ����������� �	��������� ���� &� ������� �� 	���� �	 ��'��������� &������ ������

��� &�����	��� �� ���� &� ��������� �� 1�/�9� 7� 	���� �	 ����	�� �������� �����������	�� 	�

�����# � �	���	���� &������ ������������ ��� ���	������� ������������� ���� &� �	���������

������� ����	�� ���� &��� ���� �� ��� ��� ����# &�� ���� �	�� ���� � �	��� ����	��� �����

�	������ 	� ��������� ��� ��������� ���� �%����� 	� ��� ����	� �������	 �$���� ��� ���

����	� �����$ ������&�� �� �����	� 1�2�

�	� � ����
!� �����������

�	 ����	�� �� ��������� ����������� 	� �����# 	�� ������� ����$� ����� �� �� � ����������

����	��� A��� ����� ���� �� � ��	�� ��� �� � ������ &�������� ������	� �� ��A��� ��

�,�� � ������3 +
V,�� � ������3

V,�� � ��$�����3
+ V,�� � ������3 ��� ,1�493

����� �� �� ��� � ���	� ��������� ��� ��������� 	� ���� ����$ ��
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��� ������$��� ���	�� ���������	��� 7� ��� ����� 	� � �������� ������� ����	�# ��� ��'��������

����$ ���� ��� &� ��������� �� ����� 	� ��� �	�� ����	� ��

�V,�� � ������3

���
+
 �
� ������
18��

�5�,��3����6���� ,1�4"3

����� �� �� ��� ��������� ���� �%����� 	� ��� ������� ����	� �������	 �$����� @	�� ����

�	� ����	� ���	� A��� ������ ���� �� + ��� 7# ����� �	�� ����	�� ��� ��������$ K11# 1-L� ��� 

	������� ��������	�� �	� ��� �	�����G�� ����# IV + V!������# ��$ ���� &� ���� �� �	�B�����	�

���� ������������ 	� ��� &�������� ����	 �	 ������� ����� ��

����� +

�
�,�� � ������3

IV,�� � ������3 ��
� ,1�4.3

����# �� �� �	���&�� �	 ������� ����� &$ �	�&����� ������������ 	� ��� �� � ������ &����� 

��� ����	 ��� �� ���	� ��������� F��	��������$# ������� �	�� ����	� ��������	�� ������ ��

����� ������������� �� ��� �	�������	� 	� IV# ������� ��	� 4/U �	 /0U K4"L� @�����������#

������ ����	������� �� ��%������� ������� )�� $���� ����������$ ���������	�� 	� �5�,��3�
���� ���� �	��� ������������� K18L� :���	��� ������� �	 �� � ������ �� ����� ��# �����

���������	�� ��$ 	��� ��� ��$ �	 � ��� ��� �	� ����� ��������	��

�	" #�����
!� �����������

����� ������� ��� ��� ��������
 
����

7� �� ��������� ����	���# ��� �	���&�� A��� ����	��� ������ �� ��� �	��������# ���	���� ���

�������� &�����	�� ��	�� ��� ���������� ����$ �	��� ���� �	����&��� �	 ��� ��������	���

����� ���� 	'��� �� ��������� 	��� ��� ��������� ����	���
 ��� �����$ �������� ���	 ���

����� &$ ��� ����$ 	� ��� ����$ � %���� �� ����� ���� ���� ��� A��� ����	��� ����� �� �	�

�	������� &$ � ��� ����� ���	������� 7� ���	������ ��� ������ �����	�����# ���� �����

�� � ����	��G���	� &������ ��� ��	�� �������� ���� 	� ��� ����$ ,��� ������������� 	� ���

� %����3 ��� ��� �	�� �������� ���� ,��� �������� ����	��G���	� 	� ��� ����$ ��	�����3�

���� ����	��G���	� ������� ���� �	� ��Æ������$ ��������� %��������� �� �� ��	��� �	 �	������
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��� ��	�� �������� ���� 	� ��� ��	����# ���� ��� ��&��%���� ����	��G���	� ������ ����� ����

���� ��	&�&����$� ���� ����	��G���	� �� ��	�� �� �	��� ����	� ����	� ������$�

��� ��������� ��������� ��������	��� &�������� ������	� ��$ &� ��A��� ��

��	
� +

V,� � �����3

V,� � ��$�����3
+ V,� � �����3 ��

+ V�	
� �� ,1�103

���� ���� �� ��������	� ������� �	 �%����	� 1�4. ��$ &� 	&������ �	� �����# &�� ����	��

�	�� ����	��� C$ ���	���� ��� ���������	�� &������ ��� � %���� ��� ��� ����� %����# ���

�������	� �	��� �������� ��� ����$ ����� 	� ��� ����	�� �	�������� � � %���� ��� �� ���

�������� ��$ �	 �������� V�	
� � 
�������� �	 ��� � � ���� ��	���� 	������� �� �%����	� 1�4

��� ��� ���	������ >��������� ��A��� �� �%����	� 1�-# ��� ������ ������� ����	����� �� �

����	��� ��� ����	��� �������

�,�� ����3 + '
 ��

1
���
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�,4 � ��3%�
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����� % ���	��� ��� ���������� ����� ����	��� :������� ��� ��	&�&����$ �	� ��&��%����

����	��G���	� 	� ��� A��� �� ����� �	 &� 400U ,������$3# ��� � � ����� ����$ ���� ���

���� &� 	&���� &$ ����������� ���� ��

V�	
� + V,�� ����3

+
 �
�8

�
�

4.1��
��������,8�!8�3� ,1�113

����� ��,&3 + 4 � "&� O "&� � &� � 18&� ��& K11L� F��	��������$# ����� ������������� ��

��� %���� ������ �� ���� �� ��� ���������	�� &������ ��� � %���� ��� ��� ����� ������� 	�

�����	� �� ��� ���	� ���� �	� �������&�� �'���� K1/L� ����� ��$ &� ���	����� �	� &$ ��

�������	� 	� ��� )�� >��������� �� ���� &� ��������� &��	��

�����  ���� !��
" #��������

!����� 1�8 ��	����� � �	�� ��������� ���� 	� � � � ����� ��������	��� ����$� :� ����# ���

� ���	� ��� &� �	�������� �� �	��	��� 	� 	�� ����$ � %����# � ����� ����%����# ��� �
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ν

!����� 1�8
 (����� 	���� )�� ���������	�� �� � ��������	��� � ����$� :��	 ����������� ���
��� ��������� �����&��� ���� �	 ������&� � � � 
 �� ����$��

���	� ��	�� �	�������� ����� %���� ����%���� ������ ���� ��	�� 	� ������������ ���� ���� ����

�� ����� ��� 	� ��� ���	� �	��	����� �	������ �� � �	�	������ &	��� ������ 5�� ��� ����

�������G� ��� ����� ��	�� �� � �	�� ������ �� ����� ��� ����$ � %���� �� ��&������� 7��	����

���� ���	� ���������# ��� �	������ ����� ��$ &� ����������� ��	� ��� ������������ �	 ���

����$ ����%���� �� ���� 	� 	���� 9���� (����# ��� � %���� �	��� �	�� 	� ���� ���� ���

����	�# ��� ��� �'���� 	� �	�� ���	� �������� ��$ &� ��������� �� ������&���	� ���	�$ K19L�

(���	������$# CB	���� ��� ��� A��� �	 ������� ��� �'���� ��� �	 ��� ����$ %���� �	��	�

������ ����$ ����	�� �� ��� ��	&��� 	� ����$ %���� �����������	� K12L� 7� ���������	� �	

��� ����$ ����	� ����$� ������� ����� ���� ���� �� ��� &���� 	� ��� :���� �	��� ��������

�� � ������ �	� ������������ �	��� 	� ��� ����$ %���� �	��	�# ����� ��� �������� �	 �� ���

!���� �	��	� K1"L� ����� ����� ���� &��� ���	��	����� �� ��� (���$ )���� *������	�

���������	� 	� ��������	��� � ����$��

*'������ A��� ���	���� ��� &���� 	� ��� ��������� ���� �� � ����� ��	����# 	��$ ��� 

���� ������� 	� �����	� ��$ &� ���	����� �	� ������������� ��� ������$��� ��$����� 7�

����������# ����������� �	��������� ����� ����� ��� �	����� 	� �������� ��������� �'�������$

�������� ��� �	����� 	� ������� ��������� �� ����� :� ����# ������������ ������ 	� ���� ��� 

������$ ��$ &� ���	��� ��	� ��� ���	�$ ��� �������� &$ �'������ ���������	�� ��	�� ���

��������� ������� 	� �����	�� 7� �� ���� �	���&�� �	 ����	�� �$�����������$ � ����� �������	�
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��������� �	 	&���� � ��������	� �	� � ����� ��	�����

��� (���$ )���� *������	� ,()*3 �� �� �'������ A��� ���	�$ ������� ��	� ��� �����

9���!8� � 0# ��� ��� ��$���� �� ����������G�� &$ ������������ �� �����$ ������ 9��� :

� � 8�� ��� �����# �# �� ���� ���� .�,8�3!� � 0�4 � 4# ��� 9���!8� : �!8� � 0�4 � 4�

(����# 	�� ��$ ����	�� ��� �������� 	� ���� ����� ���������� �� )�� ������&���	� ���	�$�

����� ��� � %���� ������ ��� � ���	� �� ����# �� ����	� &� ���������� 	��� 7������# ��� �

%���� ��������� ���� ��� ����� ������� 	� �����	� 	� �$����� �����$ � 9���# ����� ������

��� � %���� ���� 	' ����� &$ ������������ 	��$ 	� 	���� 9���� 6��� ��� ���� &� ����������

	�� �� �	� ��� ����$ %���� ������# &�� ������ ��	�� ����� 	� ��� A��� ����� ���� �� ��� 	'

������

7� ()*# ��� >��������� �� �������� �� ����� 	� �	��� 	�����	��# ��� ���������	�

����� 	� ����� ��� ��	������� 	� ��� � %���� ������ ��� � ���	�� ;�	������ ���� ������� ����

���	�� ����� ����� ��� ����$ %���� ��� 	' ����� ���� �	 �������&�� ������&����� �	������	��

�� ��� �'������ ���	�$ 	� 	���� .�,8�3� !������ �	��� �	������	�� ��� ��������$ ��� ���� �	

����� 	� 	���� ,9���!8�3
�� ����� �	� ������&����� �	������	�� ��� �	� �������&�� ��	� A���

��������� ��� ��%���� ��� ����	�����	� 	� ��� ����	���	�	����� ���������� ��	�� ������

���� &� ���������� �������������$�

����� $���������� ��  !#

F���� ��� 5������ ���	���# ��� ����$ ����� 	� � � ���	� ��� &� ������� �� ��� �	��

V,� � �3 +
4
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����� ��� ��������	� 	�����	� �$ �� ����� &$ ��� ���� 	������ ��	���� 	� ��	 �'������ >� 

���������
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�
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!����� 1�/
 ;�����&����� �	����&���	�� �	 ��� ��������	� 	�����	� ,����3 ��� ��� �	�����	�� 
��� 	�����	�� �� ()* K-4L�

��� ��� �'������ ���� >��������� ��� �� ����� �� �%����	� 1�/ K1.# -0L�� (����# �� ��� �	���&��

��������	��� ������ � ��� �	��������# �� 	&���� ��� ��������� ��������� ����$ ����

V�	
� +

4
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�	�� �	����&���	�� �	 ��� ��������	� 	�����	� ��� ����� &$ ��� ��	 �		� ��������

��	�� 	� A���� 1�/� 7� �� ���� �	���&�� �	 �	������� �� �������	� 	� ��� ��������	� 	�����	�#

�� ����� �$ �� ����������� �� � ������ 	� �	��� 	�����	�� �	�������� ��� ����$ %���� A�����

��� 	�����	� ���� �	���� �������	� �� �� ,� + -3� 7� ������ ��	� ����������� 	��� ���

�������� ����� �� ��� A��� ������� ��	�� �� ��� A����� ��� �%����	�� 	� �	��	� ����$ ����

��� ������ �������� 	� �������	� �	�� 	�����	�� ������� ����# ��� ������� �	� ������&�����

�	������	�� ����� ��	� � + / 	�����	�� ����� �	����� ��� ���	� A��� �������� ����	� ��� ���

	� 	���� ,4!8�
� 3� 7� 	��������� ��	� �������� �� ����� � ���	� �� ������� ��	� 	�� 	� ���

�������� �����# ���� �� ��� ���	�� ������� ��	�� �� A���� 1�/�

:� ������ 	����# � ����� ���&�� 	� 	�����	�� ������# &�� �	� �������	��� ����	��#

��� ������ �������� 	� ����� 	�����	�� ��� ���������� &$ ������� �	���� 	� ��� � %����

�% �
����
��	��� 
������� 
� �
� �
��
���$ ���������
�	 ��� �� �
��� �� &'()�
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����� ������	��# ��� ��������� ��������� ��������	��� ���� ��$ &� ������� �� K1.# -0L

V�	
� +

 �
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����� �!� ��� �������&�� ��	�� �������� �	�Æ����� ������	�� ��������� 	� ��� %������ ��� 

&��� 	� ��� A��� ������ 5 # ��� �;�� ��� ��� �	�����G�� �	����� ������ �������� 	� �	���

	�����	��# ������� ����� ��� ��	�� ���� �	����	�

�;�� +
4
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����� ������ ��������# ����� �	����� ��� 	� ��� �	�� �������� �	����&���	��# ��� &� �$���� 

�������$ �������� �� �	���� 	� 4!8� ��� $����

���� + 4 O
)� O -)�

18�
�

O �,4!8�
�3 ,1�1"3

���
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��� %������$

)� +
4
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-)� +
4
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�� ��� >	����G ��������� ���	�	�������� ���������	� �����$ K1.L� @	�� ���� ��� ���������	�

����� 	� ��� ������� 	�����	� �� ����	����� �� ��� ���������� ���	 �� ��� + �)�# ��� ���

���������	� ����� 	� ��� ���	�	�������� 	�����	� �� ��" + -)� K-0L� ��� ������ ��$

&� 	&������ �������������$ ��	� ��� ���� ��������� &������ � ��� �� �� 8�
�� � 8�

� +

8)� � 0�8"?��� K4"L� 5� ��� 	���� ����# )� ����	� &� 	&������ ��	� ����	� ������	��	�$�

7������# 	�� ��$ ��� ��� ��	�	� �����$ �������� ��	�� � ��� ����$� 	� ��� ����	� �����$

��� ����	��� ���� �	����� ��	� � � �
��� ����$� �� ���� &� ��������� �� �����	� 8�1�1�

�	�&����� �%����	�� 1�1. ��� 1�-1 $�����
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����% &��" ������������

��� ��G� 	� ��� �	����&���	� ��	� �	�� %���� 	�����	�� 	� �������	� ��� �	 ��� �	��� � �
����� ����$ ���� ��������� �� ��� �����	�� �����	� ��� &��� ��	�� �	 &� �	� �������&�� K-1L�

���� �	����&���	�# 	� ���� ����������	�# �	�����	��� �	 � ����� �	���	� 	� ��� �	������

	� 	���� �,4!8�
� 3 ������� ���$ &$ ��� A��� ����� %����# ��� ��� ��� �	������ 	� ��� �������

����$ %���� =	���� ���	��� ��� ����	� ����� ����# ���� �	����&���	� ������� 	��$ ��	���

�� � 8�
� # ��� �	��������� � A��� ������	� 	� ��� �	��� ���� 	� ��� � � ����� ����$�#

�&	�� � -U K--L� (	�����# ���� �'��� ��$ &� �������� ����� ��������� �	��������� ����

&� ������� �	 ���	�� ����� &�����	��� ��� �$������$ ������ �� ��������� � �	���	� 	� ���

����� ����� ���� ������ �� ������

����� '�
��
(����� ��

������� ��� �)*��
" 
���

:� �����	��� �� �����	� 1�/�-# ��� �	�Æ������ �!� ��������� �� �%����	� 1�-1 ��� �����$

������&����� �	������	��� ���$ ��� �	������ �� � .�,�3!� �������	� 	� ��� �	��
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��� �������
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����� /� + 44 � 1=!!- �� ��� 	�� �		� &��� ������	� 	� )��# ��� 2 � 4 ���	��� ��� 	����

	� ��� �������	� K-8L�

F��	��������$# ����� �� �� ��&������$ 	� 	���� � 9��� �� ��A���� ��� � %���� �����

7� ����# ��� ���� ����������$ �� ���	������� ��������	�� 	� V�	
� ����� ��	� ��� �		��$ ��	��

� %���� ���� ����� ��A��� ��� ����� �����# ��� ����� � 10U ����������$ �� ��� ������&�����

�	������	�� ���� �� �� ������� �� ����� 	� ��� �	�� ���� K-/L� 7������# ����	�� ������%���

��� ���� �� 	���� �	 	&���� �� ��������	�� �	� ���������� ����� ��	� � ����������� 	� ���

��������� ��������	��� &�������� ������	�# &�� ���� ������� ����������$ �	 ���	�����G���	�
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:���	�� ����$ �$�� * ,�40��3

C���# �������# F������� K19L � � �� 
 �� 8�8" � 0�4-
(	���# >�����# ���	��� K-8L � � �� 
 �� 8�1. � 0�40
C��� K-9L � � �� � �� "�./ � 0�1/
C�����# @��&��� K-2L � � �� � �� .�29 � 0�20

��&�� 1�8
 ����	�� ���	������� ������� �	� ����� �� ����� 	� ��� ��������	��� &�������� ���� 

��	�
 ����� + * �
�
���� � � ���

�����
���� ��

	

��#�
# ����� � + 
 ��� �� @	�� ���� ��� �	������

���	������� ���	� �	��� ��	� ��� �	�������	� 	� ��	
� # ��� �� �	� ���������

	� 8�� �	�� 	� ����� ������� ��� ��	�� �� ��&�� 1�8� :�� 	� ����� ��������	�� ��� �� �		�

��������� ��� $���� �	 �� ������� 	�

����� + 0�000818

�
�,� � ��
��3

0�0001

4�94 ��

��
,4 � 0�08"3� ,1�-/3

����� �������� ��� ()* ���������� �	 ��� ������ ������ K4"L� (����# ����� ��$ &� ����������

���� � � /U �������	� ����� � ����������� 	� ��� ��������� � � ����� &�������� ����	�

����+ ,���� -�������

����� ��� ����	 ��
��!����� � 40# ��� � � �
��� ���� �� ��������� �	 �	������ 	��� ����

	� ��� � � ����� &$ � ����	 	� �&	�� 400
4� @	���������# ����� &�����	��� ����$� ��$

&� ������������� ��	� ��� ������ � � ����� &$ �		���� �� ��� ����� ����� &	��������

�	� � � �
��� ��������	��� 7� ���������# ����� 	&�����&��� ��� &� ���� �	 ��������� ����

&	��������


� ��� ����	��� ����
 8 + 8	� + 4�"9/?��!��R

� ��� ������� ����	� �����$
 �� + ,8�
� �8�

	�3�
�!18� � 1�- ?��R

� ��� ������	� ��������� ���� �%�����
 �� + ,8� �8	3� � 44�2?���!���

5� �	����# 	�� �	��� ���	 ��� � �	�&�����	� 	� ��� �&	��� :�$ ����������� 	� �����
���� ������	�� &� ���������� �	 � ����� �	���	� 	� ��� ����� ����� �� 	���� �	 �������� ���

�	������ ����� &�����	���� : ���	������� �	��� ���� ���� &� ���� �� 	���� �	 ������	����



������� �� ������ 1-

��� ������� � � ����� &�������� ������	� ����������� �	 ��� ���� ����� �����# �����

������� ������� ���	������� ��������������

7� �� �'	�� �	 ��	���� ���� � �	���# �� !�G�	 ��� @��&��� K-"L ��������� ��� ������

��'�������� ����$ ����� �V�	
� !�&���6

�R ����� ����� �����&��� ���� ��� �	��	���� ������� ��

��� ����	� �����
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� � +
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��� ��� �����$ ��� ���� 	� ��� ����	��� ����� ��# ��� 9 + 8��8� ��

��� &������ �����$� ��� �'���� 	� ��� !���� �	��	� 	� ��� ������� ����$ ����� ��� ���	�����

���� ����$��� ��� ��������	� �	� ��������� ����$ 	� � ����� ������� ���� 8�# ���������$ ��

��� �	� ���� ����	� 8 + �,93� 7� ���� ����	���# ����� �'���� ��� ����������G�� ����� �

����� !�����	� ,�!3 ����� ��A��� ��� �	������ ������&���	� 	� ��� ����$ %���� ������

��� � ���	�� : �	��� �! �� ����� &$ ��� ���	������� �	��

4 ,>�3 + ?,4 � &3$ 
���$�%R & +
>�

9
� 4� ,1�-23

����� ��� � %���� ����# ����������$ ��A��� �� ��� �	����� 	� ��� �!# 8� + 8��9# ��� ���

�������	����� ��������� < ��� ��� ��	 ���� ����������� 5���� ���W��G� ���� &��� ���������

�� ��� ���������� �	 ������&� ��� �! ���� �� ��� ?������� ��� 
	��� ����� ������	�� K-0# -.L�

��� ?������� �! �� ����������G�� ��

4 ,>�3 + ?,4 � &3$ 
������%�� R � + V
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 !���� �	��	� ������� 	&������ ����� ����	�� ����$ %���� ���������� ,�	�3 ���
���W��G� ,&	��	�3� ��� �	����� ��	��� �� ������$�� �� &����� ��� ��	��� 	� ()* ����������
�	�����	�� �	 ������� ��������� �� K80L ��� K84L�

�����$
 *� + 4# *� + 0# ��� *� + �)�!-� !����� 1�9 ������$� ��� �	������ �������

�������� �	� ����	�� �	�&�����	�� 	� ��� ()* ���������� 	� ���W��G�� 7� ��� �����# >� ���

���� ������ &������ �8� ��� 9# ���� � ������&���	� �������� ��	��� >� + 0� �����$# 	��

��� ���	 ��� ��	� A���� 1�9# ���� ��� ������������� 	� ��� ���� 	� ��� � %���� ��� ���������

< ���� �	� �������&�� �'���� 	� 4 ,>�3� ��� ��	��� 	� ()* ���������� ���� &� ��������� ��

�����	� 8�1�1�

��� �	��	����	� 	� ����	� ������� ���� ��� ������	� 4 ,>�3 ��%����� ���� ��� � %����

���� &� �������� &$ ��� �	������ ��������� ����8�O>� �� ��� ��������	� �	� ��� �����

������	�# ����

�V +

�
�>�4 ,>�3�V������,8� O >�3�
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 �	��� ����	 ������&���	� �	� �3 ��� ����	� �����$# &3 ��# �3 ��� ����	��� ����
��� �3 �
��


 �	� � � ��
�� ����$� ����� ����	�� ����$ %���� ����������� ��� �	��	����	�
	� ��� ����	� ������� ���� ��� ����� ������	� �'�������$ ������ 	�� ��� ����	�� ��������
��� ����	��� ���� �� �	�� �'����� &$ ��� �! �������������# ������� �� �� ��� ����� �'�����
%������$� ��� %������$ �
��


 �� ��A��� �� �����	� 1�2�

��� ����	� �����$# ����	��� ���� ��� �� ������� ��� �'�������$ ������� 	�� &$ ��� !����

�	��	� K1.# -0L# ��� ��� ���	� 	� ���� �������� �� � ������	� 	� ��� ��'������ &������ ���

����	�� ������&���	� ��	�� 	� A���� 1�2� 7� 	���� �	 ���� �� ����	��� ����������� 	�

�����# �� �� ���� ������� �	 ��� �� 	&�����&�� ,	� ��� 	� 	&�����&���3 ����� &	�� ������G��

��� ������	� 	� ��� � � ����� ����� ����� ��	&�� ��� ������G�� ��� ����������$ �	 ���

���	������� �������������� ��� ��	��� 	� �����&��,�3 �� ���� � �	���	���� &������ ����� ��	

������ �	 ������G� ��� 	������ ����������$ 	� ������
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�	$ %��!
��� � �����
��� �& �����

;��	� �	 ���� ����$���# ��	 	&�����&��� ���� &��� ���� �	 ��������� ����� ��	� ���������

��������	��� � ����$�
 ��� ����	��� 	� ��� ����	� �	������ �������� K9L ��� ��� ����

	� ��� ���	����$��� ����	��� �$���� K2L� F���� �������$# ����	��� ������� ���� ������� �	

� ����� ����� 	� ��� ����	� �	������ �������� &������ 1�- �	 1�9 ?��E�� ���� ����������

	��$ � 40U 	� ��� � � ����� ����# ��� ��������� .0U &���� ������ ���������� ��� �	� 

����� � � �
��� ��������	�� (����# ����� ������	����	�� ���� ��%����� �� 	���� �	 	&����

��� ���� � � ����� ���� ��� � �����A���� ��	��� 	� &�����	��� ����� ��������� !������ 

�	��# ����� ��� �	�� ���������� ��������� ���	������� ������������� �� �	� ������&�����

)�� �	������	�� ���� ��	���� �	 �'��� ��� ����� 	� ����� &$ �� ���� �� 40U K81L�

������������ &���� 	� ��� ���	��������	� 	� ��� ��������� ����8 	� ��� ����	���

�$���� �� ��������	��� � ����$� ��� 	� ���������	�� ��%��������� 	� 8 ��� �� ��� ���	

&��� ����	���� K2L� 7� 	���� �	 ��������� 8 ���� �		� ���	����	�# � ����� ������ 	� ����$

���	��������� � ���	�� ���� ����# �����&$ ���	���� ��� ��	��� ���������� 	� ��������� �	

��� ����	��� ��� ��������	��� � ���	�� �� ��� ������ ���� ��%����� ����� ����������# �����

��� �Æ�����$ �	 ����$ ���	������� ��� ����	��� � ����$ �� � ��� ��� ������ 
�%��������� 	�

��� ����	��� ���� 	� 8 : 4�//?��!�� ���� ���� �	 ������ � ����� ������ 	� � � �����

����$�� :� �����	��� �� K--L# ������� ��%��������� 	� �� ���� ���	 ���	��� �� 	���� �	

������ ���	������� �������������� C���� 	� ��� �&	��# � ����������� ��� ���� ����� �

P��������� ���������Q �	 ��������� ����� ��������� �	 ���	����� ���� ��� ��������	��� ��

���� �������� �� � ������ �		� ���	����	� 	� &	�� 8% ��� ���


������ &���� 	� ��� �&	�� ����	�� ��� ��������� �� A���� 1�"� ����� ���� 	&������

���	� �	 ��� �	�� ��	�� �� ���� ����������	�� (����# ��� �	�� 	� ���� ����$ �� �	 ����	�� ���

�������	� 	� ����� ���� ������� �	 ����� �����������	��� @�� ������������ ���� &��	��

������&�� ����� ���� �	�� ��� ������� �	������	� ��� ��� �	������ �	 ��� ������� 	&������

�� ���� �	�� �� ������� "�
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]-3 10×|  [ub|V
1 2 3 4 5 6

]-3 10×|  [ub|V
1 2 3 4 5 6

ALEPH 
 1.00±4.12 

L3
 1.70±5.70 

DELPHI 
 0.92±4.07 

OPAL 
 1.03±4.00 

LEP Average 
 0.70±4.09 

CLEO (endpoint) 
 0.65±4.08 

BABAR (endpoint) 
 0.72±4.43 

) 2 - Q XCLEO  (m
 0.89±4.05 

)  XBABAR (m
 0.61±4.52 

 tag) νl* with D XBELLE (m
 0.83±5.00 

) 2 - Q XBELLE (m
 0.70±3.96 

!����� 1�"
 ������ 	� ����� ������������ ���	� �	 ���� �	�� ,������ 1001 K4.L3� :� ������	���
/U ���	� ���� &� ����� �	 ��� �&	�� ������� �	 ���	��� �	� ��� �����������	� 	� ����� ��	�
��	
� ,�%����	� 1�-/3�

�	' ��� �����
� ��������

��� �������� ������&���	� �	� 	� �� �� ��
�
� �	� � � ����� ����$� ��� &��� 	&������ ���	���

�������	� ����� �	��� ����	 ��������	�� ��� �� ������$�� �� A���� 1�.� :��	 ��	�� �� A� 

��� 1�. �� ��� �������� &�����	��� ��	� � � �
���# ����� ��� &����$ %���� ����$� �	

������ :� �����	��� �&	��# &�����	��� ������ �	������ 	��� � � ����� ������ &$ � ����	

� 400
4� @	���������# ����� ������ ��$ &� ������������� ��	� ��� ������ ������ &$ �		����

�� ��� ����� ����� &	�������� 	� � � �
��� ��������	�� �� ��� �� ��
� ������ ��������	���

����$� ��� �������� &���� 	� ��� �������� 	� � ���� �����$ ����	�# ��� ��� �����������	�

	� ��� ��� ��������� ���� �%�����# ��# &$ �	�&����� ��� �������� ������� ����	� �	��� 

���

� �	 �
� �
��$�� ����
� ����$� �� �
� �������
����		 ������
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!����� 1�.
 ������&���	� 	� � � �
��� ,����3 ��� � � ����� ,�����3 ����$� �� ��� �� ��
�

������ ��� �����$ 	� ��� ������� ����	�# ��
� # �� ����� �� ��� ������ 	� ���� �����# ��� ��

�� ��� ��������� 	� ��� ����	� �������	 �$�����

��� ���� �� �������� 	� ��� �������	 �	������ &���� 	� � ����������� 	� ��� �������

�	������ 	� ��� ������ ��
� ��� �� ��� �	�&���� �	 �	����� ��� ������� ������������$

���	��� ��������� ���� �%����� 	� ��� ����	��� ���	�� �$����# �
��

 K"L� 7� ��� ���� �����

���
� � �

�
��

�

�
���
�	�

�
#� ��� ������� ��������� ����	��� ���� �%����� ��

�
��

 + 8�

� O �� � 18��
�
�

�
4 � /
4 � / � 18�

�
��

8��

��
4 � /
4 � / � ,1�843

	��������#

�
��

 + 8�

� O �� � 18�

�
���

��� �&	�� �����&��� ��� ��� ��������� �� ��� A ,8�3 ���� ������ �	������ ������ 	� �
��



��A�� ��� �	��	�� ����� �� ��� �� ��
� ����� �� ��	�� �� A���� 1�.� � � ����� ������

��� �	������� ������ ��� ����	� ��A��� &$ �
��

 + 0 ,����	��� �	��	��3# ������� ������

�	�������� � � �
��� ����$� ��� &� ���	��� &$ ��%������ �
��

 : 8�

	 ,&��� �	��	��3�

(����# �	 ������ ���� � ���� ����	��� ���	�� ���� �&	�� 8	 ��� ����� ��� ������ ������

�� 	� ��
� �� ��� ���	����������

�% ��������
� 
� �	
�
� �	 ��
����� �� �������" %�


*
��� � +
�
(� ,-�	��
 ����.� � /�/0�



������� �� ������ 1.

�	( )�����
��� *
�� ����� ����������

��� �� ��
� ����$��� �� �	����������$ �	 ����$��� &���� 	� ��� ����	� �	������ ����	���

��� 8 ���	��������	�� ��� �������	� �Æ�����$ �� ������ �	� ��� �� ��
� ����$��� ���� �	�

8% �������# ����� ��� ������ �	 &�����	��� ����	 �� &����� ���� �	� ��� ����	��� ����	� &��

�	��� ���� ������� &���� 	� 8%� :���	��� ��� �� ��
� ����$��� ������� � ������� ������	�

	� ��� � � ����� ����� ����� ���� ��� 8 ����$���# �� �� ���� ���� ��������� �	 �����

������	� �������������� ���� �� ��	�� �� A���� 1�2# ����� ��� ����	� �	�����	����� �	

�������� � � ����� ����$� �� &��	� 4�// ?��!�� �	� ���8 ��������# ��� &��	� -�/?���

�	� �
��

 � (����# ��� ����������$ ��� �	 !���� �	��	� ���� ������	������ ��� ������	� 	�

� ����$��� �	 ���� 	��� ��� ���� �������� ���� &� ������� ����� �
��

 � 5� ��� 	���� ����#

�	� ����	��G�&�� �'���� ���� �� ��&������� �!� ��� ���� ����������	� ���� �	 �	� �������&��

�������������� ��� ������ ��� � ������ ������ 	� ��� �����������	� 	� ����� ��	� ��� �� 

��
� ����$��� ���� �	� ��� 8 ����$��� ��� �	 ��� �	���	� 	� ��� � � ����� ����� �����

��	&��� 6���� � ����������� 	� ��� �������� ��������� ��������	��� &�������� ������	��

�	� ������� ��� ������� � ���	�� �	��� ������� ���� ����������$# ���� ����	� &� �	�� ��

���� ����$����



-0

������� �

��� ����� ����
�����

������� ����� �Æ���
 ��	� �	� ��	��


��� ������$ �	�� 	� ��� ����� ���������� �� ��� �$�������� ����$ 	� �� ��$� 

������� �� ��� ����$� 	� ������� � ���	��� ��� ����� ���������� ���	 ������� � ����� 	�

	���� � ��$���� ���� �� ��� ������ �	� ���� � ���	� ����$� ��� ��� ����������� 	� ���

��� ������� ������ ��� ��$���� 	� ��� ����� %���� ��� ��� ����	�� �� ���� �� ����	�

������	��	�$ ��� ���	 ������������ �� ������

������� ������� ���� �	������� �� ��� ���� 4."0� ��� �� ��� ���������� ���� ��

��$������� 
�
� �	������ 	�������� ��
�
�+40�/" ?��# ��� A ,8B3 ���	�����# �	��� &� &���

�	 ����$ �� ��	����	� �� � ���	��� ��&�� -�4 ��	�� ��� ����	�� ��	�����	� ��	�� �����	� �	�


�
� �	�����	�� ��
�
�+40�/" ?��� :��	������$# ��� ��	�� �����	� �	� ��� ��	�����	� 	� ���

�� �����# 
�
� � A ,8B3# �� 4�0/ �&# ����� ��&��%�����$ ����$� /0U 	� ��� ���� �	 ����

��� /0U �	 ����� !�������	��# ����� � ���	�� ��� ���	�� �� ���� ��� ���� �	 ������	���

��������� ���	������ ���� ����# ���� ��� �� ������������$ ����������� C$ 	�����G��� ���

�	������� &���� ���� ��$������� ��������# �� �� ���� �	���&�� �	 ����������� &������ ���

����$ �������� 	� ��� � ��� � ��� �	 ��� �	���������� &		�� 	� ��� ������ 	� ���� �� ���

��& ������ 6���	�� ���� &		��# ��� �������� �������� &������ ��� ��	 � �������� �	��� &�

�		 ����� ,� -0 ����	��3 �	 &� �������� &$ ��$ ������ �������� !�����$# �� ��� �������		�

���� ��� ������� ���� ���� �� ������������� �����	���$� �� 	���� �	 ��	���� ��	��� �

�!
� �����
	��� �	 ��1��� �	 �
� ���� 
� ��������	 ��� ���� �����



������� �� ��� ����� � ����!��� -4

����$ �$�� ��	�� �����	� ,�&3


�
� � �� 4�0/

�
� � �� 4�-0

�
� � �� 0�-/

�
� � �� 4�-.

�
� � �� 0�-/


�
� � ���� 0�".

�
� � ���� 4�49

�
� � 
�
� � 80

��&�� -�4
 ��	�� �����	� �	� 
�
� �	�����	�� ��
�
�+40�/" ?�� K8-L�

���	��� ����� ��������������� ���� ���� �� ��� ������ 	� ��� ;*; 77 �	�������

��� ����� ������	� ��� 	�����G�� �	 ����$ ��� �����	�� 	� �� ���	� ����� ��	 

����� &$ ��� ;*; 77 �	������� ����� ��� ������ 	� ���� �� &		���� �� ��� ������	� �	�����

�������	�# ��� ������	� ����� �	 &� ��$������� �	� ������� ����������� 7� 	���� �	 ��� 

���� ��� �� ��$�������� �� ��� ����$� 	� ������� � ���	��# ��� ������	� ����� �� ���������

������ ���	����	� �	 ���������$ ������� ��� ��'������ �� ��� ����$ ����� 	� ��� ��	 � ���	��

D�� 7� ����# ��� � ���	�� ������ �� � �������	� ���	�� �������� �	 ��� &��� ���� ,G ����3 ����

���� D� �� ��������� ��	� ��� ��'������ &������ ��� G �	��	����� 	� ����� ����$ �	����	���

��� ������	� ���� ����	�� � ������� ����������� 	� ��� ������� �������� ���B���	�$ ���

��	�	� �	�����# ��� ��	���� �� ��������� ������A����	� 	� ������	��# ��	�� ��� ��	�� ��

	���� �	 ��������� ��� =��	�� 	� �� ����� 	�� � ���	� ��� �	 ����������� �� ���$ ����$

�������� �� �	���&���

: �	���������� �����	� 	� ��� ����� ������	� �� ��	�� �� A���� -�4� 7� ��� &�

���	��	��� ���	 A�� ��B	� ��&������	� �$�����


� : �����	� ������ ������� ,���3 ����� ����	��� �������	� ����������� 	� ��� �	����	�

���	�����	� 	� ������� ������ �� ��� ����� 	� �����R

� : ����� ����&�� ,��(3 ����� �������� �	������ ��� �	����	� 	� ������� ���������

��� ������A�� ��������� ��� ��� ����������� 	� ��� ���� 	� �����$ �	�� ,�*E��3R
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!����� -�4
 >	���������� ���� 	� ��� ����� ������	�� F����� ���������� 	��������# ��� 	�
��� A����� ��������� �� ���� ������� ���� &��� 	&������ ��	� K88L�

� : ������	� 	� ���������$ ��=����� �������	� ����� ,�7
�3 ����� �� ���� �� �������$���

��	�� ��� ������� ����	��# ���������$ ��	��R

� : ������� 7	���� ������	�������� ���	������� ,*��3 ����� �������� ��� �����$ ���

������A�� ��	�	�� ��� ������	��R

� :�� �� ������������ =�� ������ ,7!
3 ���� �	� ��	� ��� ������� ����	� ������A�� 

��	��

����� �� ���	 � ������	�������� �	�� �	����� &������ ��� *�� ��� 7!
 ����� ��	����� �

4�/ ����� �	���	���� �������� A��� ������ �	� ��� ��	��� 	������	� 	� ��� ��� ��� ��(�



������� �� ��� ����� � ����!��� --

��� ������	� ��	����$ �� �$��������� �	� ��� �������� �$���� ��� �����	��� �	� ���

	���� ����������� 7� �	���� �	�� 	� ��� 8� �	��� �����
 &������ -/0 ���� �� ��� �	�����

����	� �	 800 ���� �� ��� &������� �������	�� @	�� ���� ��� ����� �		������� �$���� ��

���� ���	���	�� ���� ����������	� ��� �� ��A��� �� ��� �	��	���� ��$


� ��� � ���� �� �������� �	 ��� �������� A��� 	� ��� �	���	�� ��� �� ��� �������	� 	� ���


� &���R

� ��� C ���� �	���� ���������$ �������R

� ��� & ���� �	���� �	��G	�����$# ���$ ��	� ��� ������ 	� ��� ;*; 77 �����

��� 	�����# ,0#0#03# �	�����	��� �	 ��� ���������	� �	���� ��� ����� � �� ���� ��� �������

������������ ��	� ��� � ����# ������� ��� ����� D �� ��A��� �� ��� ������� ������������

��	� ��� & ���� �� ��� & C ������

: ������� �$���� �� ���� �	 �������� �	�����	�� ��	������ ����������� ������ ��	�

&�����	��� ���� �� &��� ���������	�� ���� �������� ���� ��� ������� �$���� �� ������� ��

��	 �	���%���� ������
 ��� A��� ����� ������� �� �������� &���� ��� �� �������� �	 ���� �

������� 	����� ���� 	� �&	�� 1 �(G ��� � ������� ���� ����$ 	� 41 ��# ����� ��� 	����

����� �� �	������ &���� ��� ��� � ���	������ ���� ������� �	 � 100 (G �� 	���� �	 ������

�� ���$ ��	���� ��� ��	������� 	� �	������� �����

7� ��� �	��	���� �����	��# � ���������	� 	� ��� ;*; 77 �	������ �� A��� ���� ��� ��

�	��	��� &$ �� 	������� 	� ��� ����	�� ����� ������	� �	��	����� ��� ����� ����	�������

: �	�� ������� ���������	� 	� ��� ������	� ��$ &� �	��� �� K88L�

�	� ��� %�%�## ����
���

!����� -�1 ����� � ��������� ������������	� 	� ��� ������ ���������	� ��� ;*; 77 �	������#

�	����� �� ��� �����	�� >����� :��������	� ������� 7� 	���� �	 ������� 
�
� �	�����	��

��
�
�+40�/" ?��# ���� �	������ ������	�� ��� �	����	�� ��� A��� ��������� ��	� ���

������ ���������	� ��� ��B����� ���	 ;*; 77 ����� �	������ 	� ��	 ����������� ��	���� �����#



������� �� ��� ����� � ����!��� -8

!����� -�1
 ��������� ���� 	� ��� ������ ���������	� ��� ;*; 77 �	������ �� �>:� K88L�

	�� �	����� ��	� ��� 	����� 7� ��� ���� �����$ ���� ,(*
3# . ?�� ������	�� ��� ��	���

������� �� ��� �	� �����$ ���� ,>*
3# -�4 ?�� �	����	�� ��� ���� ��������� �� � �������	�

	��	���� �	 ��� ������	��� ��� �	����� �	������ &���� ��� ���� �	������ �� ��� �����������

��� ��$�����$ �� ��� &��� �������� ������� � ������ 	� ���� &		�� 	� /� + 0�/9 �� ���

�������	� 	� ��� ������	��� ��� � ���	� �������� �� �&	�� 4�9 ��# ���� ���� ��� ����$ ��������

	� ��� � ���	�� ��� 	� ������� �&	�� 120 ����	�� �����# ���� ������ ��� ���	����	� 	� ���

������ �������� ��� �������� � ����$ ����� ��$ ���� &� ���������� ��� ���� �	 �������

��� ���� ���������� 	� ��� ����$ ������

��� ���������	� ����	�# ����� ��� ��	 &���� ��� �	������ ���� ���� ��� 
� ��� 
�

���� ���� 	� �	�����	��# �� �����G�� ����� �� ����$ 	� %������	�� ������� ������ ���� ���

���������	� �	��� ,7;3� ����� �� �� 	'��� 	� 10 ���� &������ ��� �	�����	� ���� ��� ��� � ����

	� ��� ����� ������	� �� ��� �	��G	���� ����� �	 ������G� ��� ������&���	� 	� ��� &����

&$ ��� �	���	���� A���� ��� ��	 &���� ��� ���� ��������� ����� ��� �	�����	� ������ 91 ��

	� ��� 7; &$ ���	�� ������� C4# �	����� 14 �� ���$ ��	� ������ ���� 	� ��� 7;# �	 ��	��

�����	�� �	�����	�� &������ 	�� 	� ����� &�������

��� �����$ 	� ��� ��	 �������� &���� �� ���������� ��	� ��� �	��� �������� &������

�������� ��� ��� ������� �������	� 	� ��� ������������ ���%����$ ��	� ��� ������� ������

��� �$�������� ���	� 	� ��� ;*; 77 ���������	� 	� ��� �&�	���� &��� �������� �� ���������



������� �� ��� ����� � ����!��� -/

  N
ov 1

  Jan 1
1999

  M
ar 1

  M
ay 1

  Jul 1
  Sep 1
  N

ov 1
  Jan 1

2000

  M
ar 1

  M
ay 1

  Jul 1
  Sep 1
  N

ov 1
  Jan 1

2001

  M
ar 1

  M
ay 1

  Jul 1
  Sep 1
  N

ov 1
  Jan 1

2002

  M
ar 1

  M
ay 1

  Jul 1
  Sep 1
  N

ov 1
  Jan 1

2003

  M
ar 1

  M
ay 1

  Jul 1
  Sep 1
  N

ov 1

2004

  0

 20

 40

 60

 80

100

120

140

160

180

200

220

240

In
te

gr
at

ed
 L

um
in

os
ity

 (
fb

-1
)

BA BA R

PEP-II Delivered  253.55/fb
BABAR Recorded  244.06/fb

BABAR off-peak  22.68/fb

!����� -�-
 7��������� �����	���$ ��������� &$ ��� ;*; 77 �	������ ��� ���	���� &$ ���
����� ������	�� @	�� ���� ���� ����$��� �� &���� 	� 
�� 4 ��� 
�� 1 ���� ������ ����	��
,&��	�� @	���&�� 10013# ����� �	������ �&	�� "" �����	� �� ������

�	 &� / 40 ���# ����� ��� �������� �����$ ������� �	� ���� &���� �� �������� ��� ���&�� �	

�&	�� 4 ���� �	�� 	� ��� ���� �� ���	���� �� ��� A ,8B3 �����$� 7� 	���� �	 �������� ���

������$��� �	�������� ������ �� ��&�� -�4# �&	�� 40U 	� ��� ���� �� �	������� ���� � ������

	� ���� �����$ 80 ��� &��	� ��� A ,8B3 ���	������

��� ����������	�� �����	���$ �� �������� 	����� &$ ;*; 77 ����� ��������� C��&��

����������# ������� ��� �&�	���� �����	���$ �� ������� 	X��� ��	� 	���� )*� ��	������� ���

�$�������� ����������$ 	� ��� �&�	���� ����� 	� ��� �����	���$ �� ��������� �	 &� �&	�� 4�4U#

�� ��������� �� �����	� 2�4-� ;*; 77 ������� ��� �������� ���� �����	���$ 	� -�40���������

�� ��� A��� $��� 	� ������� ��� �� ���� 1008# �� ����������	�� �����	���$ � 40��������� ���

��������� !����� -�- ��	�� ��� �����	���$ ��������� &$ ��� ;*; 77 �	������ ��� ���	����

&$ ��� ����� ������	� ����� ��� &�������� 	� 	������	� �� @	���&�� 4...� ��� ���� ��

������	 
�
�� �
�� ���� � 	 ,2
.�
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������� �� �	�� ����# �	�����	����� �	 ���� ����� &������ �������� �����	�� ����	��� �	

���# �&	�� 1/0 �&�� 	� ���� ��� &��� ���	���� &$ ��� ����� ������	�# ����� �	�����	���

�	 � 1-0 �����	� �� ������ @	�� ���� ��� ����$��� ��������� �� ���� ����������	� �� &����

	� 
�� 4 ��� 
�� 1 ���� ������ ����	�� ,&��	�� @	���&�� 10013�

�	� ��� �����
�+ ������

��� ����� �������� �$���� �	������ 	� ��	 ��&������	��
 ��� �����	� ������ ������� ���

��� ����� ����&��� ��� ���� ����	�� 	� ���� �$���� �� ��� �������	� 	� ������� ���������

��� ��� ����������� 	� ����� �	������ ��� ������ ���� ���� �������	� �	� ��� ����������

�	������ ����� 90 ���!� : 6� : 8?��!�� : ������	�������� �	���	��# �	����� &������

��� *�� ��� ��� 7!
# ��	����� ��� ��������$ �������� A��� 	� 4�/ ������ ��� ��( ��	�����

�	�� 	� ��� �	������ ������������# &�� ��� ��� �� ��� �	�� �������� ������ �	� ���$ �	� 6�

������� ���������� !������� ���	�����	� �������� &$ ��� �������� �$���� �� ���	 ���	����� �	�

����� ������	����	�� �	 ��� �7
�# *�� ��� 7!
� �	�� �������� ��� ��� ����� ������������

�� ��� �7
�# &������ ��� ������������� �� ��� ������� �������� ����� ���������� ��� �	

��� ����������$ �� ��� ����������� 	� ��� <������	� ������ ����# ��� ���	����	� ��	� ���

�	�&���� ��� ��� ��( ������������ ��	��� &� 	� ��� 	���� 	� 4 ����# ���� ������� ����

��� ������� �7
� <������	� ����� ������������

����� ��� ������� ��
��� �
��"�


��� �����	� ������ ������� �� �������� �	 ��	���� ��� ���	��������	� 	� ������� ��������

���B���	���� ��� ����$ �������� ���� ��� ���������	� �	���� �� ��	����	� ������� ��%���� �

������� ���	��������	� 	� ���� � ���	� ����$ ������ ��	�� ��� � ���� ���� � ���	����	� 	�

&����� ���� "0 ����	��� ��� ���������� ���	 ������ 	� ��������� �	 ������������ &������

&����$# �����# ��� ����� %���� ��������� C������ 	� ��� �������� 	� ��� 4�/ ����� �	���	����

�������� A���# ��� ��� ���� ��	���� ����� ��	�� �������� �	� ��������� ���� � ����������

�	������ ���� ���� 410 ���!�# ��� ������� ���� ��� &� �������� �� ��� ��( ��	��� �	

���	������ ���� ��%��������# ��� ���&�� 	� ������ �	���� 	� � ������ ������� �������� ����
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Beam Pipe 27.8mm radius

Layer 5a

Layer 5b

Layer 4b

Layer 4a

Layer 3

Layer 2

Layer 1

!����� -�8
 ��	�� �����	� 	� ��� ��� �� � ����� ������������� �	 ��� &��� ���� ,��� �����3�
��� A��� ��$�� ������ �� -�- ��# ��� ��� ������� A��� ��$�� ������ �� 48�8 �� K88L�

&� ������� ���� ������ ���� ������� �� �������� �� 	���� �	 ����$ �	������� ��� ����$ ��	�����

	� ��� � ���	��� C�$	�� ��� �������	�� �������� ����&����$# ��� ��� ���� ��	���� ���

&��� ����������� 	� ����� ������# ����� �� �������� �	 ������� ��� ������ ���	����	� �	� ���

<������	� ����� �	� ���� �	������ �������

C������ 	� ��� ��	�����$ �	 ��� &��� ����# ��� ��� ��� &��� �������� �	 ���������

���� ������ 	� �������	�
 �� ����������� �	�� 	� �&	�� 1 �
�� 	� �	��G��� �������	�� ���

�������� �������	� �	�� �� 4 
��E��$ �� ��� �	��G	���� ����� ����������$ 	������ ��� &���

����# ��� 0�4 
��E��$ 	� ������� 	��������� : �������	� �	���	���� �$���� ����&�� 	�

�&	����� ��� &���� ������� ���� ��� ������ �� �	� ���	��� �	 �������	� &�$	�� ��� ��������

�	�������� ����� ��� ��� �� ���������&�� ������ �	���� ������	� 	������	��# �����&����$ ���

�	&������� ��� ����������

����� ���������� ���� ��� �	 ��� ������ 	� ��� �����	� ������ �������� ��� ���#

�	����� ������ ��� ����	�� ��&� 	� ��� &��� �������# �	���� ��� �	��� ����� ����	� &������

10�4Æ ��� 4/0�1Æ ��	� ��� &��� ����# ��� ����	� �� ������� �	��� ������ &���� 	������� &$

��� C4 ��������� ���	�� ������� �� ��	�� �� A���� -�4� !����� -�8 ������$� ��� ��$	��

	� ��� ��� �� ��� ��� ������ 7� �	������ 	� A�� �	�������� �$��������� ��$��� 	� �	�&�� 
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!����� -�/
 >	���������� ���� 	� ��� ����� ���� 	� ��� ���� ��� 	���� ��$��� ���� ��
������ ��������� �	 ������G� ��� ��	��� 	� �����	� ������ �	� ��� �	��� ����� �	������ ���
�	 ������ ����� ��������� ������ K88L�

����� �����	� ����� ����	�� ���� ����� &������ -1 �� �	� ��� ������	�� ��� 488 �� �	� ���

	�����	�� ��$��� ��� �����	� ����� ����	�� ��� �	�&�� ����� �	 ������ ��� ��	��� 	� ��������

��� ��������� ���� �	 �	 ���	���# ��� ����� ������G� �����$ �	�� ��� �������� ����������

��	&�&����$ �	������ �	 ������ ����� ������	���

:� ��	�� �� A���� -�8# ���� ��$�� �� ������� �� �G����� ���	 �	�����# ����� ���

�������� �� � ��$ ���� ���� �����&	����� 	��� 	������ ���� 	����# �������� � ���� �G�������

�	������� ��� ����� ����� ��$��� �	������ ��� &����� ������ ������	� �	����� ��� ���

�������� �� ��	������ ������ ���	�����	�� ��� 	���� ��	 ��$��� �	����� 	� 49 ��� 4" �	�����#

�����������$# ��� �	��	� �� ������ ��������� �	 ������G� ��� ��	��� 	� �����	� ������ �	� ���

�	��� ����� �	������ ��� �	 ������ ����� ��������� ������� ���$ ��	���� �������� ���	�����	�

��� ������� ���	�����	� ����� ��� &� ���� �� �	�B	����	� ���� 	���� ��&������	�� 	� ��

����� ��	�� �	���

��� ��� A�� ��$��� �	����� -80 �����	� ����� ������	��# ��� �%�������� 	� � �	���

�����	� ���� 	� 0�.8 ��# ��� �	��� 4/0#000 ����	�� ��������� ��� ����� ����� 	� ��� ������	��

���� ������ 	������� ������������� �	 ��� &��� �������	� �	 ������� ��� � �		�������#

������� ��� 	���� �����# ���� �	���������� ������# ���	� ��� D �		������� ������������ ���

����	�� ����� �� D ������ &������ /0 400 ����	��# ��� &������ 400 140 ����	�� �� � �	�
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��	����	� �� ��� ���������� �� ��� �� �	� ������ �� � ������	� 	� ��� ����������
�	������ ,����3# ��� ���	� ������&���	� �	� ��� ����������� 	� ��� ��������	� &������ ��	
� ���	� ����$ �������� K8/L�

��� �����E	���� �	�� ��$��# �����������$� ����� ��������������� ���� �	 �� ��������� 	�� �	���

���	����	� 	� �&	�� 40 ����	�� �� D ��� 41 1/ ����	�� �� ��

��� ��� �Æ�����$ ��$ &� ���������� &$ �	������� ��� ���&�� 	� ���	������ ����

�	 ��� ���&�� 	� ������ ��	����� ��� ������ ����� ��� �	�&���� �������� ��� �	������

�Æ�����$ �� � ������	� 	� ��� ����� �������� ����� ��� �	� ���� 	� ��� A�� ��$�� �� �&	��

.2U# &�$	�� ��� ������ �	��� K8/L� ������ ��� ���	����	�� ��� �� ��������� ��������� ����

�	��� ����	 ��������	��� !����� -�9 ������$� ��� ���	����	� 	� ��� ���	��������� �����

��������� �� ��� ��# ����� ��������� ��� ��������� &������ ��� �	��� 	� ��	���� ����	���

�	 ��� � ���� ��� ��� 	����� 	� ��� & C ����� ��� ��	�� ��� � ����# �����������$� :��	 ��	��

�� ��� ���	� ������&���	� �	� ��� ����������� 	� ��� ��������	� &������ ��	 � ���	� ����$

���������

����� ��� �
��� ���
(�


��� ���	��������	� 	� ������� ��������� ���� ���������� �	����� ������� ���� 410���!�

�� ��� ���� ���� 	� ��� ����� ����&��� ��� ��(# ������$�� 	� A���� -�2# �� � 1"0 ��

�	�� �$������ ���� �� ����� ������ 	� 19�9 �� ��� �� 	���� ������ 	� "0�. ��� ��� �	
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!����� -�2
 >	���������� ��	�� �����	� 	� ��� ��( K88L�

��� ��$������� &��� �������� ��	�� ��� � ����# ��� ������ �� 	'��� &$ -2 �� ��	� ���

���������	� �	���# ������� �	 �� ��$������ �	��� ����� �	������ 	� 42Æ : � : 4/0Æ� ���

����&�� 	������� ���� � �	� ������$ ��� ������� 	� ������ ,"0U3 ��� ��	&����� ,10U3 �	

������ �������� �����������

��� ����� ����� �	����� 	� �	�� ������ �������� ������� ����� ���� � �������� 	� 10

����	��� *��� 	� ����� �� ����	����� &$ ��� "0 410 �� A��� ����� ���� 	� �������� ������

�� � �����	��� ��������� ������ ��� ����� ����� : ��������� ��$	�� 	� ��� ������	�� �����

����� �� ��	�� �� A���� -�"� ��� ����� ����&�� �	������ 2408 ����� �������� �� 80 �$���������

��$���# ���� �	�� ��$��� &���� ��	���� ���	 	�� �������$��� 7� 	���� �	 ���	������� ��� -

�������	��� ���B���	�$ 	� � ��������# ��� ����	�� �������$��� ���� ����� ���� ��'����� �����	

������
 ����� ,:3# �	������ ,F3 ��� �������� ,�3 �����	 ������� ��� ����������� 	� ���

��� �������$��� �	��	�� ��� ������� :F�:F�:F�:# ���� �����	 ������ ���������� �������$

��	� �8/ ���� �	 �29 ����� ��� ����� ��� �������� �	 ��	���� �� ������� ��������� �������

���	����	� 	� �&	�� 80 ����	���

��� A��� ����� ��� ��	����� ����� ��� ����� ����� ���� �������� �	 	������ ��

4.90 �� F��	��������$# �� �������� �������� ������ ��� �	������	���� ����� ����� �� 

%����� �	 �	��� ��� �	����� �	 4.00 � 	�� 	� �	����� �	� � ����� ����	� 	� ��� ����&�� ����

��� �������� :���� ������� ������ ���� � �	����� 	� 4.-0 � ��� �������&�� ��� ��� �����
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 ��������� ��$	�� 	� ����� ����� �	� ��� �	�� ������	�� �������$��� K88L� >����
���� &��� ����� &������ A��� ����� �	 ��� �� �������G���	� 	� ��� ���� &	��������� 5� ���
���� ��� ��	�� ��	 ���� 	� ����� ���� ��	���	���# ����# �	���	��� 	� �%��� ����� ����� 	� �	� ��
����� 	� ��$��� - ��� 8� ��� ��	���	��� ��� ������ &$ 400 ���

����&�� ��� &��� 	�������� �� ���� �	��� ����� ����� M�����$ 1004� ������$�� 	� A���� -�"

�� � ������� 	� ��	 ���� 	� ����� ���� ��	���	��� �	� ����� �� ��$��� - ��� 8� ��� ��	���	��� ���

�������� ���� ��� ����� �����# &�� ������� ������$ ��	� ������� ���� ��� A��� ������ 7	�� 	��� 

������� �� ��� ��� &������ �������$��� ��� �	������� &$ ����� �� ��� ���� ��$��� ����� � ����$

	� ������� ����	���	���� ����� ������� �	�� �	 �	� �'��� ��� ����� ����� ������������# &��

���$ �	����&��� �	 ��� �*E�� ������������

��� ����� ����&�� ����������� 	� ��� �����$ �	�� ��� ���� �������� �� ����	����

��	� ��� ������ �	������� ������ ���� ����# ��� �� �� ���	����� ���	�����	� �	� ��������

������A����	� �� ��	�� �� A���� -�.� ��� ������ �	������� ��� ������ ���� �� �������� ��

���� 	� ��� ������� ��������	� ���	������ ��� ��������� ���� 	� ��� �����A� �����$ �	�� 	�

� ����� �� �	������ ��	� ��� �	���� "0U 	� ��� ���������� ,���3 ������������� �	������	��

���� �	 &� ������� �	�


43 ������� �� ��� �������� ���E	� ������������ ���� ������� ��� �'��� �*E�� &$ ��
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!����� -�.
 ;������� ������A����	� ��� �*E�� ������������ �� ��� ����� ����&�� K88L�

���� �� �.U� ����� ������� ��� �	������� &$ � ������ 	������ �������������� �	������

,�������� �	 �� ��� ��	&�� ��� ����3 	�����R

13 ��'������� �� ���� ��	����$ ��� ������ �	������	�� ����� ���� �	 �"U �������	� ���

��� �	������� &$ � ��� 	� �������������� �	������� �	� ���� ����R

-3 ������ ��������	�� ��� &���� �� 	� ������� ������ ��� ����� ���� ����� ��������� ���

���� �	 �44U �������	� �� �*E��� 7� �� �	������� &$ � ���	�� 	���� �	�$�	���� �� ���

��� �����# )R

83 @	� ����������� �� ����� ��� ������� �	������	�� 	� �&	�� �1�/U ��� �	�� ����� �

����� 	���� ���&$���� �	�$�	���� �� � ������	� 	� )R

/3 @	� ����������� ���� ������� �	 ��� �������� ����� ,D3 ��� ��� �������� 	� ��	���� �� 

��	��� ,�5�:3� 7� ����# ������������ ���� ��	�� � �	�������	� &������ ��� �������	��

�� �*E�� ��� D ��� �5�:�

�	������	� �	� ,43 �� �	������ 	����� ������� ,1 /3 ���� &� ������� 	X���� ���

���� ���� 	� �����$ �	�� 	� ��������� ,�*E��3 ���������� ���	��� ��� ��( �� ����� &$ ���



������� �� ��� ����� � ����!��� 8-

C���� C�	�� �%����	�� 7� �����# �� �� ����������G�� ��

�*

��
+
��
/(�

,�� � /(� � �	�,�� O ,/�3(�33� ,-�43

����� /� �� �������� �� 6!8# ��� ���� ��� ��� ��� ��� ��� ���� ����������R ���� ������	� ��

��������� ��� �� ���� �	� ��� ���������� 7� 	���� �	 ����������G� �*E��# ��� ���� �*E�� ��

�	������ �� &��� 	� /� �	� ��'����� �������� �������
 ��	�	�# ��	�# ��	� ��� ������	��� ���

���	����	� ��$ ���� &� �	������ ��	� ��� ��'������ &������ ��� �������� ��� ����������

�*E�� ��� ������ �� �&	�� 2�-U �	� ������	��# �� ��������� ���� ��� ������ ������� �������

�	�������� ��� �*E�� ����&����	� ��$ &� �	��� �� K89L�

6��� 	�������� �� ��� ������ �����	���$# ��� ;*; 77 &��� ��	����� ���� �� 8�1 ��

���� ���� �� �� ���	���&�� �	 ����# �� ���� ����# ����� ����� �� ��� ������	� ��	�� ��	� �����

&��� ��	������ 7��	�����	� ��	� ��� ��( �� ������	�� ���� �	 ��������� ����� F���� �����

�������� �	��� ������������$ �� ���� �������$��# �� �� �	���&�� �	 ������ ��� D�0 �	 ���

���� 	� ��� ���������	� ��	������ ��� ��������� ��� ���� 	� =���� 	� ��� �������� ���� &�

���	����� �	� �� ���� ��	������� ��� ��������� ���	����	� 	� ��� �	�����	� ���� �� 	� ���

	���� 	� � 4 �� �	� � �$����� ������

5������# ��� ��( ����� ��� ������ ���������	��� 7� �	����&���� ��������$ �	 ���

����������� 	� ��� ���������� �	������ ���� � ���	����	� 	�

1)�
6�

+ ,0�4- � 0�043U � 6� O ,0�8/ � 0�0-3U�

����� ��� �	������ �� �������� �� ����� 	� ?��!��

�	� ��� ,)������! �
+�� ��������

��� ������	� 	� ���������$ ��=����� <������	� ����� �� �������� �	 ������� ����	��� ��������

������A����	�# �� ���������� ��	�E��	� ��������	� �� �	 8 ?��!�� 7� �� &���� 	� ��� ���������

���� ������� ��������� ���������� � ������ ������� �� ����� ���	���$ �� ������� ���� ��� �	���

����� ���	���$ 	� ������ ��� ����� �� ������� �� � ������� <������	� �����# �	� �
 + 4!=/#

����� ������� 	� ��� ����� 	� ��������	� = 	� ��� ������ ��� ��� ���	���$ 	� ��� ��������
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Mirror

4.9 m

4 x 1.225m Bars
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!����� -�40
 ��������� 	� ��� �7
� ������$��� � ����� ������ &�� ,���$3# �����	' &	� ,�����3
��� ������� ����	� ,������ ����3 K88L�

/ + E!�� ��� ����������� 	� �
 ��� ���� &� ���� �� �	�B�����	� ���� �������� ���	�����	�

�	 �������$ ����������

��� �7
� �������� � ��� �$�� 	� ���� ������� <������	� ������	� &���� 	� �	���

�������� ��=����	�� !����� -�40 ����������� ��� ��������� 	� ����� ��	�����	�# ������	�����	�

��� �������	�� ��� ������	� �� �	����� &������ ��� ����� ����&�� ��� ��� ������	��������

���	�������# ��� ������� 42" �� �	����� ��	� ��� ���������	� �	���� 7� �	������ 	� 488 ����

����� ������ ,%����G3 &��� �������� �� � 41 ����� �	�$�	� &����� 	� "8 �� ������� *��� &��

��� �������	� 4�29 �� � -�/ �� � 4�11/ �# ��� ��� � ���������� ����� 	� �&	�� 4�82� ���

&��� ��� ����� ��� �	 ��� �� ��	��� 	� - � 8 ��� ��� �	���� �� &�� &	��� ����	����� &$

����	��� 	� ���������� ����� 	� � 4� :� �	���� ���������# ���� �	�����	��� �	 4.U 	� �

�������	� ������� ��� �	 ���� &������ ��� &	���# ��� �G������� �	������ �� .-U# ��� �&	��

"2U 	� ��� �	��� �	��� ����� �� ��� ������ 	� ���� ����� �� �	������

����� ��� ���������� ����� 	� ��� &��� �� ������ ����
�

1# � ������	� 	� ��� <������	�



������� �� ��� ����� � ����!��� 8/

����� ������� &$ ������� ��������� ���������� ��� ������	� ��	������� ��� �	��� �������� �� 

=����	� ��	�� ��� &��# ���������� 	� ��� ��������� ����� 	� ��� ������� 5��$ ��� ���� ��� 	�

��� ������	� �� ������������# �	 � ����	� 	� .1U ��=�������$ �� �	����� �� ��� ��	�� ��� 	�

��� &��� (����# ��� ����� ��������� ���	��� ��� ������	� ����	� ����� ��� &��� ����� ��� ����

��� 	� ��� ������	� �� ������� ����� �������� �������� ��=����	��� ;�	�	�� �������� ��� &���

�� ����� ������ �� ��� ������ �������	� ��� �����$ ���	����� ���	 ��� ������������ ���� &$ �

����� �� ��� ����	�� ���� ��� ����� ���	 ������� ��� ��%����� ���� �	� ��	�	� �������	�

&$ � ����	� 	� ��	�

��� ��	�	�� ���������$ ���� ��� ����� �� ��� ���� ��� 	� ��� &��� ���	 �� �������	�

����	� A���� ���� 9#000 ������ 	� ����A�� �����
 ��� �����	' &	�� :� ��� &�������� 	� ���

�����	' &	�# ��� ��	�	�� ��� �������� &$ � ��	�� ������ ����$ 	� 40#/21 ��	�	����������

��&�� ,;���3 	� ����	�������$ 1/U �������	� �Æ�����$ �� 800 ��# �	������ �	 ��� ���� 	�

� �	�����	����� &�� &	�� *��� ;�� ��� � �������� 	� 1�"1 �� ��� �� 	������� �������$ ��

�����# ���� �� ������� �������� 	� 4�1 � �	 ��� ��� 	� ��� ����� ������ &���� *����� �	� �

���&�� 	� �������� ��&��������# ��� ��������� 	� ��� <������	� ����� �� ��������� ������

���� ��	����� �	 ���	��� ����� ��&��������# ������������ 	� ��� ��	�	� ������� ���� ���

������� ���	�����	� ���	������ ��� �����

��� �7
� �� ��������$ ������� &$ ����� ���	��������	�� @�����������# �� �������� �

������ ��	�	� ���	����	� 	� �&	�� 40�1 ����� ��� ���	����	� 	� � ����� ������ �� 1�!
�
?� #

����� 1� �� ��� ���	����	� 	� � ������ ��	�	�# ��� ?� �� ��� ���&�� 	� �������� ��	�	��#

�&	�� -0 �	� ������ �������� ��� ������	� �� �	���� ���������� �� ��	� ������� $���� ��

������� ����� ���	����	� 	� �&	�� 1�/ ����# ����� �	�����	��� �	 � 8�11 ��������	� &������

��	�� ��� ��	�� �� - ?��!��

�	� ��� ���������+���
� �����
�����

��� ������	�������� ���	������� �� �������� �	 ������� ������	�������� ��	���� 	��� � ����

�����$ �����# ��	� 10 ��� �	 . ?��� 7� �� ��� ��������� ������ �	� ������	�E��	� ��������	�#
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;�������� ������


������	� ������ 4�"/ ��
�	��Y��� ������ -�" ��
������$ 8�/- �E���

>���� $���� /0#000 �!���
;��� ������	� ,)
��3 /9/ ��

��������� ����� �� )
�� 4�"0

��&�� -�1
 ;�	������� 	� ��7,��3�

��	�	� ��� ������� ��	� ���	��������	�� ��� ���	������� �	������ 	� 9/"0 �������� �	���

������� �	���� ,��7,��33 ��$����� ����� ������� � ����� �	��Y��� ������ ,0* + -�" ��3 ��� �

��	�� �������	� ������ ,4�"/ ��3 �	� ������� ������� ������������ ��� ����� ����$ �	�����

��	���� ���� � ���������$ �	����� ������� !�������	��# ��� ���� ����� $���� 	� ��7,��3 ���

��� ������	� �������� ������ �Æ����� ��� 	� �����	� ��	�	��	��� ����� 	������ ���� �� ����

�������� A����� ��&�� -�1 �������G�� �	�� 	� ��� ��$����� ��	������� 	� ��� �������� ����

�	� ��� ��$������

:� ��	�� 	� A���� -�44# ��� *�� ��$����� ��� �������� �� � �$��������� &����� �����	�

,19�.Æ : � : 480�"Æ3 ��� � �	����� �	��� ������ ,4/�"Æ : � : 19�.Æ3� >	����� ������ ���

������ ��$	����# ��� &����� ��� �� ����� ������ 	� .4 �� ��� �� 	���� ������ 	� 4-9 ���

7� �	������ 	� 8" �	��� ����� �	��# ���� ������ 410 ��������� ��$����� �� �G������� ������

��� ����������� �� ��'����� �� ��� ������# ����� "10 ��$����� ��� ������� ���	 " �	���

����� �	�� ���� � ����������	� �� D ���$��� &������ "0 ��� 410 ��$������ �	 ���	��� �	�

��� &		��# ����� ����� �	 ������ �������� �� ����� �	��� ������# ��� ��$���� ������� ��������

��	� 1.�29 �� ,4/�4 ��3 �� ��� &������� �������	� �	 -1�// �� ,42�9 ��3 �� ��� �������

��� �$����� ���� 	� ��� ��	�� ���� �� 8�2 � 8�2 ���# ����� ��� &��� ���� ���� �� �$������$

9�4 � 9�0 ����

��� ��$����� ��� �	� 	��$ �� � �	��� �&�	����	� ������������� ������# &�� ���	 ��

� ����� ����� �	 �	����� ����� �� ��� ��	�	��	���� �������� �� A���� -�41 �� ��� �����&�$

	� � ��$����� �	����� �� ��� &��� 	� ��� ��$���� ��� ��	 �����	� ��	�	��	��� �	��������
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11271375
920

1555 2295

2359

1801

558

1979

22.7˚

26.8˚

15.8˚

Interaction Point 1-2001
8572A03

38.2˚

External
Support

!����� -�44
 >	���������� ��	�� �����	� 	� ��� *�� ��	���� ��� �������	�� 	� ��� ���	���� 
��� &����� ��� �	����� ������ K88L�

�����������	� ������ ��� ��$���� �� ����	����� &$ � ��=���	� ����� �	 ������� ��� �	�� 	�

��	�	�� ������� ��� ��	���� ;�������A��� ��� �	������� �	 ���� ��	��# ��� ��� ��	��

����	�� �$���� �� ����	��� ������ �������� �	����� �	 ��	���� ��������� ������� ��� 
!

�	���� :� ��� �	������ ������� 	� ��� ��$����# ��� ����� �� ���������$ ��=����� ��� 	��$ �

����� ������	� 	� �� �� ������������ ��� ������ �� ��������$ ���	����� &$ ��	 ��$��� 	� � ��'���

����� ��=���	� ,�$���3 ������� ��	��� ���� ��$����� ��� ��$���� ��� ���� &$ �	�����

���� 	� ���&	� A&�� �	��	��� ���� -00 ����	� ����� &������ ��� ���������� �	�����������

:���	������# ��� �������� �������� &������ ��� ��$����� ����� �	 ���� 	� �&	�� 4�1/ ��� �	

������G� ��� �	�� 	� ��	�	�� �������� ��� *�� �� ��	�� ����# ��� ��$���� ���� ������� �

�	� ��	B�������$ �� �� ��� ������� ����� $���� �� �&	�� 2-00 ��	�	 ������	��E����

����� ��� �����$ ���	����� &$ � �������� �� ��������� 	��� ���$ ��$�����# � ������� 

��� ���	����� �� �������� �������� ���� � ���� ��$���� ��	�� �����$ ����������� �������

� ������	�� 	� / ���# ��� �����&	���� ��$����� ���� �����$ ���	����	� �&	�� 4 ��� ���

���	������ �	 ��� ����� ���� ��	������ �� �������� ����������$ �	� ���� 	� ����� �����&	��#

������� �	 � ��� 	� ��B����� ��������# ����� ���������� ��� �����$ ���	����� &$ 	�� 	� �	��

���������� 7� ��� �����$ ������&���	� ������ ��� ������� ������$� �	�� ���� 	�� �	��� ��� 

����# �� �� ������� ���	 �� ���$ P&����Q# ���� ���� P&���Q ������� �	 ��������� ���
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 ��������� ���� 	� �� *�� ��$���� �����&�$ K88L�

�����$ ���	����� &$ � ������ ��������� �������� ���� 	�� �	��� ������� ��� ���	 �������� �	

�� � &����

��� ���	������� ��� �� �Æ�����$ 	� �&	�� .9U �	� ��������� ��	�	�� ���� �����$

�&	�� 10 ���# &�����	���� ��� ��� ��	��� 	� �������� &������ ��� 7; ��� ��� ���	���� 

��� &���� ��� ��B	� �������� ����	��� ��� *�� ������� ���	����	� �� ���������� &$ ���

���������� ��$���� ��G� ��� ��� �������� ��	� ��� ���������	� �	���� ��� ��	�	� ���	����	�

��� ������� ����� �� ����$�� :� ��	�� �� A���� -�4-# �� ������ &������ 41 ���� �	� �	�

�����$ ��	�	��# �	 - ���� �	� ���$ ������� ��	�	��� : A� �	 �� ��������� ������	� $�����

1+ + 1, +

�
-�"2 � 0�02�
�,?��3

� ,0�00 � 0�083

�
�����

����� � �� ��� �����$ 	� ��� ��	�	� �� ?���

��� *�� �����$ ���	����	� ��� 	&������ ����� � ����	������ �	���� $������� 1�!� +

,/�0 � 0�"3U �� 9�4- ���� !	� ���� ��������# ��� ���	����	� ��� ������� ����� C��&��

���������� ������# ����� ��� �����$ 	� ��� �������� ��	��� ��� &� ��������� ��	� ��� �	���

����� 	� ��� ������	��� !����� -�4- ��	�� ��� �����$ ���	����	� ��������� ��	� � ������$ 	�
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 *�����	�������� ���	������� ����	������� ��� ������� ,����3 ��� �����$ ,�����3
���	����	�� ��� ��	���� �� � ������	� 	� ��� �������� ��	�	� �����$ K88L�

��	������ �� � �����	� 	� �����$� : A� �	 ��� �����$ ���������� ������� ��

1-
�

+

�
1�-1 � 0�-0
�
�
�,?��3

� ,4�"/ � 0�413

�
U�

:� �	��� ��������# ��� ���	����	� �� �	������� &$ =�������	�� �� ��	�	� ���������� ��� &$

&��� ��������� &�����	����� :&	�� 4 ?��# ��� ���	����	� ������� �	���$ 	� ��� �	� 

����	����$ �� ����� �	������	� ��	� ������� 	� �&�	����	� �� ��� �������� &������ 	� �� ��	��

	� ��� ��$������ :���	��� ��� ���	����	� ���������� 	&������ ��� ������ ���� ��� ������

���������	��# ���$ ����� ���� ���� �	��� ����	 ��������	�� ����� ������� ��� �	����&���	��

��	� ������	��� �	��� ��� &��� &�����	���# �� ���� �� ��� ������ 	� ��� �������� ��� ���

�����$ ������	����

�	" ��� 
����������� -� ������

��� ������������ =�� ������ �� �������� �	 �������$ ��	�� ��� �	 ������ ������� ����	��

����� ��� ����� =�� ������ 	� ��� ������� ��� 7!
# �������� 	� A���� -�48# �	������ 	� �

&����� ��� ��	 ������� ���� 	� ��	�# ��� �	���� ��� �	��� ����� ����	� &������ 42Æ ���

4/2Æ� ��� ����� �� ��������� ���	 4" ������# ���������� �� ��������� ��	� 1 �� �� ��� �����



������� �� ��� ����� � ����!��� /0

!����� -�48
 ���� 	� ��� 7!
 &����� ��� ������ ������ K88L�

���� ������ �	 40 �� �	� ��� 	�����	�� ������� ���� ������� ��� �	������� &$ �	��� ����	

������� ����� ���	�������� ���� ���� �&�	�&�� ������ ����	�� ��	� ��� 
�
� �������	�

������ ��� A��� �&�	����	� ������ 	��$# ������	�� ���	���� ����� �&�	�&��� ��� ���� ����	��

��$��� �� ������ ���������� ��� �	��� ��������� 	� ��� ��	� ������ �� �	���� ��������� ��	���

�	 9/ �� ,90 ��3 �� ��� &����� ,�������3�

��� 7!
 �� ������������ ���� "09 ��������� ����� ����&��� ,
;��3 �	����� �� ���

������ &������ ��� ����� ������� ��� ��� &����� ��� ����� ������ �� -�/ �� �� ��� ����� ��$���

	� ��� &����� ��� -�1 �� ���������� ����� ��� 4. 
;� ��$��� �� ��� &�����# ��� 4" �� ���

�������� ��� &����� �	������ ��	 ������	��� ��$��� 	� �$��������� 
;�� �	����� &������ ���

*�� ��� ��� ������ ��$	���� �	 ������ ��������� ������� ��� *���

:���	��� ���$ ��'�� �� �������# ������ ��� �$��������� 
;�� ��� &���� 	� ��� ����

�	������ ���$ ��� ��� ����&��� ����	��� &������ &������� ,����	��� �	�$���3 ����� 1 �� 

����� ����	������ � 1 �� ��� A���� ���� � ��� ������� 	� /9�2U ���	�# -"�"U !��	� 4-8�

��� 8�/U ��	&������ : ��	�� �����	� 	� �� 
;� �� ��	�� ������������$ �� A���� -�4/�

��� �������� �������� 	� ��� &������� ��� �	���� ���� �������� �	 ������� � ���� �������

����������$# ������� ��� ����� �������� ��� ������� ���� ������� 	��� ��� ��	 �������� ��������
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!����� -�4/
 ��	�� �����	� 	� � 
;� ��	� ��� 7!
 K88L�

��� �	������� �	 � ���� �	����� 	� �&	�� " �� ��� �	 ��	���# ��� &	�� ��� ��	������ &$

�� ���������� �$��� A��� (����# �	��G��� ��������� ��	����� ��� ��� ��� ���� ��	���� �

���������� ���� �	��G���	� ������� � ����� ����� �� ������ �� &$ �������� ����� ������	���

������� �� ������������� �������	�� 	� ��� 	������ 	� ��� &�������� ��� &������� ��� ��	���

�	� ��� ��������� ��	������� ,40�� 40�� F ��3 ����� �	����G� ��� ����������

7!
 ��	� ������A����	� �� &���� 	� ��������� ��� ���&�� 	� ��������� ���������	�

������� �� ��� ������ ������	� ��� �	������� �� ���� ��� ���&�� 	� �������� ���������	�

������� �	� � ��	� 	� � ����� �	������� �	��	���# ��� ��	B����� ����������	�� 	� � �����

���� ��� 
;� ������ ��� �	������ ��� ���� &� ���	������ ������ � ������� ����������

�������� ��	� ��� ������	����� ���B���	�$ 	� � ���	��������� ������� ������ !�����$# ���

������� ���&�� 	� ������� ������ ��� ��$�� �� �������� �	 &� ������ �	� ��	�� ��	������

� ����	��� ��	��� ���� �	� ��	��� F���� ��� �&	�� 	&�������	��# ��� ��	� ������A����	�

�Æ�����$ ��� �������� ����� 
�
� � ����,�3 ������ ��� ��	 ��	�	� ��	�����	� 	� ����

�����# ��� �������� �� �� 	������ �Æ�����$ 	� �&	�� .0U �� 4...# 20U �� 1000# ��� 90U ��

1004�

��� �Æ�����$ ��	� �� ������ &$ � ����� ������	� 	� ��� 
;� �	����� ������ ��'����

���� ������������ ������ ��� ������ 	� 1000� 7� ����# ��� ������������ ���� �	�� �	� ����

� ����������� ��������	� �$���� ��� ��� ����������� ������ ��� ����� �	�� �	 �	�� ����

-2Æ�� :���	��� ��� ����� ��	&��� �� �	� �������		�# �� ����� ���� ���� ������������



������� �� ��� ����� � ����!��� /1

������� ��� 
;��
 ������ �� ��� &������� &��� ����������$# �		����� �������# ��� =	�# 	�

��� �	��	����	�� : ���&�� 	� ��	�	�$�� 
;�� �����	��� ������� �Æ�����$ ��	&���� �����

&���� 	������ �&	�� -9Æ� �	� � ����	� 	� ��	 ������ : ����� �		���� �$���� ��� ����� 	�

��� �����# ���&���G��� ��� ����������� &��	� 18Æ� ���	���	�� ��� 7!
# &�� ��� �Æ�����$ 	�

�	�� 	� ��� 
;�� �	������� �	 ������	���� ����� 	����� �������� ���&���

�	$ ��� ��
++�� ������

��� ������� �$���� �� ����	���&�� �	� ��������� ������ 	� �������� ����� ��B������ &�����	���

������# ��� ������� ��� ����� ���� �� � ����	��&�� �����# �&	�� 410 (G �� ������ �����	���$�

��� �	��� ������� �Æ�����$ �� ��%����� �	 ������ ..U �	� ��� �� ������ ��� �� ����� ./U

�	� �	������� ������� ��� ������� �� ����������� �� � ��	 ����� ��������$
 ����� 4 ,>43 ��

�������� �	��	��� &$ ����� - ,>-3 �� �	������� ��� ������� �$���� �� �������� �	 ���	� 

�	���� �� �	 ��� ����� ��� �������� ;*; 77 &�����	��� ����� �� ������ �����	���$ ��� �	

������� ��	��$ �&	�� ���� ������

��+�� .� �
����


��� ������	� �	 ���� 	�� ��� ��	�� ��� ���� ��	� ��� ������	� ��&�$����� �� ���� &$ ���

���� �	���	� ��� ������ �$���� ,!���3 &���� ��������$ 	� ���	�����	� ��	� ��� ����� 4

������� �$����� ��� >4 ������� ������	� �� &���� 	� ������� ������ �� ��� ��( �&	�� �

������ ���������� �	������# ��	���� �� ��� *��# ��� ������ �������� �� ��� 7!
� :�

����# ��� >4 �� &�	��� ���	 ����� ������� ��&�$������

��� ����� ���� �	 ��� ����� ����&�� ������� �	������ 	� 	�� &�� �	� ���� 	� ��� 2408

��( �����# ������� ����$ 19. ��� ����� &��� �	���$ ���� ���	�����	� ������� ��	� ��� �����

���� ������ �	� ���� ����� ����� �������� ��� �	���� ��	� �������� 	� ���� ����# ��� ����� D

�	����	�� ��� ����� ���� ��������� ��� ���� ���� �	 �����&�� ��� �������� ���	 ���� �������

��� ����� ����&�� ������� ���� ������ ��	�� ������ ������� ������ ���������� �	������

������	���� !	� ������ 	���������� ��	� ��� 7;# ��� �Æ�����$ �	� A����� ����� �������� ��

.2U� ��� ��( ������� �Æ�����$ �� �&	�� .0U �	� ������ ���� 6� � 4 ?��!��



������� �� ��� ����� � ����!��� /-

L3 Track z0 (cm)

N
o.

 o
f 

T
ra

ck
s

0

2000

4000

6000

8000

-80 -40 0 40 80

!����� -�49
 ������&���	� 	� �� �	� ������ ������$��� ��� >4 ������� �� ���	��������� &$
>- K88L�

!	� ������� ����	���# ��� *�� &����� �� ������� ���	 180 �	���� 	� " � - ,� � D3
��$�����# ������� ��� ������ �� ������� ���	 80 �	����# ���� �	����� � ����� �� D �	��������

4. 11 ��$������ !	� ���� �	���# ��� ��$���� �������� �&	�� � ������	�� 	� 10 ��� ��� ������

��� ���� �	 ��� ���	������� ������� ����$ 19. ��� ��� ������� ������A�� �����$ ���	���� ����

���� ��	 ��B����� �	���� ��� �	�&���� ���� ���� ��������$� ��� *�� ������� �Æ�����$

�� ..U �	� �������� 	� �����$ �&	�� 4"0 ���# ��	�� �	 ��� ������� �����$ ���	����	� 	� �

������� �	��G��� �������� �� �	���� ����������

��� 7!
 ������� �� ���� �	 �������$ ����$� �	 ��	 ���� ��� �	���� ��$� ��� ���� �	�

&� ��������� ���� ����� ����� ������ ��� �	���$ ���� �	� &�����	��� ��� �����	���$ ��������

��( ��� *�� ��&�������� ��� ��	����� ��� �����&��� ������ � A��� ������$ ����	� 	�

44 41 �� ����� ��� �	�����	�# ��� ��� ��������� �	 ��� !��� ����� ��� A��� ������	� �� �����

7� ��������$# !��� ���	�� ��� ��&�$����� �	 ���� ����� ���	�����	� �	 ��� ����� - ��������

���� ���� �	 �	�� ��� ������� ������	� ��� ��������� ���� ���� ����� �	� �Æ�����$ ��������

��� >4 �� �	�A����� �	 ���� �� 	����� ���� 	� �&	�� 1 �(G �� ������ �����	���$�

5�� 	� ���� �	��� ����# �&	�� 40U �� ��	����� ��	� C��&�� ��� ����������	� ��$���� ������#

������� �	���� ��$ ��� ����	� &��� ��	����� �������� �	����&��� �	 ��	���� 40U� ���
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��������� �������� ��� ��� �	 �	�� ��������� ����������� ���� ��� &��� ���� 	� 	���� �	� 

�	������ ��� �� ������&���	� 	� ��� �������� >4 ����� �� ���	��������� &$ >- �� ��	�� ��

A���� -�49 ��� ����������� �	� � ����� ������	� 	� ��� >4 ������ 	�������� ��	� &�����	�����

������ ��	����� ���� ��� 7; ,� + 03 �	�����	�� �	 ��$���� ������# ������� ��� �����

�������� ��	��� � + �10 �� �	�����	�� �	 � =���� B	��� 	� ��� &��� �����

��+�� .� �
����


��� ����� - ������� �� �� 	����� ���������	� ���� ���� ��������$ �� �� ����� A���� ��� �� �� 

��	���&�� �	� ������ � �	����� ������	� &���� 	� ��� 	����� 	� ��� >4 �������� �������� ���

>- ������� �� ����	���� �� ����� ������ ����� -1 F��� ��	����	�� 	�������� �� �������� �	���

7� ��� A��� �����# ������ ��� ������A�� ���	����� �	 ��� ��( ��� *�� ������� ���	�����	�

��	� ��� !���� 7� ��� ���	�� �����# ���	������ ��� ������� �	 ��� �	������ ����� ���� �	

��	���� � ������� ����� ���	��������	�� )��������� 	� �������� ��� ���� ���������# ��� A�����

��� ������� �	 ���� ������� ����� %��������� ������$ �����A� ��������� ��� ���� ����� �������

��� >- 	�����# ����� ������A�� ���� ����� �� ������ ��$���� 	� =��� ��� ������� �����	����

	� ������ ������ �	� �����	���$ �����������	�# �����	�����# ��� ����&����	� ����	����
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��� ����$��� ��������� �� ���� ����������	� �� &���� 	� ��� 1000 �	 1001 ����� ���� �	� 

����	��� �	 �� ���������� �����	���$ 	� "4�-" �&�� ���	���� �� ��� A ,8B3 ���	����� ,P	� 

����Q ����3 	� ""�-/ �����	� �� ������� :� ������	��� ���������� �����	���$ 	� .�/" �&��

��� ���	���� &��	� ��� A ,8B3 ���	����� ,P	' ����Q ����3� ���� ���	�� ��� ����$ 	� ���

������$��� �	������� ������# 
�
� � 55 # ����� 5 ��$ &� ��$ 	� ��� ������� ����	�� 	�

������� %����� �� �� �� 	� �� ��� &�����	�� 	� ��� ���������� �����	���$ �	� ���� $��� ��

������ �� ��&�� 8�4�

�	� /���� )���� �
�����
���

7� 	���� �	 ���������� ��� ����	������ 	� ��� ������	� ��� �������� &�����	����# �	���

����	 ��������	�� ��� ��	����� &$ ��� ����� �	���&	����	�# �$������$ �� � ����	 -
4 ����

������� �	 	� ���� ����� ��� ����	�� �	��� ����	 ������� ���� �� ���� �	�� ��� ���������

�� ��&�� 8�4� ��� ��	�����	� 	� ��� �	��� ����	 �� ����	���� �� ����� ������� !����# ��$� 

���� ��	������ ��� ��������� &$ �� ����� �������	� ��� �������� �	�� ����	�� ��� ���	�����

��� �������	� ��������� ��� ������ 	� �������� ���	��� �� ��� ;*; 77 &��� �	�����	�� �	

��������� ��� �����$ ������&�� �	 ��� ��������� ���������� ��� ��������� ��� ���� ��	�������
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��&�� 8�4
 7��������� �����	���$ ��� ���&�� 	� �� ������ �	� ���� ��� �	��� ����	
��������

���	��� � �	��� 	� ��� �������� 	� ��� ����� ������	�� 7��������	�� &������ ����� ���������

��� ��� �������� ��� ��������� ����� ��� ?*:@�8 ��������	� ������� K82L� ��� �����$#

������ ��� ������� ���	�����	� ��� ���� �	 ��������� �	����	�� ��� ������G�� �����$ ���	����

�� ��� ������	�# ��� ��� ���	�����	� �� ��	��� �� � ����&���� @	�� ���� ����� ?*:@�8 ��	 

����� �������� ���	������# ��� ����� �	���&	����	� �����	��� ��� �	������ �����A� �	 ���

��������	� 	� ��� ������	� ����	���� !�����$# ��� ���	�����	� ��	� ��� ����&��� �� ���������

��� ������G��# ���� �� �� ������	���� ���	 ��������� ������� ����� ����� ��	�� �	������� ��	�

��� ������	� ������	����� 
��� &�����	��� ������ ��� ��	��� �� ��� ����&��� ��� ��� �����

���� ��������� ������ �	 �	�� ��	���$ ����	���� ��� ����� >���� 4 ��� ����� - �������� ���

���� ������� �	 ��� ������ ��� ��� ������ �� �� ����� ����	�	�� �	 ���� ���� ���	���� &$

��� ����� ������	��

%���� ,�
������� �� ������ ������

��	 ��'����� � � ����� ������ �	��� ����	 ������� ��� ���� �� ���� ����$���� 7� ��� A���

������# �	� ���	���� � � ����� ������ ��� ��������� ���	����� �	 ��� ������ ��'��������

����$ ����� �V�	
� !�8 �����

� �	��� ��A��� �� �����	� 1�/�9# ���� ���� A��� ����� ����	��

��� ��	����� ���� � �	�����	�� ��������� ���� ��������� ��&��%���� ����	��G���	� 	� ���
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�� �$���� �� ������� &$ M*��*� K8"L� ���� �������	� ��� ��� ��������� ���� �� ���	��

������� 	� ��� ������ �� ��� ������	� 	� ������ ������ �� ����� ���������� ��� ������# &�� ��

����	� ��	���� ����	��� ������ ���� ���� &��	� 18�# ��� �	�� �	� ��	���� ��$ ���	����

��������� �� ��� ����	��� ���� ���������

: ���	���� ������ ������ �� ������	�� ���� �� �	�B�����	� �	 ��� �	� ���	���� ��� 

���� 7� ���� ����# ��������� ��������� ��������	��� ����$� ��� ��������� ����� ��� 7�?61

�	��� K1-L� ��� &�������� ������	�� �	� ��� ����	�� ���	���� ����$ �	��� ��� ������ �� �� 

&�� 8�1� ����� &�������� ������	�� ���� ��� �	 ��=��� ��� ������ �	��� ������� ������ K4"L ���

�	 ���	��� ��	���� �	��������	� ����� �������� ������	�� ��	���� ��� ����$� �	 �����	 ������

��� ����	� A��� ������# ��� ��%����� ���� ��� ��!�� &�������� ������	�� &� �� ��� ����

����	 �� ��� ��!�� ���������# �����$ 4�0"� ��� ���� ������� 	� ��� �� �������� ��	�����

&$ &	�� �������	�� ��� ������$�� �� A���� 8�4�

�� �	�� C! �40� �� �	�� C! �40�

�� � �� ��� 4-- � 11 �� � �� ��� 21 � 41
�� � , ��� "8 � -9

�� � +� ��� 19. � �
�   �� � +� ��� 48/ ���

� ��

�� � 7 ��� 48/ ���
� ��

�� � ,
 ��� "8 � "8

($&��� ��������� 1124 ($&��� ��������� 1-/2

�	��� 192- �	��� 1""2

��&�� 8�1
 C�������� ������	�� ���� �� ��� �$&��� �	��� �	� � � ��
�� ����$�� ��� �	���
&�������� ������	� ��������� �� ���� ��&�� ��� ���������� �� ����������$ ��������

@������ ��� �	� ���	���� �	� ��� ��������� �������	� ��	����� � ��������� ��������	�

	� � � ����� ����$�# ����� ��� �	���� ����� ���	����� ���	���� ��������� �� �	� ����

��� ��� ������ �� ���	������ ��� �	������ �	 �	� ���	���� ����$�� ������	��# ����� ��	

������� ��� ����� �	 ��	���� � �	�� ��������� ��������	�� ��� ��������� �	���# ����� ����

&� �������� �	 �� ��� �$&��� ������ ���	���	�� ���� ����������	�# �� �	��������� �� �	��	���

!����# ��� ����� ����� �� 8 # �� ��� �� �� ������� ���	 � "� "� " ����$� ��� ����������	�

	� ��� ����� ����� �� ��������� �� ��&�� 8�-� ��� �$&��� �	��� �� ���� � �	�&�����	� 	� ���
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!����� 8�4
 ���� ������� 	� ��� ����������� ��	� �� ����� ����$� ����� ��� �	� ���	����
,�	� �	�3 ��� ���	���� ,&	��	� �	�3 �������	���
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��������� �����&�� 4 1 - 8 / 9 2 "

8 ,?��!��3 0�0 4�8 4�9 4�" 1�0 1�/ -�0 -�/

�� ,?���!��3 0�0 1�/ /�0 2�/ 40�0 41�/ 4/�0 10�0

�� ,?��3 0�00 0�/0 4�00 4�1/ 4�/0 4�2/ 1�00 1�1/

��&�� 8�-
 ����������	� 	� ��� ������ � � ��
�� �$&��� ����� ����� �� 8 # �� ��� ���
��� ������ ��	�� �	�����	�� �	 ��� �	��� ���� 	� � ����� &��� 5������# ��� ����� ����� ��
������� ���	 " � " � " + /41 &����

��������� ��� ��������� �	����# ���� ���� �	� ���� &�� '

G� + 0� O H� ?�� ,8�43

����� G�# 0� ��� ?� ��������� ��� &�� �	����� ��	� �$&���# ���	���� ��� �	� ���	����

�������# �����������$� ��� �����������	� 	� ��� ������ H� �� ��������� &��	��

��� 	������ �	�����G���	� 	� ��� �	� ���	���� �	��	���� 	� ��� �$&��� �� A��� �� 

B����� �	 ���� ��� ��	��� �	��� � � ����� &�������� ������	� ,��� ��&�� 8�13� ��� ���	����

��� �	� ���	���� ������� ��� ���� ����� ���� ���� ��� ������	� 	� �$&��� ������ �	� � �����

&�� '# G�!
�
� G�# �� ��� ���� �� �	� ��� �	� ���	���� ������# ?�!

�
� ?� # ��������� �� �

������ H� �	� ���� &��� 7� ��� H� 	&������ ��	� ���� ��	������ �� �������� �� �� ���� ���

�	 H� + 0� !�����$# � ��	&�� �	�����G���	� ����	� �� ������� �	 ��� ������� �	 �������� ���

��	��� �	�����G���	�� ���� �� ��������$ �	 ���	��� �	� ������� �������� H� �	 G��	� 7� ���� 

����# ���� ����	� �� ����� ������ ���� 4�00 4�01� ��� ��������� ������&���	�� 	� ��� �$&���

�	��� ��� ��	�� ��� �	������ ���� ��	�� 	� ��� �	� ���	���� ������ �� A����� 8�1 �	 8�/�

:� ��������# ��� �$&��� �� ��� �� ������� ����� ���� ��� �	� ���	���� �	����

%����  !# ��
�
���
�

;������ ������������ 	� ��� ()* ���������� 9 ��� )� ��	� �	����� 	� ��� ������	�

�	������ ��� ����	��� ���� ������� �� � � �

�� ����$� K1/L ���� �������$ &��	��

������&��� F��	��������$# ����� ������ ����	� &� ���� �������$ �� ��� ���	������� �	��� ����

���	���	�� ��� �����	����� 	� ���� ����$��� K8.L� !	� ��� ����	�� 	� ���������� ������ �Æ 

��������# ��� �&	�� �	� ���	���� � � ����� �	��� 	� K-"L �� ���� ��� ��� ����� ������	�
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,()*3 ���������� ��� ��������� ��	� ��� ������������ 	� ��� A��� ��� ���	�� �����$

�	����� �� � � ��� ����� ���	�� � �	�������� 	� ��� ���������� 8� ��� <� ���� ��� 

��������� ���� A��� ����	���� &$ ��� �>*5 �	���&	����	� K/0L� ��� ��	 �������	��� 4 1

�	��	�� �������� �� ���� ����$ ��� &� ������&�� &$ � ��� 	� �������� �	���� ��	� ����� ���

�	��	���� �	���� ���� ��������


�8�� <� + �8�"8/� 1�//�� �8�8"� 0�/28�� �8�2"/� 4�4/�� �8�2"/� -�/.�� �8�2-/� 0�".9��

�8�9.� 0�9"�� �8�9.� 1�0/�� �8�/"� 0�//�� �8�/"� 4�4-�� �8�/-� 0�/9�

���� ��� ������� ����� �	����� �� �8�2-/� 4�9��� : �	�� ������ ����$ 	� � � ��� ��� &���

����	���� ��� $�����

�8�� <� + �8�9"� 1�"2�� �8�98� -�".�� �8�98� 4�8/�� �8�91� 1�12�� �8�90� 4�1-��

�8�90� -�10�� �8�/2� 1�88�� �8�/2� 1�8/�� �8�/-� 4�/-�

���� ��� ������� �	��� �	� �	����� �� �8�91� 1�12� K80L� !�	� � ������� �	������� ������

��� ����� �	���&	����	�# ��� ������ ��� 	� ���������� ��� �	�������� �	� ���� ����$��� K/4L�

%���� ,�
������� �� (��"�
�����

�	��� ����	 ������� ���� ���� �	 ��	���� &�����	��� ��������� �	� ���� ��� ����

������� ��� ���&�� 	� ������ ��������� ��� ��� �%�������� ���������� �����	���$ ��� ������

�� ��&�� 8�4� ����� &�����	���� ��$ &� ������A�� ���	 ��	 �����	����
 ����� ��� 	����

&�����	�����

����� &�����	���� ��� ��	����� �� ��������	��� � � �
��� ����$�# ��� ���� 	����

&� �������� �	 �� �� � ������� ��� 	���� &�����	���� �	����� 	� ������ ����� ��� �������

����	�� ��� ��	����� �� ���	����$ ����$� ,��������3# 	� �	�� �����$# ��� ������� ������ ����

���� &��� ���������A�� �� ����	�� ,�����3� ����� ������ ���� &� �������� �	 �� �	� � � �

�������

��� &�������� ������	� �	� ��������	��� � ����$� �	 	 ���	�� ���� ��������$ ��� �	

��� ������ ������ �� ��&�� 8�8� 7� � ���������� �� 	� �� &�������� ������	� ����������� ���

�!
� ������� ��		 �	 �"���		�� �� ����	 
� 3�4����
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����$ �$�� � ,��3 � ,��3

� � 	 � � 1�02 � 0�4/ 1�18�����
� ����

� � 	� � � /�20�����
� ���� 9�42����!

� ����

� � 	� � � 0�/1 � 0�4/ 0�/9 � 0�49
� � 	�

� � � 0�1- � 0�1- 0�-0 � 0�-0

� � 	�
� � � 0�8/�����

� ���� 0�8.�����
� ���!

� � 	

� � � 0�"-�����

� ���� 0�.0�����
� ��!�

� � 	 � � � 40�14 � 0�42 44�08 � 0�4"

��&�� 8�8
 C�������� ������	�� �	� ��������	��� � ����$� �	 	 ���	�� ��� ��������� ���� ��
��������� ���� ����$� 	� ��� �$�� � � 	 =,�3 � �� ����� &�������� ������	�� �	�����	��
�	 ��� ������ �	��� ������� ������ K4"L ��� ������� ���	���� �� K/1L ��� K/-L�

��������&��# ��� &�������� ������	� ��� ��� &���� 	� ��	���� �$�����$ ��� ��� ��������

��E�� �������� ����	� ��� �	��� � � �
��� ���� ��� A����$ 	&������ &$ ������ ����$� 	�

��� �$�� � � 	=,�3
�� &���� 	� ��� �	��� 	� ?	��$ ��� 
	&���� K/8L� ���� �	����&���	�

��	���� �	 0�84U �	� �� ��� 0�-"U �	� ��� ��� �&	�� &�������� ����	� ���� ���������$

��B����� �	 ����� ��� ���� �	�� ��	���$ �� ���� &� ��������� �� �����	� 9�1�
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���	� 	���� ���
�
 ����	���

J������

"	� ������
� ������+�

7� 	���� �	 ������� ��� ��������� � � ��
�� &�������� ������	�# ���� ��� �	��� ����	

$����� ��� ��������� �	� ��� �������� �	���	� 	� ��� � � ��
�� ����� ������ ��� ������

$���� �� �	������ �� ��� ���&�� 	� ���������� ������ ��� ������ ����	� �� ����# ?"���
#��" #

����� ��� ���&�� 	� &�����	��� ������ ��������� ��	� ��� �	��� ����	 ��������	�# ?$%&�

��� &�������� ������	� �� ���� �������� ��

��	
� +

?"���
#��" � ?$%&

2� ?�
� ,/�43

����� 2� �� ��� � � ����� �Æ�����$ ��������� ����� ��� ������ ��������	� ��� ?� �� ���

�	��� ���&�� 	� � ���	�� ������ ��� ���� ������� ������	��# �	 ������ ��� �&	�� ������� 

���� ����������$ �	 ������������� �� ��� �	������ 	� &�����	��� ����$�# �� �� ���������� �	

�������� &�����	����# �� ���������� � � �
��� ������# �� ���� �� �	���&���

7� ���� ����$���# ��������	��� � ����$� ��� A��� �������� ����� ��� �������� 	�������

�� �����	� /�1# ����� �	����� 	� �� ����� ����� �������	� ��� ��� �������� 	� � ���� �����$

������	�� ��� ������������	� ��	� ����� &�����	���� �� &���� 	� ��� �����������	� 	� ���

��������� ���� �%����� 	� ��� ������	� �������	 �$����� 7� �� 	&������ &$ �	�&����� ���

�������� ������	� �	������ ���� �� �������� 	� ��� �������	 �������� ��	� � �����������
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	� ��� ������� �	������ 	� ��� ������

(����# ��� �������� �������	� ������&�� �� �����	� /�- �� �������� �	 ��	���� �� ����� 

���� �	��� �����$ ��� �	������ ���	��������	� ����� ����������� ����	�� ����� ���� ���

�	��� ����	 ��������	�� �	 �	� ����� ����� ��� ���%���$ 	� ���� �������	� �� ���	��������

�� �����	� /�-�9 �� ����� 	� ��� ����	������� ���� �� ��� �������	 ���	��������	��

!������ �������� ��� ������� �	 ��� ������ �	 ��������� � ��	��� �������	 ���	������ 

��	� ��� �	 	�����G� ��� ������ �	 &�����	��� ����	� ��� ����� �������	� ���� ���	 ��A��

� ����	� 	� ��� ����� ����� ����� ��� ��������	� �	��	�� ��	���$ ��� ����� �����	� /�/ ����

������&� ��� 	�����G���	� ��	������ ��� ��� �������� ��	���� �	� ���� ����$����

����� ��� ��������	� 	� ��� &�����	��� �	����� �� ��� ������ ��������	� ������ 	� ���

��������	�# � � � 	�
�� �	���	� ������ �� ���� �	 ������ ���� ����������� ���� �	���	�

������ ��$ ���	 &� ���� �	 ��B��� ��� &�����	��� �	�����G���	� ��� �	 ����$ ��� �������	

���	��������	� �� ���� &� ��������� �� ������� 9�

5��� ��� ��������� &������ ���� ��� �	��� ����	 �� ���������	�$ �	� &	�� ���

������ ��� �	���	� �������# �$�������� ������������� 	� ��� ����������� 	� ��	
� ���� &�

��������� ,������� 23� @	�� ���� �� 	���� �	 ��	�� �	���&�� &�����# ���� ����$��� ��� 	��������$

����	���� &����
 ��� ����� �������	� ��� ��� ��������	� 	� ��� �$�������� ������������� ����

����	���� ����� �	��� ����	 ��������	� ��� 	' ���� ���� 	��$� ��� ��������	� 	� ���

������ $���� �� ���� ��� �	������	�� &������ ���� ��� ��� ��������	� ������ ��� ������

����	� ���� ����	���� 	��$ �� ��� A��� ����� 	� ��� ����$���� ;���������$ ������� &���� 	�

&������ ���� ��$ &� 	&������ �� K//L# &�� �	 &������� ��� &��� ������� �	 ��� ���� ��	��

�� ���� ����������	��

����� ��������
 ��(�
������

7� 	���� �	 ����$ ��� ��	������� 	� ������$��� �	������� ������# 
�
� � 55 ������ ����

���	 ���������� F��	��������$# ������� ���� ��	�� � ������ �		� ��������� ���� �	�������

����� �	 ���������� ���� ��	&���# ��� ���� ��������� �� ���� ����$��� �� ��	�� ����� ���

�	������� �	��	���� ��� &��� ���	���� ���� �� �	�� &$ ��&�������� ��	� ��� 	� ����
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������ ��� 	' ���� ���� ������ �	 	� ���� �����	���$ �	� ��$ %������$ &� ������� �� ����#

&"���� + &��� � I � &���
+ &��� � ���

���

�
���

�.�

��

&��� � ,/�13

����� ��� ��� ��� ��� ��� 	' ���� ��� 	� ���� ������ 	� ���� ��������# �����������$# ���

I � "�84� 7� 	���� �	 ������ ��� ����������� ������������� &�	���� �&	�� &$ ��&��������

��� ������ 	' ���� ����# ��� �������	� ������&�� �� �����	� /�/ �������� �������� �������� �	

�������� �	������� ������� !�������	��# ��� �	����� 	� ��������� ��	� 	' ���� ���� ���

������ �	 ���	��� �	� ��� ��'������ &������ 	' ���� ��� 	� ���� ������ 	� ���� ��������

���	����� �	

��#�'�" + �
���(��"
40�/" ?���

�

�6�#�'�" + �6
���(��"

�
��
�#�'�" �8�

��6
���(��"� ,/�-3

����� 8 �� ��� ���� �$�	������ �������� �	 ��� ��������� F����� �����A�� 	��������# ����

��	������ ���� &� ���� �	 	&���� ��� ������� ��������� ���	���	�� ���� ����������	��

"	� �!��� ���������
��

*����� ����� ��� ����$��� �� ���$ ������� ��� ��%��������� ������&�� �� ���� �����	�� *���

����� ���� ������$ ��� >- ������� ��� ��� &�����	��� A���� ��������
 ?���#%� � - ��� 0� :

0�."# ����� 0� �� ��� ����	 	� ��� ���	�� �	 A��� !	� 6	����� �	����� ��A��� �� K/9L� ���

������ �� � �	������ ����	� �	� �������������� �� ������ ��	� ����	� ���� &�����	����� 7�

� ���� ������ �����# ��� ������$ 
�
� ���� ��	����� � �� ���� ��� ��� A ,8B3 ���	������

7� ��� A ,8B3 ���� �����# ��� � ���	�� ���� �	� �	�����# ���� ���� ��� ����$ 	� ����

� ���	� �� �����$ ��	��	���� :� ����# ����� ��� �������&�� �	�������	�� &������ ��� ����$

��	����� �	���� ��	� ���� 	� ��� ��	 � ���	���

(	�����# �� ����� %���� ,�� �� �3 �	������� ������# ��� ����� ����� ��� � ��	 

�	����� ��	 B�� ���������# �	 ����� �� � ���	���$ ��������� �������	� ����������G��� ��� ��	��
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������ ����� ������ ������	�� ���� �	 ���� ���� ��	��	��� ����$ ������ �� ��� A ,8B3 ����

������ 7� � �� �����# ��� B�� ��������� �� ����� �������# &�� �� ���� ��	�	�����# ��� �����

����� �����&��� ��	���� ���� �������������� �	��� �	� ���� �$�� 	� &�����	����

����� ���� ����$��� �� &���� 	� ��������	��� ����$�# ��� ����� ���� ���	 �	����� ��

������A�� ������	� ���� �����$ ��
� � 4�8?�� �� ��� ������ 	� ���� ����� �	 &� ����������

C������ 	� ��� ������ ������������� ���	������ ���� ��	� ���	��������	�# 	��$ ��������	���

� ����$� �	 ������	�� ��� �	��������� 7� ������	�# ��� ����� ���� ������� � C��&�� ���	#

�����	��� �� K/2L# ���� ��%����� ��� ����� �	 ���� � �����������$ ������� ���� / 	&B����

? 

���#%� O? 


�!1 � /�

����� ? 

���#% �� ��� ���&�� 	� ������ �	� &���� ���� 	� ������A�� � � 
�
� �����# ��� ? 


�

�� ��� ��� 	� ��	�	�� ���� �����$ � "0 ��� ��� ������A�� � � 
�
� ������

"	� %���
��� ������
��

����� /���
�� ����������

7� 	���� �	 ���	������� ��# ���� ����$��� ������� 	� ��� �	��� ����� �	������ ��� �� 

���$ ������������� (����# � ���������� ����	��� �	 ������� ��������� ,������3 ��� �������

��������� ,��������3 �������	� �� ��%������ �������� ��� ������� �	 ��������� �	 ������������

&������ P������$ ���������Q#� ��� ��������� ��	����� &$ ���������	�� ���� ��� ������	� �� 

������ ��� ��������� ��	� ��� ���	��������	� ���	������� ���� �������	� ���� ���	 ��������

� ���� �Æ�����$ ��� ���������� �	� ������$ ��������� ����� ����������� ����	�� ���� ���

�		��$ ���������� !�����$# ��� �������	� ���� �� ����	���� ��� ������� 8 �	������ �� 

�	��������	�� ������$# ��� �������	� �������� ��	��� ��� � �	���	���� �	 ���A�� ��� 	� �����
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����� ���
��� �
��" ���������

������� ������ ��� ���	��������� �� ��� ����� ����&�� ���E	� �����	� ������ ������� ����

���������� ���������� ����� � �� ���� �$�	������� �������	� �������� ���� 	&������ &$

�	������� %�����������$ ���� ��� �	��� ����	 ������&���	��� 
���	�� ����� ��� ���������

&������ ��������� ��� ���	��������� �� %��������� ��� �		�# ��� ����	�� ���� ����� ��� 

���������� &������ ���� ��� �� ��������	� ���� ���	���� ��� ������� ����� �������	�

��	������ �� �������� �� K/"L ��� �� �������G�� &��	�� 
�%��������� ��� ���� �	�


4� ��� ����� 	� ��� ����� �� ��� ��& �����# 0�84 : �'�$ : 1�/8 ,�������3R

1� ��� �	������ 	� ��� ����� �� ��� ��& �����# 6'�$ : 40 ?��R�

-� ��� ���������� �	������ 	� ��� �����#

-�� !	� ������ ���� ��( ����# 6��'�$ � 0�09?��R

-&� !	� ������ ���� ��� ���� 	��$# 0�09 ?�� : 6��'�$ : 0�1 ?��R

8� ��� �������� 	� ��	���� ����	��� 	� ��� �����# �	;�*� : 4�/ ��R

/� ��� G �	����	� 	� ��� ����� �� ��� �	��� 	� ��	���� ����	���# ���� : / ��R

9� >		���� ��� ��	�� ���������� ��� ���	�� ����� ���� �����A�� &��	��

>		���� ��� ��	����� &$ �	� �	������ ������ ������� &$ ��� �	���	���� ��������

A��� ��� �		���� �� ��� �������� �������� :� � ������ ���$ ��� ���	��������� �� ��	 	� �	��

������# ��������� 	� ��� �	������ 	� ��� ������� ��������� >		���� ��� ������A�� ���� �

��� 	� ������ �����A�� ��� �	��	����


4� ��� ��������� �	������ �� 6��'�$ : 0�1/ ?�� �	� ���� �����R

1� ��	�� ������� ��������	� &������ ����� 	� ������ �	�����	����� �	

�!
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1�� �DD'�$� : 0�4"# �� � ���'�$ � ���'�$� : 0�49 �� ��� ������� ���	������ ���� ��� ����

	� ������ ��� 	��	����R

1&� �DD'�$� : 0�10# �D�'�$� : 0�4" �� ��� ������� ���	������ ���� ��� ���� 	� ������

��� �%���R

-� ������� ��������� �	�����# �D6��'�$� : 0�41 ?���

!	� ���� � ��� 	� ������# 	��$ ��� 	�� ��	����� ��	���� �	 ��� ���������	� �	��� �� ����#

���� ��� ����� ���� ��� �������� ����# ������� ��� ��������� ������ ��� ������ �� �		����

��� ��� �	� ���� ������� �� ��� ����$����

?�	��� ��� ��������� ��	� ��� �������� ���	������
 �������� ������ ��� ���	���������

��	� � ��� 	� ��( ���� ���� &$ 	��$ 	�� ������� ��������� ���� ������ ��� ������A�� �� �����

	� ������ �	� �����


4� 6��'�$ : 0�-/?��R

1� �DD'�$� : 0�-R

-� �D�'�$� : 0�-R

8� �D6��'�$� : 0�4/?��R

/� ?��)

��� ,����� �3 O?��)


��� ,����� B3 : 8/�

7� ���� ����# 	��$ ��� ����� ���� ��� �������� ���&�� 	� ��( ���� �� ���� �� ��� ����$����

:� ��� &� ���� �� A���� /�4# ��� �&	�� �������	� ����	��� ��� 	������ ���������

&������ ��� ���� ��� ��������	� �� ����� 	� ��� ������� ����� �����������$ ��� �	��� �����$

���	��������	� ��	� ��� �������� �$����� @	�� ���� �� ���� A���� ��� ��� ������� A�����#

��� �	� ��	� �������� ��� ���� ����� �	������� ��&������	� ��� ��� �	����&���	� ��	� ������

��� &�����	��� �	��� ����	 ��������	��# ��� ��� &	��	� ��	� ������$� ��� �	������	�

&������ ���� ��� �	������ ,������ O &�����	���3 ��������	� �� C"���� !C��
� � 4# ����� C�

���	��� ��� ���&�� 	� ������� �	� � ����� &�� '� :��	 ��	����� �� ��� �	��� ��	� �� ��� J�#

J� +


�

,C��
� � C"���� 3�

1�� ,��3 O 1�� ,����3
�
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&���� �����$ 	� ����������� �������������# ��� ��� ���&�� 	� &��� ,��	���3 ����� ��� �	� 

����� �$�������� ������������� ���� &� ��������� ����� �� ������� 2� 7� 	���� �	 ����� ���

J� �	�������	�# � &�� ' ��� �	 ������$ C��
� � -1�,��3 � 0� ������$# ��� J� ����	��� �����

����$��� ��� ������� ����� �������	��

����� 0���
�� ���
�� ���������

:�� *�� &���� �	� ������� �	 ��$ ������� ����� ��� �	�������� �����&�� �	 &� �������� ���

��� �	������� �� � ������� ������� ����� ��� �������� �	� ������� �����$ ,��	�	��3 �������	�

���� ���������� ����� ��� ���� ����	�	��$ ���� �	� ��� ������� ����� �������	� ��� �

�������� ����$ ��$ &� �	��� �� K/"L� �������	� �������� ��� ������� �	�


4� ��� ���&�� 	� ��$����� �� ��� �������# ?#�*���' � 1R

1� ��� �����$ 	� ��� ������� �� ��� ��& �����# �#'(���� � /0 ���R

-� ��� ������� ������� �	����# >:� : 0�9R

8� ��� ����� � 	� ��� ������� �� ��� ��& �����# 0�-1 : �#'(���� : 1�88 ,�������3R

/� ��� ����� &������ ��� �	����	�� 	� ��� ������� ��� ��� ������ �	��� 	� ��� �������

������� ����� �� ��� *�� ������� �	� ������ ���� �	 �	� ������$ ��� ������� �����

�������	�#

D. + �	���K�	� �#'(� �	� ���% O ��� �#'(� ��� ���% �	�,D#'(� � D��%3L : 0�0"��

@	�� ���� ��� 	� ��� �&	�� ��������� �����&��� ��� �������� �� ��� ��&	���	�$ ������ ���

������� ��	��� �����# >:�# ��� A��� ���� &$ ��� :
?F� �	���&	����	� ��� �� ������&�� ��

������ ��������� K/.L� @������ 	&B���� �	� ������$��� ��� �&	�� �������	� ���� �������� ��	�

��� ����$����

��� ��������� &������ ���� ��� ��� ��������	� ����	��� �	� &	�� ��� �������

�����������$ ��� ��� �	��� �����$ ���	���������# �� ��� &� ���� �� A���� /�1� ��� J�!��	���

��
 ��� �	 ���� 
� �
�	 �������� �� �
� ��
	�	� ����� �	 ������1�� �	 �� ������
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!����� /�4
 ������&���	�� �	� ��� ������� ����� �����������$ �3 &��	�� ��� &3 ����� ����$���
��� ����� �������	�R ��� ��� �	��� �����$ ���	��������� ��	� ��� ������� ������ �3 &��	��
��� ����� ����$��� ��� �������	� ��������� ��� ����� ��	�� ��	� ��� ������&���	�� ��	� ����
����� 	' ���� �	������� ��&������	� �� ���� �� ��� �	��� ����	� @	� � � � ������ ���
������ ���	����$ ������	�� ��	� ����� ����$� 	� ����	�� ���������A�� �� ������	�� ,���
�����	� 8�1�-3� ��� �	��� ��	�� ��	� ��� �������� �	������	� &������ ���� ��� �� ��
C"���� !C��

� � 4� ��� ��������	� �� ������ �	 ��� ���&�� 	� �� ����� �� ��� ����� ��� ������
��	���� ������$ ��� ����������	� ������&�� �� �����	� /�1�
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!����� /�1
 ������&���	�� �	� ��� ������� ���	���� �����������$ �3 &��	�� ��� &3 ����� ����$���
��� ������� �������	�R ��� ��� �	��� �����$ ���	��������� ��	� ����� *�� �����$ ���	����
�3 &��	�� ��� �3 ����� ��� ����$��� ��� �������	� ��������� ����� ��	�� �	��	� ��� ����
�	������	�� �� ��	�� 	� A���� /�4�

�� ������� &$ �&	�� � ����	� - �� ����� 	� ��� �����������$ ��� �	��� �����$ ���	���������

�� ��� *���

����% ��
������ ��
������

�������� ����� �		�� ��� ���� �	 ���	������� ��� �	��	���� �	��	���� ���������
 
�
�
�

����# 9 � 6�� ��� � � 
�
� K90L� ��� 
�
�

�������	� ��%����� � ����$ ������ � 1��

��� �� ��������� ���� ������$��� 0�8.09 ?�� : 8�� : 0�/082 ?��� ��� 9 �������	�

��%����� � ����$ ������ � /�� ��� � ���� ������$��� 4�441 ?�� : 8)�� : 4�410 ?���
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�	������	� ��	�	�� ���� ������$ 8�� : 0�0-0 ?��� ��� �������� K!% ��%����� �� ���	 ����

�	 ���	������� K!% � ���� ����$�� @	�� ���� ��������� ���� ���� �������� &$ ��� �������

����� ���� ���� �	����� �	��	������

��� ��� 	� �	��	���� ��������� ��	����� &$ ����� ������	�� �� ���� ��������� 7� ��	

	� �	�� �	��	���� ���������� ��� �	��� �	 ����� � �	��	� �������� �����,�3# ���� �����

�	��	����� ��� ��B������ ��������$# �� ��� ���	�����	� &������ � �������� ����� ������ �

�	��	���� �������� �	 � ����� �� ��� ������� ����� ���� ��� �	��� ��� �	��	���� ��������� ��

��B������ :�� ������� ����� ��������� ��	� ��� A��� ��� 	� �������� �	��	���� ��������� ���

���	��� ��	� ��� ������� ����� �����

��� ����	� ��������� 	� ���	��������� K!% ����$� ��� �	� �	�������� �� ����	�� �	�

��� ��������� 	� ��� ����$���# ������� �� ��� ������ ������	� �	� �� ������	��� ����	��# 	�

����� � ���	 ���� &� �������

����� '�
����� ������1������

*�����	�� ��� ������A�� ����� � ������	� ������&�� �� ��������� K94L� ��� ���� �	 ���	�������

��� �	��� ����&�� �����$ �� ���� ����$��� ���	 ��%����� � &��� ���� �$�	������ �	 &� ��A���

�	� ���� �������� ������� ������ ���� �� �	�� &$ ��� �	��	���� ���	�����# ����� ��� A���

�	������ ����	��� ���������� ��� �������� �$�	������ �	 &� ����


� �	�� ��� ����� ������$ ��� ������	� �������	� K94L Z

� �	�� ��� ����� ������$ ��� ��	� �������	� K91L Z

� �	�� ��� ����� ������$ ��� ��	� �������	� K9-L Z

� �	�� ��� ����� ������$ ��� ��	�	� �������	� Z

7� ��� ����	���� ��� ��������# ��� �������� �� ������� �	 &� � ��	�� : &���� 	������� 	�

�������� ������A����	� �� ���� �� �������� ..�
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��� ������� �����$ ��� �	������ ���	����	�� 	&������ ����� ����$��� ��� �������� ����� 

��	�� ��A��� �� ��� �����	�� �����	�� ��� �	������ �	 ��� ���	����	�� 	&������ ���	� �	 �����

�������	��� @	�� ���� ��� A����� ��������� �� ���� �����	� �	����� ��� ���� ��������� ���

����������	� ��������� !����� /�- ��	�� ��� ������� �����$# ��

���# ��� ������� �	������#

��� �
����# ������&���	�� �� ��� A ,8B3 ����� �	� &	�� ���� ��� �	��� ����	 ��������	�� : ���
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� : ����� 	� ��� ����� &������ ��� ������ ���� ��� ��� ��������	��� ������	� �	������#

�	� � �
2��23

�� ��� A ,8B3 ������ ��������$ �	 ��� �����&�� 0� ��A��� �� �����	� /�1# ���

������ �� �� ����� ����� �����&�� ����� ����� ��� 	� ��� �� �	�	�	�$ �	 ������������
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��	������ ���� �� �����	� /�9� ��� %�����$ 	� ��� �������	 ���	��������	� �� ���� ������������

����� ��� 	�
�� ����$� �� �����	� 9�-� !�����$# � �������� ����$ 	� ��� �������	� �Æ�����$ ��

��������� �� �����	� 9�/ ��� � �	������	� ����	� �	� ��� ������ ��������	� �� 	&�������
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��� �������	� 	� � � 	�
�� ����$� �� &���� 	� �� ������� ����$ K98L ��� �� �������G��

&��	�� 	� ���	�� ��� A��� ���	��������� &$ ����$��� ��� �	���&�� �	�&�����	�� 	� �������

������ �	�������� ���� ��� ����$ 	� � 	� �	 � 
��� ����� : ������ A� �� ����	���� ���

�	�&�����	�� �	� ����� ��� J� ��	&�&����$ �� �&	�� 0�4U ��� ��������� ��� ����� 	� ������

��� ���� ��%����� �	 ���� �� ��������� ���� ������ 80 ��� 	� ��� �	����� 	� ���� 	�

4"9/��� K4"L� ���� ������ ���� ���������� ����	� ������ ��� ��������� ���� �� ������� �	
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��� � ����$�� !�����$# ��� 	� ���	� �� ��%����� �	 ���� � �	������ ��6�	� � � 0�/ ?���
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�� ����$� ��� ������A�� &$ �	�&����� ���	��������� 	� ����
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1� ��� ������ A� ��	&�&����$ �� � 0�4UR
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 �$���� �� 8	�� � -�0 ?��R

8� !�����$# ��� ����� &������ ��� � ��� ��� 	�
 �	�&�����	� �� ��%����� �	 ������$

�1�/ : �	� ���	�� : 4�4�
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��� � ���	�� 7������# �� �� ���������� ����� ��� ��������	� ���� ��� 	��$ �����	���������

�������� ��	� ��� � �� � �������� �������	� ��� �����$ ��
� ��� ��������� 	� ��� �	������
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1��
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�
	�� �8�

, �8�
	��
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� ,9�83

7� ���� �� ����$ ��� ����# ���� �	� ���	�� ��	��� ��� �� ��� ��$����� �4 ������ ��� ��$�����$

�� ��� �	� ���	�� ��%�������� �� �������� �	 ��	���� � �		� �Æ�����$ �	� &	�� ��� ������

� � 	�
�� ����$ ��� �	� ����$� 	� ��� �$�� � � �

�� ����� �
 �� � ���������$ �	� ����
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�� �	 ���	��� �	� ��$ ���	��������	� ��� ������	� �'���� ���� ��$ ���� ���	 ��� ���������	��
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	� ��� ��������	������$ ����$��� � ���	�# ����� �� �� &����� ,��� ��������� 	� ��� 	� ���

��%����� �	 &� ���	���������3� (	�����# �	 ��� ������ ���� ��� �����������$ 	� ��� �	���	�

������ �� ������� �	 ���� �	� ������ � � ��
�� ����$�# �� ��	�� �� A���� 9�13# ������	�
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$	� ��3���
�+ ����+����� ������
�+ ���
��
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	 ��� �	� ���	�� ��	���� ������ ������������	� &������ ��� ������ � � 	�
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����$�# ��� � � 	�
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��	� ��� ���� ��������	��� � ����$ ,� /U3� !	� ���� ����	��# � - �������	��� ������&���	�

�� �	���� ���� &������
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��� ������&���	� ��	�� A���� 9�8 �� A���� �	 ����� �	��	�����
 � � 	
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����� 1��� �� ��� ����������� ����������$ 	� ��� �	����� �� $������ 5��$ &��� �	� ����� ���

�� $���� �� �	������ &$ � -1 ��� �	��������� ��� ������ �� 1�% ���� &� �� ���	��� �� ��� J�

�	�����R ���� �� ����� ���� &$ ��������� ��� A� ������ C��	�� ��� A�# � J� 	� 4// �	� 9- ��	���

�� 	&������� ��� A��� �������	� 	� ��� A� ������� ��� �	��	���� ���	�����	�


&� + 0�..8 � 0�08/ ,9�93

&� + 0�.88 � 0�010

&� + 0�242 � 0�0--

J� + 414 �	� 9- ��	���

: ���	�� �������	�# �� ����� ��� - ����� ����	�� ��� 0�.0# 0�.4 ��� 0�""# ������� ��� J� �	 44"#

��� � ����� �������	� ����� 0�.0 �	� ���� ����� ����	� ��� J� + 449# ���������� ���� ��� A�

��� �	�������� ��� �	�������	�� ��� �������&��
 �0�2- &������ &� ��� &�# �0�/. &������
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 ���� ��� �	��� ����	 ������&���	�� �	� �3 ��# �3 ��
� ��� �3 �
��


 �	� ������
������$��� ��� 	���� �������	�# ��� ��� �	�����	����� ������&���	�� ,&# � ��� �# �����������$3
�	� ������ ������$��� ��� ��A��� �������	� ������&�� �� �����	� /�/ ,��������� �
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@	 ��B	� ������������� ���� �	��� &������ ���� ��� �	��� ����	 ��������	�� �� ����� 	�

��� ������ ������ ,������� /3 ��� � � 	�
��� �	���	� ������ ,������� 93� (����# ���

��������	� 	� &�����	��� ������ ��� ��� 	���� � ����$ �� ��� ����� ������� �	 &� ���%����

��� 	�� ��$ ��	���� �	 ��� ���� ����� 	� ��� ����$���� 7� 	���� �	 ������� ��� ������

�,� � ��
��3# ��� $���� �	� ������ ������$��� ��� ����� �������	� 	������� �� �����	� /�/

�� ��������� �	� &	�� ���� ��� ��� ��������	�� ��� � � ��
�� $���� �� �	������ �� ���

���&�� 	� ���������� �� ���� ������ ��� ������ ����	� ����� ��� ���&�� 	� &�����	���

������ ��������� ��	� ��� �	��� ����	 ��������	�� *%����	� /�4 ��$ ���� &� ��������� ��

��	
� +

?"���
#��" � ?$%&

1?�� 2�
� ,2�43

����� ?�� + ""�-/�40� �� ��� ���&�� 	� A ,8B3 � �� ����$� ����$G��� 
��$��� �	���$ 	�

��� �	��� ����	 �	� ��� %��������� 2� ��� ?$%& �	��� ���� �	 � �	������ ���������� 	� ���

��������	� 	� ��� &�����	��� ��� 	� ��� ����$ 	� ��� 	���� � ���	� �� ��� �����# ���������

�� ����� �$�������� �������������� ����� ��� ��&���������$ ������� &$ ��� ��� 	� ��	 �	���	�

�������� !����# ��� 	�
�� � �	���	� ������ �� ���� �	 ������ ��� ��	
� ��������	� ����������$
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�����&�� ��A����	�

2� �������	� �Æ�����$ �	� � � ��
�� ������ ,����3

2��
� �������	� �Æ�����$ �	� � � ��
�� ������ ,��3

5� �������� ������	� 	� � � ��
�� ����� ����� ,������ ����	� �� ��3

2��& �������	� �Æ�����$ �	� ������ � � ��
�� ������ ,��3

2��& �������	� �Æ�����$ �	� �	� ������ � � ��
�� ������ ,��3

2"���	��� �������	� �Æ�����$ �	� � � 	�
�� � ������� ,����3

2��
	��� �������	� �Æ�����$ �	� � � 	�
�� � ������� ,��3

?"���
#��" �	��� $���� �	� ������ ����	� ,����3

"��
$%& C�����	��� $���� �	� ������ ����	� ,��3

?"���
��"� H���� �	� �
��


 � 8�1/?��� ����&��� ����	� ,����3

"��
��"� H���� �	� �
��


 � 8�1/?��� ����&��� ����	� ,��3

��&�� 2�4
 ������$ 	� ��� �����&��� ���� �	 ������� ��	
� ��� D��	

� �

�	 ��� ������ �Æ�����$ ��������	�# �� ��������� �� �����	� 9�/� !�������	��# ��� �	���

����	 &�����	��� �������� �� ��B����� &$ �	������� ��� $����� �� ���� ��� �	��� ����	

�	� ��� ����&��� ����	� �
��

 � 8�1/ ?��� ������$�� �� A���� /�48# �� �	�� 	� ��� ������

�������� ���� ����&��� ��� &�����	��� ������� 7� ����# � � ��
�� ����$� �	����&��� �	

	��$ � 1U 	� ��� �	��� ����&��� $���� �	������ ��	� ��� ��������	�� (����# ��� �Æ�����$

��� &�����	��� ��������� ��� ��B����� ��

2� + 2��
�

2"���	���

2��
	���
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$%&
?"���

��"�
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� ,2�13

���� ���� �%����	� 2�4 ��$ &� ��������� ��

��	
� +

?"���
#��" � "��

$%&
8�
�

����

9��
����

1?�� 2
��
�

:�
�

����

:��
����

� ,2�-3

��&�� 2�4 �������G�� ��� �����&��� ���� �� ��� �&	�� �%����	�� ��� ��	����� � &���� �� 

�������	� 	� ����� 	������

:� ��� ���	������� �	������$ �� ���$ ������ ��� ��� ������� ��� &���� ��&������

	� � �	����$ &����# �� �� ���	����� �	 ��	���� �� ������������ ����������� ���� ������

����������$ �	 ���	������� �	���� ���� ���� ���� ������ ��$ &� ���� �� ��� �	����� 	� ��
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����	��� ���	�$� ��� �����������	� 	� � ������� &�������� ����	# D��	
� # ���	���� �	� ���

������	� �Æ�����$ ��� ��� &		�� 	� ��� � ���	� ���A�� ���� ����� !	� ���� ����	��# ���

������ �Æ�����$ ��$ &� �������� ��

2� + 2��&5� O 2��&,4 � 5�3� ,2�83

����� 2��& �� ��� �Æ�����$ �	� ���	���������� � ������ ����� �� ��� �������� ������ ����	�# 2��&

�� ��� �Æ�����$ �	� ���	���������� � �	� ������ ����� �� ��� �������� ������ ����	�# ��� 5� ��

��� ������	� 	� � � ����� ����$� ���� ���� �� ��� ���� ������ ����	� �� 	&������ �� ���	�������

���������	��� ��� ������ �� ��� ����	� ��A��� �� ����� 	� ��� ��������� ��������� �����&���

�
��

 ��� �� �� ��� � ���	� ���� ������ ��� ���	���� ������� &�������� ����	 �� ����
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����� ��� ����	 2��&!2��& �� �����# D��	
� ������� 	��$ �����$ 	� ��� �	��� ����# ���� ��

������� 	��$ �����$ 	� 5�� ��� ���	���� ������� &�������� ����	 ������&�� �� �%����	� 2�/

�� ��B����� ��������$ ����� ��� %������$ ������ �� �%����	� 2�1 ���� ����
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!����� 2�4 ������$� ��� �� ��
� ������ ����	� �	� ���	��������� ������ ������$��� ��� �����

�������	�R ���	 ��	�� ��� ��� ��������� %��������� �	� ����� ������� (����# � ����� ������	�

	� ������ ��������� 	������ ��� ������ ,������3 ����	� ����� ���	 ��� ������ ����	� ��� �	 ���

���	����	� 	� ��
� ���# �	�� �����$# ��� �	 � ��� ���	��������	� 	� ��� ��� ������ ����	� ��

I�� � 1�0?�� ��� �
��

 : -�/?���# � ��	��� ���� �	����$ ������G�� 2 ��&!2 ��& ��� ���� ���

���������� 	� ��� ���	����� 	� ��� ���	������� �	��� ���� �	 ��������� 5��
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!����� 2�4
 ?�������� � � ����� ������ ����� ���� &��� ���	��������� �� ��� �� ��
� ������

����	�� :� ��� &� ����# ������ ��������� 	������ ��� ������ ,������3 ����	� ��$ ���� ���	
��� ������ ����	� ��� �	 �		� ��

� 	�# �	�� �����$# �� ���	��������	��

;��	� �	 ����	����� � ����������� 	� ��� ,�������3 � � ����� &�������� ����	#

�$�������� ������������� ���� &� ��������� �	 �������� ��� �&	�� ��������	� ��	������� ���

�	��	���� �����	�� ������� ��� ����	�� �	���� 	� �$��������� ��� ����� �'��� 	� ��� ������

��������	�� ��� ��������	� 	� ��� &�������� ����	 �� ����	���� �� ������� " 	��� �����

�'���� ��� ���� �������		��

'	� %�������� &�� �!�����
�+ �������
��
��

��� �	����� �	��� ����	 $����� ��� �Æ�������� ���� �	� ��� ����������� 	� ��� ,�������3

�,� � �����3 &�������� ������	� ��� ������ �� ��&�� 2�1� ����	�� ������������� ��$ �� 

���� 	�� 	� ���$ 	� ��� %��������� ���� �	 �	����� ��	
� ��� D��	

� ���� �� ��� ��	��� 	�

()* ���������� ���� �� ������ �	������# ������������� �� ��� ����� &�����	��� &��������

����	� ��� �	������ 	� ��� ������	�� ������	��# ��� ��������	� �� ��B����� �	 ��=��� ���

�'��� 	� ���� �$�������� ����������$� !	� ��������# �� 	���� �	 ����$ ��� �$��������� ���
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��&�� 2�1
 @	����� �	��� ����	 $����� ��� �Æ��������� ��� ������������� ��� �����$ ��� 
�������� ��� ��� &�������� ������	� ����������$ �������� ������������� ��	� 	' ���� �����

�	 ������������� �� ��� ��������	� 	� ��� �������� �Æ�����$# �	��� ����	 ��������	�� ��� �� 

��	������# ����	��$ ���������� ������ �	 �������� � ������� �Æ�����$� ���� ������� "��
$%& #

"��
��"� # 2

��
� ��� 2��

	�� � ��� ������ ��������	� ��	������ �� ���� ��������� ��� � �����������

	� �� ����������� ��	
� #

��	
� ,�����������3 +

?��
�
#��" � "��

$%&
8��	�
����

9��
����

1 2��
�

:��	�
���

:��
���

?��

� ,2�23

�� ����	����# ����� ?��
�
#��" � ?

��
�
��"� � ��� 2��
�

	�� �	�����	�� �	 ��� $����� ��� �Æ��������

�	������ ���� ��� �	����� �	��� ����	 ��������	� �� ��������� �� ��&�� 2�1� ��� ��'������

	&������ �� ��� ��������� &�������� ����	 ���� ������� �	 ��� �	����� �����#

�
�����	
� ,�����������3 � ��	

�

��� �
�� ����� �� ��� �$�������� ����������$� ���� ��	������ �� �������� �	� ���� �	���� 	� �$� 

������� ���	�� ��� �	��� ����������$ �� ���� �	������ �� ��� %�������� ��� 	� ��� 	� ���

���������� ��������������

'	� /����
�+ �& � � ����� �
+��� �!����

��� �$�������� ������������� �������� �	 ��� �$&��� �	��� ��� A��� ��������� &$ �	���� 

����� ��� ����������$ ��	� ��� ()* ����������# 8� ��� <# ����� �'��� ��� �	� ���	����

�	��	���� 	� ��� �$&��� �	��� �� ��������� �� �����	�� 1�/�9 ��� 8�1�1� :� �����	��� ��

�����	� 1�/�9# ����� ���W��G� ��� ������&�� �� ��� ���������� �	 ����������G� ��� ����� ������	��

��� �	����� �����G �� ���� ����$��� �	��	�� ��� ���	������� �	��� : �$�������� ����������$
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�� ������	�� �������� �	 ��� &�������� ����	 ����������� ��	� ��� ��'������ 	&������ ��

��� ��������� ����� ����� ��� ����������� ����� ������	��� ����� ���W��G�# ��������� ��� �� 

�	������� �	��# ���� ������$ ��� �	�����	�� ���	��� 	� ��� A��� ����� >� �	�����# �����$


*� + 4# *� + 0# ��� *� + �)�!-� F���� ��� � � ��� ������ ��	� K80L# ����� �������� ���

���� �	 �	��� �	� ��� ���������� 8� ��� < 	� ��� ����	�� ����� ������	�� K84L� ��� ���� 	�

��������� ���������� ��� �	�����	����� ��	
� ��� D��	

� ��������� ������ ��� ��������� ��

��&�� 2�-� ��� ������� �������	�� ,�3 	&������ 	� ��� ��������� ��	
� ��� D��	

� �����

��� ����	�� ()* ��������� �������� ��� ��A��� �� ��� �! �$�������� �������������� !	�

��������# ��� ������� �������	�� 	&������ 	� ��� ��������	� 	� ��	
� ��� 	&������ ����� ���

*��	������� �! ���� ���������� �8�� <� + �8�/2?��!��� 1�88� ��� ?������� �! ���� �� 

�������� �8�� <� + �8�204?��!��� 4�08�� :��	������$# ��� �$�������� ����������$ 	� ��	
�

�� ��������� �	 &� 40�4U� :� ��������# ��� �! ����������$ 	� D��	
� �� ���� �	���# �&	��

�4�-U ���� ��	��� 5� ������ &$ ,O44�1! � "�.3U� ���� �� � ������� 	� ��� ���	����� ��	 

������
 2��&!2��& �� ����� ,�&	�� 0�04.3# ���� ���� ��� ���������� 	� 5� �� ���������� ,���

�%����	� 2�93�

!������ �$�������� ������������� ����� ��	� �	 ��� �	������ 	� ��� ���	���� � �
��
�� ������� �	 �������� ��� �	�����	����� ���	� 	� ��	

� # ��� &�������� ������	�� �	� ���

���	���� �	��	���� ,��� ��&�� 8�13 	� ��� �$&��� �	��� ��� ������ &$ ����� �������������

�	�������$ �	� ������� ��� ������� � ����$�� @�� �$&��� �	���� �	�����	����� �	 ���

������� ��������� &�������� ������	�� ��� �	������ ����� ��� ����� ����������	�# ��� ��� ����

�	 �������� ��� �$�������� ����������$ 	� ��� � � ��
�� &�������� ������	�� F������������

��� �	 ��� �$&����G���	� 	� ��� ������ ��������	� ��� ���� ��������� &$ �	������� ��� ����$

�	� ���	���� ������ �	��� ����	 ���� ��� �	����� �$&���� ��� � � ��
�� ��������	�

������� �� ������������� 	� 8�4U 	� ��	
� # ��� 8�8U 	� D��	

� �

��� �	������ 	� ��� ����	��G���	� ��	���� ��	� ��� &������� 	� ��� �� �������� ��

M*��*� ��� ���	 ������������� �	 �	 �	# ��� &�������� ����	 	&������ ����� ��� �����$

�	� ���	���� ������ ������ ��� �	������ ���� ��� ������ 	&������ ����� ��� �$&��� ���
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���	 
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��&�� 2�-
 �$�������� �'���� ��� �	 ������������� ������ ��� ������ ��������	�� @������&��
�������	�� ��� 	&������ �� ��� ��������	� 	� "��

$%& ��� "��
��"� � (����# ����� ������ ��� �	�

������$�� �� ��� �&	�� ��&��� ��� ���� ����� &�	��� 	� ������ ����� �	 ��� ����� ������	�
������������� ����� *��	�������# ?�������# 	� 
	��� �����G# �����������$� @	�� ���� ��� 	�
��� �&	�� �Æ�������� ��� ��������� �� ����� 	� �40���
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!����� 2�1
 @��&�� 	� ��������� ��� ����� �	� ��� �3 ������ ��� &3 	�
�� �	���	� �������
:���� ���	���� ��� 	��� ���������# ��� �����������$ ��	� ��� 	���� � ���	� ����$ �� �	���
�	 &� 	� ������� � 2�

	��$ � ����� ��'������ ��� �	���# �� ��	�� �� ��&�� 2�-� :� ��� ������ �Æ�����$ ���������

���� �	�� ��������� ��	����� �� � ����� �����# ��� �����������$ 	� ��� ������ ������ ��� ���	

����� ���	 ���	���� ��� ����� �����������$ ��� A��� ��������� �� &	�� ���� ��� �� �����

��� �	���	� ������ �� ��	�� �� A���� 2�1� F���� ��� ��������	� ���� ��� �����������$ 	� ���

� � 	�
��� ��� ��	����$ �	�����# ��� ����������$ 	� ��� 	���� � ���	� ����$ ������� �	

&� ����	��&��# 	� ������� �&	�� � 2 �	� &	�� ���� ��� ��������	�� : �		� ��������� ���

���	 �	��� �	� ��� �	��� ����� �����������$ &���� 	� ��� ������ ������� (���� ��� �����������$

��	� � � ��
�� ����$� ������� �	 &� ��	����$ �	�����# ��� �$�������� ������������� ���

�	 ��� ����	��G���	� ��	���� ��� ������� �	 &� �������&���

'	� 4���+����� �
�����
��

7� ���������� &�����	��� ������# ������� ����$ �������� ���� &� �	��������� ��&��� 9�4

��� 2�8 �������G�� ��� ��������� &����$ �	 ����� ��� ����� ����$ �	���# �����������$#

��	�� ���� ��� �	�����	����� &�������� ������	��� ��� ������������� ������ �� ����� ��&���

�	�����	�� �	 ������� �	��� ������� ������������ K4"L# 	� �	 ������������ ����	���� ��
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����$ �$�� C�������� ����	

	� � 
�� 0�81 � 0�0/
	� � 
�� 0�/. � 0�02
	� � 
�� 0�-. � 0�1"

	� � 
� 0�09"2 � 0�001"
	� � 
� 0�421 � 0�04.
	� � 
� 0�0" � 0�09

��&�� 2�8
 C�������� ����	 �	� ��������� 	 ����$ �	��� K4"L�

�����# ��� �'��� &�����	��� ���������� 7� 	���� �	 �������� ��� ��������� �$��������

�'���� 	� ��� ������ &�������� ����	# ��� ��	������ 	������� �� �����	� 2�1 �� �	��	����

7� �	������� ��� ����������� ��	
� # ��� �	��� ����	 �� ��B����� ���� ���� ��� &��������

������	� 	� ��� ����$ �$�� �������# ���� ��� ��������� 	� � 
�# ������� ��� ����� � ���

����������$ 	� ���� ������������ !����� 2�- ������$ ����	�� ����������� ������&���	�� �����

�	���$��� ��� ���������	� � 
� &�������� ����	 ���	������$� :���	��� 	��$ ����� �������

��� 	&������ �� ����� ������&���	��# � -U �������	� �� 	&������ 	� ��� ��������� ,�������3

&�������� ����	� 7� ����# ��� ��������	� ��	������ ��� �	 ������ 	� ��� �	������ 	� �����

���	� ����$� ��� ������� �� �� 	������ ����������$ 	� �&	�� 8�/U �	� &	�� ��	
� ��� D��	

� �

7� ����������� ��� ��������� � � 	������
�� ��������# ��� 	������ ��������	��� � �
�

�� &�������� ����	 �� ���� �	������ &$ �	���$��� ��� �	� ���	���� � � 	=,�3
��

&�������� ����	 ���	������$� 7� ���� �	�������� ������������ ������� ��� &�������� ������	� 	�

��� �	� ���	���� ����$� �	 � �������� �����# ��� �	����&���	� ��	� � � 	=,�3
�� �� ���

�	 G��	 ��� ��� &�������� ������	� �	� ��� &�	�� � � 	��
�� �� ��B������ �	 �������� ��

����������$ ��	� ��� � � 	��
�� ��������	�# ��� �	��	����	� 	� ��� ������ �� �	��A��

���� ���� ��� 	� ��� 	�� ������ ��� ������
 ����	� 	� ��� 	�
� ,@3# &�	�� 	�

� ��� 	

� ,C3# 	�

�	� ���	���� ?	��$ 
	&��� ,?
3 �$���� ��� ������� 	� ��� ��������� ��	
� ��� D��	

� ���

�	 ��� �������	�� �� ��� &�����	��� &�������� ������	�� ��� ��������� �� ��&�� 2�/�

��� ������ 	� ���$��� ��� �	�� ����	�� �	� � � 	���
�� ����$� ��� &��� ���������

�� ���� ��� ��� �	�����	����� �$�������� ������������� ��� ������ �� ��&�� 2�/� 7� ��� ����
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!����� 2�-
 F���������$ 	� �,	� � 
� �����3 ��� ��� ������ 	� ��� ���	��������	� 	� �3
��

���� ��� �
����# �3 ��

� # ��� �3 �
��

 � �	� &�������� ����	 ������� ,����3 	� ������� ,�����3 ����

��� �	����� 	��� ����� ��	�� �	��	� ��� ���� �	������	�� �� ��	�� 	� A���� /�48�
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"�#	� � ���
� � ���� ���

��� � ��
�� �

���
�	
� ���

�
�� � � ���� �� � ����

�����	
 �� ����� ���� ���� ���� ���� ����

�
 � �
 � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

�� � �
 � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

��
� � �
 � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

�
 � �	 � � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

�� � �	 � � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

��
� � �	 � � ����� ���� ���� ���� ���� ����
��#
$ � ����� ���� ���� ���� ���� ����

� � ��
� � ����� ���� ���� ���� ���� ����
� ����� ���� ���� ���� ���� ����

� � ���
� � ����� ���� ���� ���� ���� ����
� ����� ���� ���� ���� ���� ����

� � ����
� � ����� ���� ���� ���� ���� ����
% ����� ���� ���� ���� ���� ����

���
������� &' ����� ���� ���� ���� ���� ����

� � ���
� � ����� ���� ���� ���� ���� ����
� ����� ���� ���� ���� ���� ����

� � ��
� � ����� ���� ���� ���� ���� ����
(��� )	#��� � ����� ���� ���� ���� ���� ����

*� ����� ���� ���� ���� ���� ����
� � ���
� *� ����� ���� ���� ���� ���� ����

*� ����� ���� ���� ���� ���� ����
(��� )	#���� *� ����� ���� ���� ���� ���� ����

*� ����� ���� ���� ���� ���� ����
*� ����� ���� ���� ���� ���� ����

��&�� 2�/
 �$��������� ��� �	 ����� ��� &����$ �	 ����� ������������� �� &�����	���
�	������� D +� ��������� ��� ������ ��� �	������ �������	� 	� ��� &�������� ������	�
��� ��� � � 	
�� �	�� ����	�# �����������$� ;4  ;9 �������� ��� ��� �	���� 	� ��� 4 1
������	�� �� ��� ,+�� 0�� 0�3 ����� �� ������&�� �� ��� ����� ��� ����������� �������������
	&������ 	� ��� �&	�� ������ ��� �	�����&��� �	 ��� 	��� ������ �� ��&�� 2�1�



������� *� ��&��!����& ������& 41"

	� � � 	
�� ����$�# ��� �	��� ����	 ��������	� ������ 	� ��� 7�?61 �	��� K1-L� : �	��

�	�� ����	� 4 ,H3 + 4 � +� � ,H � 43# ����� H + ,8�
� O8�

	 � ��3!,18�8	3# �� ���� �	

������&� ��� � � 	
�� �	�� ����	� &���� 	� ��� �������� ����� 	� +� + 0�29�0�49 K9/L� �	

�������� ��� �$��������� ��� �	 ��� ������������� 	� +�# � � 	
�� ������ ��� ���������� ��

��� ��������	� &$ � ����	� 4 ,H� +��13!4 ,H� +�3 ����� � ������%�� �����	��� �� 
��� K99L� 7�

��� ���� 	� � � 	�
�� ����$�# ��� ����������$ �� ��������� ��������$ ����� ������ �	�� ����	�

������������ K92L
 +� + 0�29. � 0�0-. � 0�04. � 0�0-1# 0� + 4�-1" � 0�0// � 0�01/ � 0�01/#

��� 0� + 0�.10 � 0�088 � 0�010 � 0�04-� !�	� ��� �	�������	� ������# ��� �	���� ,;4  

;93 ���� ��A��� ��	�� ��� 4 1 ������	�� �� ��� ,+�� 0�� 0�3 ����� ����� �� 	���� �	 ���$ ���

()*� �	�� ����	�� �� ��� ��������	��

:� � ������� 	� ��� � � 	������
�� A� ��� �
��

 ����&��� ���������	��# ��� ��� 

�������� 	� ��� ,�������3 &�������� ����	 ��� ������� ����������$ �	 ��� ������������� ��

��� � � 	������
�� ��������	�# �&	�� �4�/U# ���� ���� ���� ��� ����������$ ��� �	 ���

�	������ 	� ��� ��&��%���� 	 ���	� ����$��

'	" �����
�+ �Æ�
����

��� �������� �Æ�������� �	� ���� ��� �	��� ����	 ��������	�� ���� ��������� �� K9"L# �����

� ����� �������	� ������� �	 ��� 	�� ���� �� ���� ����$��� ��� ������� ,��� �����	� /�-�13�

������� ������ ���� ���������� �	������ 6� � 0�1 ?�� �� ��� ��&	���	�$ ����� ����

������� ����� �� ����$�� �	������	� &������ ���� ��� �	��� ����	 ��	��� ���� ���

��������	� 	������������ ��� �Æ�����$ &$ � ����	� 2��
���#%!2

"���
���#% + 0�/ � 0�/U� :� ����# �

�$�������� ����������$ �� ��������� &$ ���	���� �� ������	��� 0�/U 	� ��� ������ ��	� ���

��������	�� *Æ�����$ ����$ �� �	� 6� : 0�1 ?�� ���� &���� 	� ��	� ��	� ��	����� �� 	�

����$� ��� $���� 2��
���#%!2

"���
���#% + 4�000 � 0�049� ��� �$�������� ����������$ �	� ����� �	�

6� ������ �� ���� �	������ &$ ���	���� ����	��$ �4�9U 	� ��� ������ �� ��� ��������	��

5������# ����� ������� �'��� ��� ��������	� 	� ��� ������ &�������� ����	 &$ � ����	� �4�"U

���� �	������ ������� ��� �	��������� ��� �$�������� ����������$ �� �$������G�� �	 �4�"U
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*23+34 �! ����� ���� ���� ���� ���� ����
�	 ����� ���� ���� ���� ���� ����

�5� &���6���� �! ����� ���� ���� ���� ���� ����
�	 ����� ���� ���� ���� ���� ����

��&�� 2�9
 �$�������� �'���� ��� �	 ������������� �� ��� �	������ 	� ��� ������	� ����	� 
����� ���� �� �������� �Æ�����$ ��� *�� �	�������

����� ����� ������� ����	� �������� ��� �'��� 	� ����	���� ��� �������� �Æ�����$� ���

������� ��	�� �� ��&�� 2�9 ���	������� ��� &���A� 	� ��� ��B�������� ���� 	� ��� ������

��������	� ��	������ ����� �� �����	� 2�4� 7� ����# ����� �%����	� 2�4# ��� �&	�� �������

�� ��� �������� �Æ�����$ �	��� ���� �	 � O-�9U �������	� 	� ��	
� # ������� ��� ��B�����

��������	� 	� �%����	� 2�- ���� �	 �  4�"U ������ 	��$�

'	$ 1����������
�� �& 	�
�

��� ��'������ �� ��� �������� ���	��������	� �Æ�������� &������ ���� ��� ��������	�� ���

���	 �� ������ 	� ��� ���	��������	� �Æ�����$ 	� 
�
�

���	�� �� ��� ����$ 
�
�
� �����

:��	����� �	 K9"L# ��� ����	 	� ���� ��� �	��� ����	 �Æ�������� �	�
�
�

���	�� ���	���������

�� ����$# &�� � �$�������� ����������$ 	� �1�9U ����� �	 &� �������� �	 ��� ��������	��

(����# 
�
�

���������� ��� ���	��� �� ����	� ��	� ��� ��������	� ���� � ��	&�&����$ 	�
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1�9U� ��� �������� ������ ��� ���� �� ���$ ������$ ��� ������� ����� �������	� 	������� ��

�����	� /�-�1� ��� �'��� 	� ��� ��������� ��	
� �� �������&��# �� ��	�� �� ��&�� 2�9� ���

������ �	��� &� ���$ ���� �� ��� �������� ������ ���� ����$� ��B�����# ����� ��� ����	 	�

��� 
�
�

�	 ������� ����� �����������$ �� �&	�� 4!80 ��� ��� �	��� ���&�� 	� ������ �	���

&� �	����� &$ 1�9U � 1=��
�

!=���#%� � 0�4U� ��� �������	� ����� �� ��� 	������ ��������

�Æ�����$ ,�����	� 2�/3 �� ���� ������ ���� �����

'	' �������� 
����
2���
��

��� ������$ ����� �������	� ��%�������� �� ���� ����$��� �� ��� �������� 	� �� ������A��

������	� ���� �	������ �&	�� 4�8 ?��� ����� ��� ��������	� �� ���� �	 ��������� ���

�Æ�����$ 	� ��� �������	�# ��$ ��'������ �� ��� ����	������ 	� ��� ������	� ������A����	�

&������ ��� ��������	� ��� ���� ���� ����� � &��� �� ��� 	������ ����� �������	�� ������	��#

��� ����	 	� ��� ������	� ������A����	� �Æ�����$ �� ���� �	 ���� �� �	��� ����	 ��� ���������

�� &��� 	� 6'�$� ,400 ��� ����3 ��� �'�$ �	� ������	�� ��� �	����	�� &���� 	� &��&�� �������

F���� ����� ��&���# ��� ��������� ������	� ������A����	� �Æ�����$ ��� ��B����� �	 ���� 	�

��� �����

��� ����������$ 	� ��� �������� �Æ�������� ��� ���������� ��	� ��� ����������� �� 

����������� 	� ��� ������	�E�	����	� �������	� �Æ�����$ �� ���� ��� �� ��� ��������	�� ���

�	��� ����������$ 	� ��	
� �� ���� �	������ �� ��� %�������� ��� 	� ��� ����������� ���	� ��	�

���� �6'�$� � �'�$� &�� ��� ��� �$�������� ���	� 	� �	 ��� �	������	� ����	�� ��� ������ ���

��������� &$ �	������� �Æ������ �	� ��������� &��&�� ��� �� ������
 0�..1/ � 0�002"�

:��	 �	�� ���� ��� ��������� ���	� �	� ���� �6'�$� � �'�$� &�� ��� �	������ ������������$� ����

��	������ ������� �� ��� ����������$ 	� ��� &�������� ������	� ����� �� ��&�� 2�9�

��� �	����&���	� 	� ����	�� ��� ������A�� �� ������	�� �� �����# �&	�� 0�/U �����

�	��� ��	� ������ ��� ��	���� 	� ��� ���������A����	� ��	&�&������� ��� ��� ���&�� 	�

����	� ������ �� ��� �	������ ����	� 	� �������� ��� �������� &$ ��� ���&�� 	� ������A��

������ ������	��� F��	��������$# �� �� �	� ���� ���������# �	 ����� �	� ��������	��� ������
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�	������� ���� ��� ����� �������	� ��� �	 ����	� ��� ������A����	� �� ��� ����# ���$ �����$

�	 �	 �� ��� �	��� ����	 ��� �	 ��� �	� �� ��� ����$��� ������ �� ��Æ����� ���&��� �	

&� ������� ������	��# ��� ���� 0�/U �� ����� �� � ������	��� �$�������� ����������$ �	� ���

�'��� 	� ����	� ���������A����	� 	� ��	
� ��� D��	

� ��� �� ����� �� %��������� �	 ��� �&	��

����������$ ��	� ������	� ������A����	� ����������$�

'	( )���+�� ����
��� 
����
2���
��

:� ��������� �� �����	� /�-�/# ��� �����������	� 	� ��� ����&�� 8 �	������ 	� ��� �����

��%����� � ���� �$�	������ �	 &� �������� �	 ���� ��������� 7�������� ��������	� 	� ���

����	������ 	� ��� �������� ������A����	� ��� ���� �	 �$�������� ������������� �� ��� ����&��

8 �	������ ���	��������	� ��� �'��� ��� ��������� ������� 7� 	���� �	 ���� ��� ����������$

	� ��	
� ���� ������� �	 �������� ������A����	��# ��� ���� 	� ��� ������� ������ ���� ��� �	

��� �� ����� ��� ��������� &�������� ������	� 	&������ ��� ������ -�4U 	� ��� �	�����

������ 7� � �	�� ��������� ����	���# ��� ��	� ������A����	� �Æ�����$ ��� ���������A����	�

��	&�&������� ���� ������# ����� ��	�� ��� ��� �	�� �	��	� ������� ��������� ����� ��	��

,��� ������ ������	��3 �� ��� �������� ������# �&	�� "U 	� ��� �	���� :��	����� �	 K91L# ���

��	� ������A����	� �Æ�����$ ��� ������ &$ �10U# ��������� �� ��� ������� ������ �� ��&�� 2�9�

������� ��� ���� �	� ��� ��� ������A����	� 	� ��	�� �� ��	�� �	 G��	 ��	����� �

���$ ������ �� ��� &�������� ������	�� ?���� ���� ����� ������������� ��� ������$ �����#

������������� ��� �	 ��� �	������ 	� ��� �Æ�����$ ��� ���������A����	� �	� ��	�	�� ���

��	��# ����� �	������ 	��$ ���� ���� 1U 	� ������� ������ �� �������� ������# ��� ����������

��� ������������� ������&�� �� ���� �����	� ��� ����� �� %��������� �	 	&���� �� 	������ 1�1U

�������� ������A����	� ����������$ 	� ��	
� �

�!
�	 �"�����	 �
� ������1����
� 
� �
� 	�$��� ������
� ��	��� �� 	����
� 9�9�
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'	5 0������� �������
��� ��� ��������
��

����� ��� ��'������� �� ��� �������	� 	� ��	�	�� �� ��� ������	�������� ���	������� &������

���� ��� ��� ��������	��� ������� ���� &��� ����	���� �	 ��B��� ��� ��������	� �	� �����

������������� K9.L ��� �	������	��# ����� �	����� 	� �� �����$ �	������	� ��� � ��������

	� ��� ��	�	� �����$# ���� ����������� ���	������$� ��� ��	��� 	� �������� �� �����$ 

��������� �� 	���� �	 ����	���� ��� �����$ ���	����	� �� �������� �� ����� (����# ��	

������	��� ������������� ���� &� �	��������


4� !����# ��� ��	�	� �Æ�����$ �� ������ �	��	���� � ?������� ��	&�&����$ ������$ ������	�

���� ���������� ��������� 	� ��� ��	�	� �����$� ;�	�	�� ��� ���������� ���	����� �	

���� ;�!# ��� ���� ����� �� �������� � ������ �%��� �	 ��� ��	���� 	� ��� ������� 	� ���

��	�	�� �� ��� ������ ��� ��'������ 	&������ �� ��� ��������� ��	
� ���� ������� �	 ���

	�� 	&������ ����� ��� �	����� ������� ��������	� ��	����� ��� �	 ������ ���	��������

����������$�

1� 7� ��� ���	�� ����# 1�/U 	� ��� ��	�	�� ��� ����	��$ ���	��� ��	� ��� ��������	��

���� ������� �� ����������� 	� ��� ��	�	� �����$� ���� ��	����� ��� �	 ������ �	��������

����������$�

��� �'���� 	� ��� �	�������� ����������$ ��� ��	�� �� A���� 2�9 �� ����� 	� ��� �������

�����������$# �	��� �����$ ���	��������� �� ��� *��# ��� ��

��� � ��� �
����� : ���� &�����

��������� �� ����� 	� ��� ������� �����������$ �� �������� ����� ����$��� ���� ����� 1�/U

�������# &�� ��� ��������	� 	� ��� �	��� ,�������3 �����$ ���	��������	� ��� ��

��� � ��� �
����

��� ������$ �����%����� ��� ��������� ������������� 	� ��� &�������� ������	� ��� ���������

�� ��&�� 2�9� ����� ��	 ���	�� ��� ���� ����� �� %��������� �	 ��	���� ��� �	��� �������

�$�������� ����������$�
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�� &�

!����� 2�8
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������� ��� ������ �� ��&�� 2�"� ��� �D��
� ����� �� ������	�� ����� �� ��� ����������$ ��	�

��� A��� ����� �������	��

:� �� ��� ���� 	� &�������������# ��	 ������� �������	� ��� �	�������� �	 ��������

��� �$�������� ������������� 	� �,� � ��
��3


4� ��� ��	�	� ��	� ��� A��� ����� �������	� ,�3 �� �	� ��������� :� � �	���%�����#

��� �
���� ��� ��������� �����&��� ��� �	��A�� ��� �	 ��� ������ �� ��� ������	� �����$�

1� ��� ��	�	� ��	� ��� A��� ����� �������	� ,�3 �� �������� �� � �������� ������� *��

������� ���� ���� ��� �
���� ������� �����������
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:� ��	�� �� ��&�� 2�9# �������	 43 $����� ��� ������ �������	� ��� �� ������	�� ����� �� ���

�$�������� ����������$ ��� �	 ��� ��������	� 	� ��� A��� ����� �������	��

'	�� ������� �����
�+ ��� ����
���� ����
�+

��� ������%��� ���� �� ���������� ��� �����	���$ ��� ?�� ��� ������&�� �� ������ �� K2/L

��� K29L� :��	������$# ��� ���&�� 	� �� ����� �� ��������� ����� K29L ��� $����� ,""�-/ �
0�.23 � 40�� :���	��� ��� ����������$ 	� ?�� �� ��������� �	 &� 4�4U# ��� �������� ����� 

�����$ &������ 	� ���� ��� 	' ���� �����	���$ �� 	��$ 0�1/U� ����� 4"92 � 41/ 	' ����

������ ��� 	&������ �	 &� ������ ��� ������ ����	�# ���� �	�����	��� �	 �� ������	��� �$���� 

����� 	� �8�2 ������� ���� ����������$ �� �������&�� ���� ������� �	 ��� ����������� ����������$

��� �� ���	���� 7� ��� �����$ ������� 	� 	' ���� ���� �	 	� ���� �����$ �� �	� ����	����#

��� 	' ���� �	����&���	� �� ��� ������ ����	� ��������� &$ " ������� ��� ����������$ 	� ���

�����$ ������� �� ������	�� �������&��� ������	��# � 4�4U ����������$ 	� ��	
� D��	

� ��� �	

��� ����������� 	� ?���

'	�� ������� �& �������
��
��

��&�� 2�. �������G�� ��� �	������ �$�������� ������������� ���	������ ���� ��� ������� 

���� 	� ��� � � ��
�� &�������� ����	� ��� �	 ��� ������%�� ����# �	�� 	� ��� �$���������

�	��� 	��$ &� ��������� �� 	�� �������	� ,O 	�  3� !	� ��������# �� ��� �	���&�� �	 ����$ �����

������� �	 ��� ��������	�# &�� ��� ������ ����	� &� �������� ������	��# �	� ��� �������� �Æ 

�����$# �������� ���	��������	� ��� ������� �������� 7�# ��� ������������� ��� �$������G���

!�������	��# �� ��� ���� ����� ������������� ���� ��������� �� &	�� �������	� &�� $������

��'����� ������# ��� ������� ����������$ ,O 	�  3 ��� ����� �� ��� �$�������� ���	� ,�3�

���� ������� �� � �$�������� ����������$ ��	� ������	� �	������ 	� /�.U 	� ��	
� �	 ���

�� %��������� ���� ��� �/�.U �$�������� �'��� 	&������ ��	� &�����	��� �������������

��� 40�"U ��	� ��� �	������ 	� ��� ������ � � ��
�� ��������	�� ������	��# ��� �	���
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�	���� 	� �$��������� 1���� ,U3 14���� ,U3

4�3 �������� �Æ�����$ 4�8 4�-

1�3 *�����	� 7� �Æ�����$ 0�. 0�.

-�3 ������� �������� 7� 1�/ 1�9

8�3 @������� ���	��������	� -�- -�4

/�3 
�
� �����$ ���	����	� -�- -�4

9�3 C������������� 4�" 1�-

2�3 C �	������ 4�4 4�4

:3 ������	� �	������ /�. /�.

4&3 � � �
�� ��������	� /�0 /�0

1&3 
�������� �	������	�� -�1 -�9

C3 C�����	��� ��������	� /�. 9�1

4�3� � ���� ��������	� 8�0 8�8

1�3 ����� ������	� ������������� 40�0 4�-

�3 ������ ��������	� 40�" 8�9

�	��� ,*�� � �3 4-�9 .�2

��&�� 2�.
 ������$ 	� �$�������� �������������� ��� �$��������� 	� ��� ������ ��������	�
���	 ������� ��� ���	������� ������������� ���	������ ���� ��� ����������$ 	� ��� ()* �� 
�������� 8� ��� <� ��� �	��� �$���������� ����������$ ��� �	������ �� ��� %�������� ���
	� ��� �������������� 7� ��� ���� ����� � �������	� ��� ����� 	��$ �� 	�� �������	�# ���
�	�����	����� ����������$ ��� �$������G���

�$�������� ����������$ 	� ��� ����������� 	� ��� ��������� � � ��
�� &�������� ����	 ��

1���� + /�.U�"��� � /�.U�$%&� � 40�"U���&� + �4-�9U�

������� ������������� ���� 	&������ 	� ��� ������� &�������� ����	 ��� $����

14���� + /�.U�"��� � 9�1U�$%&� � 8�9U���&� + �.�2U�

:� ��������# ��� ���	����� ��	������ ������� ��� �$��������� ��� �	 ()* ��������� ����� 

�������� �� ������ �	������� ��� ������������� ���� ���	 ��������� �	� ��'����� ��%���������

	� ��� ��
� � ��� 	������ ����������$ 	� ��	

� �� ������� �	� ��
� � 1�4 ?��# ����	��� �������

������� ���� 	&������ �� 1�0 ��� 1�1 ?��# �� ��	�� �� �������� ��
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(	� /����������� �& �47� ��� ��47�

����� ��� �	������ �$�������� ������������� ���� &��� ���������# ��� ,�������3 � � ��
��

&�������� ����	 ��$ �	� &� ��������� �� ��� ������ ����	� ����� ��� ��	������ ������&�� ��

�����	� 2�4� : ������$ 	� ��� $����� ��� �Æ�������� 	&������ �	� &	�� ���� ��� �	��� ����	

��������	� �� ��	����� �� ��&�� "�4� F���� �%����	� 2�4 ��� ��� ������������� �������G��

�� ��&�� 2�.# ��� ��������� � � ��
�� &�������� ����	 �� �������� �	 &�

��	
� + ,1�/8 � 0�18������ � 0�-/��*���3 � 40��� ,"�43

������ 
�� ���� ������ 
�� #�

?�$�$
$�� /4-0 � 4/0 "9;
�=> -429 � -/

?�$�$���� 94/1 � 4-0 "9;
���� 981- � 8.

2"���	�� ,.0�0 � -�.3 � 40�� 2��
	�� ,.0�/ � 4�.3 � 40��

2��
� ,8�29/ � 0�0/03 � 40��

5� 0�4804 � 0�0008
2��& ,-0�4 � 0�-3 � 40��

2��& ,0�//" � 0�0143 � 40��

��&�� "�4
 ���� ��� �	��� ����	 $����� ��� �Æ�������� ���� �	� �	������� ������ &��������
����	� ��� ������������� ��� �����$ ������������
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!����� "�4
 ������� �� ��� � � ��
�� &�������� ������	� ����������� ,�	��� �	����3 ��
� ������	� 	� �3 ��� �	��� &	��� 	� ��

� ��� &3 ��� ����� &	��� 	� �
��

 � ��� &�����	� 	�

��� ������� &�������� ����	 �� ���	 ������$�� ,�����3 ��� ��� ����	������ ����� �� ��	����� 	�
��� ����� ���� ���� 	� ��� ��	��� ��� �	��� ��	�� ������$ ��� �������� ��'������ ���� �������
�	 ��� �	����� ��%���������
 ��	

� ,��
� � &3!��	

� ,��
� � 1�4 ?��3 � 4# ��� D��	

� ,��
� �

&3!D��	
� ,��

� � 1�4 ?��3 � 4� ��� ���	�� ��	�� ��� �����$ ������������

����� ��� �&	�� ���	�� �	�����	�� �	 ��� �	��� ����������� ��� �$�������� �������������#

�����������$� ��������$# ��� ���	���� ������� &�������� ����	 �� ��������� ����� �%����	� 2�9

�	 &�

D��	
� , I��� �


��

 3 + ,-�/8 � 0�--������ � 0�-8��*���3 � 40�� ,"�13

�	� ��� �	���	� 	� ��� ����� ����� �	������� ������ ��
� � 1�0 ?�� ��� �
��


 : -�/?����

��� ���&����$ �� ���������� ��	
� ��� D��	

� �� � ������	� 	� ��� ���	����� ����$���

��%��������� ��� �	��������R ��� ������� ��� ��	�� �� A����� "�4 ��� "�-� 7� ����� A�����#

��� ����� ��	�� ��	� ��� �&�	���� ������������ �	� ��� ����� ��%���������# ������� ���

�	��� ��	�� ������$ ��� �������� ��'������ ���� ������� �	 ��� �	����� ������# ����

��	
� ,��� + �3

��	
� ,�	��3

� 4 ���
D��	

� ,��� + �3

D��	
� ,�	��3

� 4�

:�� 	� ��� ���	�� ��	�� ��� �����������# ��� �� ��� ���� 	� ��� �������� ��'������# ��� ���	��

���� �	������ ��	� ��� �������� ��'������ �� ��� $����� ���� ������� �	 ��� �	����� �������
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!����� "�1
 ��� &�������� ������	� ��������� �� &��� 	� ��
� �� ��	�� �	� ��� �	����� &��� 

��	��� ,�	��� �	����3 ��� �	� � 9U �������� �� ��� &�����	��� ,�����3� ��� ���	�� ��	��
��� �����$ ������������ (����# ��� �������� ����������$ 	&������ �� ��� ��	

� ��������	� ��
� ������	� 	� ��� �	��� &	�� 	� ��

� �� ������ ��� &�����	��� �$�������� ������������� ������
�� ��&�� 2�.�

��� ����� ������ ��
� ��� �
��


 ��� ��������� �	 ��� �	������ 	� &�����	���� ��� ���	

�	 ��� �	������ 	� � � ��
�� ����$�� ��� ��
� ���� �������� ���� ��� &�����	��� �	��� 

��� �� ���������� 7� ����# ��� �������	� ���� &������ 4�. ?�� ��� 1�4 ?�� �� �		 ����� �	 &�

�����&���� �	 ������ �	������R �� �� ��� &�����	��� ������	� ���� �� �������� ������$ �� ����

����	�� ����� ���� ����$��� �� �	������� &$ �$�������� �������������# � ��	��� �������������

	� ���� ���� ��%����� � ���������	� 	� ��� �$��������� �� ���� ���� �	���� ?���� ��� �	����� 

��$ 	� ������������ ��� ���� �������	�� ��� �������������# � ��� 	� &�������� ������	� ������

���������� �� �������� &��� 	� ��
� ���� �	������ ��� ��� ��	�� �� A���� "�1� ��� �	���

�	���� ��� ��� ������� 	&������ ���� ��� �	����� &�����	��� ���������# ��� ��� ��������� 

���� ��� �����$ ������������ :��	 ������$�� ��� ��� ������� ���� ��� &�����	��� �� ���������

&$ 9U# ����� �	�����	��� �	 ��� �$�������� ������������� �������� �	 ��� �	������ 	� ���

&�����	��� ,��� ��&�� 2�.3� ��� �������	� 	&������ �� ��� &�������� ������	� �� � ������	�

	� ��
� �� ������$ �	�������� ���� ��� �$�������� ����������$ �������� �	 ��� &�����	���
 �



������� +� 
�&�%�& 48/

J�!��	��� �	��������$ ���� ��� ����	���� ��� $���� /�"E8� (����# �	 ������	��� �$��������

������������� ��� ��%����� �	 ���	��� �	� ��� ��
� &�����	��

����� ����� �� ������	�� 	� 	���� ����������� ��%��������� ��	� 	��$ ����� ����� 

��	��� ��� ��

������� �
���� ���� �� ��������� �	 ��� ��������	� 	� ��� ������� �����$ �	������

���	��������	�# �� �� ��� ���� ������ ��� �
����R �� �����	��� �� �����	� /�8# ������ ���� ��� �
���� �
1�4?�� ����$ ������ ���	�����	� �&	�� ��� ���� �������	 �	������� 6���� ��� 	�����G� 

��	� ����� ��	� 	��$ � ����� ����	������ ��	� ���	���� ������ ���� ��� �
���� � 1�/ ?��# ���

���� ��	�� ������� ��� ���� ��� �	��� ����	 ��������	�� ��� �	�������� �� ���� ����	��

(	� )����
� � �����
�� �& �����

?���� ��� �������� &�������� ������	�# 	�� ��� ��������� ����� &$ �	������� ���� ���	 

������� ��������	�� K19# -8# -9# -2L� 7� ��� ��������� &�������� ������	� �� ���� �	 ������� ���

�	��� ��������� ��������	��� ����$ ����� V,� � ��
��3# ��� ������	�

����� + 0�00818

�
�,� � ��
��3

0�001

4�94 ��

��
,4 � 0�08"3

������&�� �� �����	� 1�/�/ ��� &� ���� �	 ��������� ����� ���� �	���� ���	������� ����������$�

7��	��	������ ��� ����������� 	� ��� &�������� ����	 ��� ��� �	��� ������� � ��������

������������ ���	 �%����	� 1�-/# � ����������� 	�

����� + ,8�2. � 0�80������ � 0�1-����� �������3 � 40��

�� 	&������# ����� ��� ���	�� �	�����	�� �	 ������������ ��� ���	������� �������������#

�����������$� :� ��������� �� �������� �# ����������� ��	
� ������������ ���� ����	����

�	� ��'����� ��
� ��%��������� ��� $����

����� + ,8�.- � 0�88������ � 0�18����� �������
3 � 40���

�	� ��
� � 1�0?��# ���

����� + ,8�"8 � 0�8/������ � 0�18����� �������
3 � 40���

�:�
� �
� �����$� 
� �	� + ,(�;'0 � /�/(2. �	 ��� �	� + ,(�09( � /�/(<. �	�
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�� &�������� ������	� ��� ������� &�������� ����	
������������ �� � ������	� 	� �3 ��� �	��� ��� &3 ����� &	��� 	� ��� �
����# �3 ��� �	��� ���
�3 ����� &	��� 	� ��


��� � ��� �
����# �3 ��� ����� &	��� 	� �	� � �
���# ��� �3 ��� &	��� 	�
�	� � �

2��23
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�	� ��
� � 1�1?���

��� �&	�� ������� �	� ����� ��� �� �		� ��������� �	� ��� ����	�� ��
� ��%���������#

��� �� �		� ��������� ���� ��� �	��� ������� 	� ,8�20 � 0�88 � 0�1-3 � 40�� K4.L� �����

������� ��� &���� ��	� 	������� ()* ���������	�� ����	���� �	 	���� 4!8�
� ��������� 	����

.� �	������	�� K-"L# &�� ������ ���	������� ������� ��������� ������ 	���� �	������	�� ����

�������� �� ��� ����������� K22L# ��� ��� ��������� ����	 	� ��� ������� &�������� ������	� �	

��� �	��� ��������� ��������	��� &�������� ������	� ,5�3 ��� ������� �����������$# �	���$

��� �	 ������� �� ��� ()* ����������� 
������ &���� 	� ����� ������ 	���� ���������	��

��� ��������� �� ��� �	��	���� �����	��

(	� #����!�� ������ ��� ����� � �����
��

��� ��� ���	������� �	�������	�� ���� �������$ &��	�� ������&�� �� ����� ��� ������� �����

�� ��� ()* 	� ��� � � ��� ��� � � ��
�� ������� ��� �	������ �� ���� �	 �������

	����# ��� �	��� �	������	�� ��� �������� �� �,.�3 �	� ��� ������� �! ��� �� ���� ����� �	�

��&������� �!� K22L� ��� ������ ���� �	� ��� ����$ %���� ����������# 8� + 8�94�0�0" ?��

��� ��� + 0�4/ � 0�02?�� ��� &���� 	� A�� �	 � � �

�� �	����� K1/L# ���������� �	 ���

����� ������	� ������ K2"L�

7� ���� ��� �	�����# ����� �� ��������� ��	� ��� ������� ����# DV + D��	
� !�� # ��

����� +

�
DV

DM

��#�

+

�
D��	

�

DM ��

��#�
� ,"�-3

����� DM �� ��� �	�����G�� ���	������� ����# DV!������� ��� ���	������� ���� �	� �
��

 :

-�/?��� ��� �	�����	����� ����$ %���� ��������� ������������� ��� ������ �� ��&�� "�1� :��	

	������� ��� ��� ���	������� ������������� ��� �	 ��&������� �!� K2.L# ���� ����������	� K"0L

��� �������	�� �� ��� �������� ������ ���� �� ��� ���������	��

:���� ��&��������� ��� ���	���� ������� &�������� ����	 	&������ �&	�� ���	 �%�� 
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�%�������� DM ,����3 1)�5 ,U3 1�
�� ,U3

I�� � 4�. ?�� 49�0. ����!
����� �44�"

I�� � 1�0 ?�� 48�4. �����
����� �41�9

I�� � 1�4 ?�� 44�0. �����
����� �48�2

��&�� "�1
 ���	������� ����� �	� ����	�� ��
� ��%��������� ��� ���	������ ���	������� �� 

����������� K22L� ��� �! ����������$ �� �	������ �� ���� ����� ��� ������� 	� ��� ()*
��������� 8� ��� ���# ������� ��� ���	������� ���	� �	������ ������������� ��	� ��&�������
�!� ��� ���� ����������	��

��	� "�-# ����� �� ���������� �	 &�

����� + ,-�./ � 0�12������
�����
������)�5� � 0�1/��
���3 � 40���

����� ��� A��� ���	� �� ������������ ,��	� D��	
� 3# ��� ���	�� ��� �	 ����$ %���� ����������

������������� ��� ��� ����� ��� �	 ���	�$� @	 ����������$ �� �������� �	� �	���&�� %���� 

����	� ������$ ��	����	��

������� ������� ��� 	&������ ��	� ��� ������������ 	� ��� ������� &�������� ������	�

�	� ��	 ��'����� I�� ����


����� + ,8�02 � 0�-1������
�����
������)�5� � 0�18��
���3 � 40��

�	� I�� � 4�.?��# ���

����� + ,8�0. � 0�-4������
��� �
������)�5� � 0�-0��
���3 � 40��

�	� I�� � 1�4 ?�� ,��� �������� �3� ����� ������� ��� �	�������� �	� ��� ����� ��'����� ��
�

��%���������# &�� ��'�� ��	� ��� ����� ������ 	&������ �� �����	� "�1# �	���$ &������ 	� ���

������� �� ��� ������������	� 	� ��� ()* �����������

��� �����������	� 	� ����� �� ������� ��������$ &$ 	�� ��	������ 	� ��� � %����

����� 5��������# ��� ����������$ �	 ������ �	����� 	� ��� �! �� ����� 7� ����# ��� ������

�� ����� ���� ���$��� �)� ��	� 0�0- �	 0�-/?�� ���� 8� A��� �� 1U# ��� ��� ������ 	�

����� ����������� �! ����������G���	�� �� : 1U ,��� �����	� 2�-3�
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]-3 10×|  [ub|V
2 4 6

]-3 10×|  [ub|V
2 4 6

CLEO (endpoint) 

 0.35± 0.47 ±4.02 

BELLE (endpoint) 
 0.31± 0.45 ±4.82 

BABAR (endpoint) 
 0.31± 0.27 ±4.23 

) 2, qeBABAR (E

 0.36± 0.27 ±4.06 

 XBELLE m

 0.25± 0.27 ±4.08 

) 2, qXBELLE  sim. ann. (m

 0.30± 0.46 ±4.38 

) 2, qXBABAR (m

 0.32± 0.34 ±4.76 

Average +/- exp +/- (mb,theory) 

 0.27± 0.19 ±4.38 

HFAG
EPS-2005 momentsγ s → and bν c l →HQ input from b

/dof = 5.9/ 6 (CL = 43.0%)2χ

!����� "�8
 �	������	� &������ ��������� ����� �����������	�� �� ��������� �� ��� 100/
*��	���� ;�$����� �	����$ ������� K4.L� 7� 	���� �	 �	����� ��� ����	�� �������# ��� ����$
%���� ���������� ����� ��� ��� ����� � ��	&�� A� �	 &	�� ��� � � �
��� ��� � � ���
����� $����� 8� + 8�90 � 0�08 ?�� ��� �)� + 0�10 � 0�08 ?����

��	�� �� A���� "�8 ��� ��� ������� ��	� ������ ��������� ����� �����������	�� &����

	� ��� � � ��
�� �	��� ������&�� �� 
��� K22L� 7� 	���� �	 �	����� ��� ����	�� �������#

��� ����$ %���� ���������� ����� ��� ��� ����� � ��	&�� A� �	 &	�� ��� � � �
��� ���

� � ��� ����� $����� 8� + 8�90� 0�08?�� ��� �)� + 0�10� 0�08?��� K4.L� ���� �������

���	 ���� ������� �! ������������� �	� ��� 	� ��� ����$���� ��� 	������ �������	� 	� �����
��	� ���� �	�� �� �	�����&�� �	 �����������	�� 	� ����� ����� ���� &��	�� ������&�� �����

���� ����$ ��� ������� �	������	� K"4L� 7� ����# ��� ����������$ 	� ����� ��	� ��� ����	���

���� ��� ����	��� ����$��� ���� �����A�����$ ����	��� ���� ������� �	 ��� ������� ��	��

�� A���� 1�"� ��� ����	� �	� ���� �� ��	 �	��
 ��� �������	� 	� ������������ 	� ��� � 

%���� ���� ��� ���� ����	���# ��� ��� ����	��� ����$��� ���� �	����� ����� ��� �	��
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�	 1?��!�� @	� ����	��G�&�� �'���� ���� �� ��&������� �!� ��� ���� ����������	� ���� �	

������ ���	������� ������������� �� ��� �� �� ����	��� ��� �	 ��� �	���	� 	� ��� � � �����

����� ����� ��	&��� !����� ������������ 	� ��� �������� ��������� ��������	��� &��������

������	�� �	� ������� ��� ������� � ���	�� ��$ �		� ������ ���� ����������$�

(	� 
������

��������$# ��� �������	� �� ��� ��������	� 	� ��� ��� ������� ����� �� ��������$ �������

&$ ��� ������������� 	� ��� ����$ %���� ����������# �� ���������� 	� ��� � %���� �����

��� ����$ 	� ��� �� �	����� �� � � ��� ����$� �� ����� ���� �		� &��	�� ������&��

��� ��	��� ����	�� 	�� ������� ��	������ 	� 8�� ���	������� ���������	�� ��� ���	 &����

�����	��� �	 ���	� � � ��� ������� �	 &� �	�&���� ���� � � �
��� �	���� ����$���

��� ��	��� ������� ����	�� ��� �������	� 	� ()* ����������� ���� ���������	�� ����

���� �� ���������� ��� ������� ��	�� �� A���� "�8# ��� ������ �� /0U ������� �������������

��� �	 ��� ����$ %���� ����������� :���������� ���������	�� ����� ���	� ��� ��������	�

	� ����� ��	� ��������� � � ����� ����$� ����	�� ���	���� 	� ����� ������	�� ����� ���

����	� �����$ ����	��� K"1L ��� ��� ����	��� ���� �������� K"-L ��� ���	 &���� �	���������

*�������	� 	� ����� &���� 	� ����� ���������	�� ��� ��������$ &���� �������� ��� ��	���

�		� &��	�� ������&�� K"8L� !�������	��# ��� �������� ������� 	� ������� ��� ������� �

���	� ����$� ���� ��� �	��������� 	� ������ 	���� ��	������ ���� �� ���� ����������	� ���

���	������� ������������� ���� &� �������� !�����$# ����	������� �� ������� )�� ��� >��


���������	�� ��$ ��	���� ���� &����� �	�� ����	� ��������	�� ��� ���	� ��� ��������	� 	�

����� �	� �	�� ��������� ����$ ��������# �� ���������� �� � ������# ���� ���� &�����

������������� K18# "/L� ���� �	��� &� � �����&�� ����� ��� ���	������� �	���� ���	���� ���

����������� 	� ���� 	�����
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7� ���� ����������	�# � ����������� 	� ��� ��� ������ ������� ����� ��� ����	����

&���� 	� ��� ����$ 	� "" �����	� �� ����� �	������� &$ ����� ������	�� 7�������� ������� 

�	��� � � ��
�� ����$� ���� ������A�� ����� � �	��� ����	��� &���� 	� ���������	��

��%��������� �	� ��� ������	� �����$# ��# ��� ��� ��������� ���� �%����� 	� ��� 
�� ����# ���

��� �������	 8 �	������ ��� ���	��������� ��	� ��� ����&�� 8 �	������ ��� ��	������

	� ��� 
�
� ������� ������ ��� �	������ ����� &�����	��� ��� ���������� &$ ���������

� ����	� 	� ��� �� �� ����� ����� ����� �	������$ ���	��������� � � �

�� ������ ����

������������$ ��������� C�����	��� �	���������	� �� ��� ������ ����	� ��� �	 ���	����	�

�'���� ��� ��������� �� �	��� ����	 ��������	��� ��� ������� � � ��
�� ��� ��������

�	 &� D��	
� , I�� � 1�0 ?��� �
��


 : -�/?���3 + ,-�/8 � 0�--������ � 0�-8��*���3 � 40�� &����

	� ��� 	&������ $���� �� ����# ��� &�����	��� ��������� ��� ������ �Æ�������� ��������� ��

�	��� ����	 ��������	���

��� ��������	� 	� ����� + KD�!,DM ��3L�#� ��� &���� 	� ������ ���	������� ������� 

��	�� K22L# �� ����� ��� ������� ����� �� ��� ()* 	� ��� � � ��
�� ������� ��� �	������

�� ���� �	 ������� 	����# ��� �	��� �	������	�� ��� �������� �� �,.�3 �	� ��� ������� �!

��� �� ���� ����� �	� ��&������� �!�� ��� ������ ���� �	� ��� ����$ %���� ����������#

8� + 8�94 � 0�0" ?�� ��� ��� + 0�4/ � 0�02?��# ��� &���� 	� A�� �	 � � �
��� �	 

����� K1/L# ���������� �	 ��� ����� ������	� ������ K2"L�
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: ����� 	� ����� + ,-�./ � 0�12 �����
����� � 0�1/3 � 40�� ��� 	&������# ����� ��� ���	��

��������� ������������# ����$ %���� ����������# ��� ���	������� �������������# �����������$�

��� ������ ������� ��������� 	� ��� �'���� 	� ��&������� �!�# �������	�� �� ��� ��������

������ ���� �� ��� ���������	�# ��� ���� ����������	�� ��� �&	�� �����������	� 	� �����
�� ������� ��������$ &$ ��� �������	� 	� 8�� ��� ����$ 	� ��� �� �	����� �� � � ���

����$ �� ����� ���� �		� &��	�� ������&�� ��� ��	��� ����	�� 	�� ������� ��	������ 	�

��� � %���� �����
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K4L ������	�# :���# ����� 	
�� 
��� %# -1 ,4.923R ��� ���	 ����� %# 18 ,4.923�

K1L M� ���������	�# M� ��	���# �� !����# ��� 
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C$ �������# ��� ������� ������ ���	���� &$ ��� ����� ������	� ��� ������� �	 &� ��	�� ��

���$ ��� ��� �	�� �	��	� ��������� &���� ��	�����
 ��� 
 
 � 
 
 
 6 ��	�����	� ����	 ��

�&	�� 4 
 / 
 4 
 0�4 K94L� ����	�� ���	������ ��� ���� ������� �	 ��� ������� ������ ������$���

��� �������	� ������&�� �� �����	� /�-�1 �	 �������$ �����	��# ��	��# ��	�� ��� ��	�	��� 7�

��� ����� ���� ��� ������A����	� ��%���������# ��� �������� �� ���� ������� �	 &� � ��	��

4	� �������� 
����
2���
��

��� ������	� ������	� K94L �� �����&�$ ��� �	�� ���	����� ���	����� �� ���� ����$���� �������

������ ��� ������A�� �� ������	�� ,	� �	����	��3 �� ���$ ������$ ��� �	��	���� ��������


4� :���� ����$��� ��� �!6 ����&����	� �	 ��� ��� ������� �����$# ��� ����	 	� ��� ���	� 

�������� �����$ 	��� ��� �	������ �� ��� ��&	���	�$ ����� �� 0�". : �!6 : 4�1R

1� ��� ���&�� 	� ��$����� �� ��� *�� �������� ���� �����$ ���	����� &$ ��� ��	��� ��

� -R

-� ��� ��	��� ������� ����� �� ��� *�� ��� 0�0 : >:� : 0�9R

8� ��� ����	 	� ��� �	��� �	 ��� ���	�� S������ �	����# ����� ������&�� ��� �G�������

��	��� ��	A��# �� �40 : *��� : 0�44R

/� ��� ���� 	� �����$ �	�� �� �������� �� ��� ����� ����&�� �� /80 : �*!�� : "90R



������� �� -�����%� 	�����0������ 494

9� 7� ��� ���&�� 	� �������� ��	�	�� �� ��� �7
� �� � 40# ���� ��� �������� <������	�

����� �� ��%����� �	 &� ������ -1 	� ��� ������	� �$�	������R

2� *�����	�������� ��	���� ����� 	� ������� ������� �� ��� *�� ��� ��� �	�� �	���� 

������ ��	��� ��� ������ �	��� ���� ��	���� 	� ����	��� ���������	��� ������	��#

���$ ������$ � ������� �G������� ��������	� &������ ��� ����� ������ �	��� �� ���

*�� ��� ��� ������ 	� ������$ 	� ��� ���	������ �������� (����# � ��%�������� 	�

DD + D5�� � D#'(� �� ������� �� � ������	� 	� 6��%� �

4	� 7��� 
����
2���
��

��� ��	� ������	� K91L �� &���� 	� �������		� ����	� &������ ��	��# ��	�� ��� ��	�	��� ���

�������	� ��� 	�����G�� �	 ���� ��� ��� ������A����	� ���� &��	� 1U �� �	 6'�$ � 8 ?��� !	�

��������� ��	�� ���� �	����� 6'�$ � 0�9 ?��# ������A����	� �� &���� ��������$ 	� �������

���	�����	� �	� ��� �7
�� ��� ��������� �� ��� <������	� ������	� �� %���� �	�����
 ��� A�

����� ���	��� ��� ��'����� �������� �$�	������ A����� ��� <������	� ����� ��� ������� ����

������&���	� 	� ��� ��	�	�� ���	������ �	 � ������ ��� ����������� 	� ��� <������	� �����

�� � ������	� 	� ��� ��	� �	������ �� ��	�� �� A���� C�4R ��� ��	� &��� �� ��&����� ��

����	� �� 
���	� : �� �	������� &$ ������ �	� ����� �	 A� �� ����	���� &������ ��� ���������

��� �	� ����� ��� �7
� 	� ��	����� �� ��	��� 	� ��	�	� &��	� ������	��� ��	�� �	 ���

������	��# ��	�� ������ �� ��� ������	�# ��	� ��� ��	� &��� ���� � ������ ���� ������

,����	� C3� ��� ��	�� ����$�� 	� ���������� ���� ��� ������	� �������� ���	� �	 �������� ���

�7
�# &�� ��� �������� ��������� ��� �	� ������� ���� ��	� ����� �	���� ��	� �������	��


���	� � �	����	�� �	 ��� ��	�	� &���� 7� ���� ����# ��	�� ��������� ����	��� ���������	��

����� ��� ���� ���� ��	�	��� !	� �	����� &��	� 0�9 ?��# �����$ �	�� ������������ ��	�

&	�� ��� ��� ��� ��( ��� ����# ��� �� ����� 8 ,443 ��� ,��(3 ���� ���� ���� &���

���	����� ��� �Æ�����$ �	� ��	�� ���� 6'�$ : - ?�� �� &����� ���� "0U K91L�
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!����� C�4
 <������	� ����� ����������� �� � ������	� 	� ��� �	������ �	� ���������
��	� ������� ��� �������� ���	�����	� ��$ &� ���� �� �	�B	����	� ���� <������	� �����
������������ �	 �������$ ��������� K88L�

4	� /��� 
����
2���
��

7� ��� ���� 	� ��� ��	� ���	����� K9-L# ��� �	��	���� �������� ���� &� �����A��


4� !	� ��	� ����� ���������� ���� �������� *�� ��������# ��� �����$ �������� �� ���

���	������� �� 0�08?�� : �#�' : 0�8 ?��R

1� !	� ��	� ����� ���������� ���� �������� 7!
 ��������# ��� ���&�� 	� 7!
 ��$��� ����

���	���� ���� �� ?� � 1R

-� ��� �������� ���&�� 	� ���������	� ������ ��������� &$ ��� ��	� ����� ��������� ��

��� ������	� �� ) � 1�1R

8� ��� ��'������ &������ ��� �������� ��� �������� ���������	� ������ ��������� &$

��� ��	� ����� ��������� �� ��� ������	� �� D) : 4�0R

/� ��� �������� �	����	� &$ ��� 7!
 ������ ������� ��	���$ ��� ����� ������	����	�#
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��������� �� � J�!��	��� : /R

9� ��� ����� ���� �������� &$ ��� 7!
 ������ ������� ��	���$ ��� ����� ������	����	�#

��������� �� � J���%!��	��� : /R

2� ��� ����� ���� �������� &$ ��� 7!
 ������ ������� ��	���$ � ����� 	���� �	�$�	����

�� 	� ��� 7!
 �������# ��������� �� � J�/�!��	��� : -R

"� 7� 	���� �	 �������� ��	� ���� ���� �� ��� 7!
 �	����� ������# ��� �	�������$ 	� ���

����� �� 	� ��� ����� �� ��%����� �	 &� $
 � 0�- ,��� K9-L �	� � ���������	� 	� ����

�����&��3R

.� ��� ������� �����������$ 	� ��� ������ ��� ��$�� �� 8 : "R

40� ��� �������� �������� �������	� �	� 8 �� 1* : 8�

��� �&	�� �������	� �	�����	��� �	 ��� ����� ����� ��	� �������	��

4	� %����� 
����
2���
��

;�	�	� ������A����	� �� &���� ��	� �*E�� ��� <������	� ����� ������������ ����	���� &$

��� ��( ��� �7
�# �����������$� !	� ������ �� ��� �	������ ����� 0�04?�� : 6'�$ :

0�.?��# �; �� ��%����� �	 &� G��	� ;�	�	�� ��� ���� ������A�� �� ���� �� ��� ��������

�*E�� �� ������ 11 	� ��� �������� �*E�� ����� �	� ��	�	���

!	� ������� ������ �� ��� 0�. ?�� : 6'�$ : -�0?�� �	������ �����# ��������� ���

������A�� �� ��	�	�� �	� ��� �	��	���� �����


� ��� �������� �; + 0 ��� �*E�� ����� �� ������ 11 	� ��� �������� �*E�� �	� ��	�	��#

��� ��� ����	 	� ��	�	�E��	� ��	&�&������� �� � 10R

� C	�� ��� �������� �; ��� �*E�� ������ ��� ������ 11 	� ��� �������� ������R

� ��� �������� �*E�� ����� �� ������ 11 	� ��� �������� �*E�� �	� ��	�	��# ��� ���

����	� 	� ��	�	�E��	� ��	&�&������� �� �������� &$ &	�� ��� �7
� ��� ��( ��� � 10�
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!�����$# �	� ��������� ������ ���� �	������ �&	�� - ?��# ��� �*E�� ��� �; ��� 

��������� ��� �	������ ���� ���������� ������ ����� ��	�	�# ��	� ��� ��	� ���� �$�	��� 

���� 7� ��� ��	�	� ���� �$�	������ $����� ��� &��� ����� �� &	�� �����# ��� ��� ����� ��

������A�� �� � ��	�	��
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"���
����#� �������

��� ������ &�������� ����	 ��� ��������� �	� ����� ��'����� ������	� �����$ ��%���������


1�0# 1�4 ��� 1�1 ?��� 7� �����	� 2# �� ��������� ������������ ������������� ��� ��� �� 

������� �$��������� 	� ��� ��������� &�������� ����	 �	� �� ������	� �����$ �������	� 	�

��
� � 1�4?��� ��&��� ��4 ��� ��1 	������� ��� $����� ��� �Æ������ �	� � �	��� 	� 	� ���

������	� �����$ 	� 1�0 ��� 1�4 ?��# �����������$�

�$�������� ������������� ����� ���� ��%��������� ���� ��������� ���	����� �	 ���

����������	� 	������� �� �����	� 2�1# ��� ��� ������� ��� �������G�� �� ��&��� ��- ��� ��8�

(����# ��� ������ � � ��
�� &�������� ����	 ��

��	
� + ,1�9. � 0�11������ � 0�8-��*���3 � 40��

������ 
�� ���� ������ 
�� #�

?�$�$
$�� "890 � 49- "9;
�=> /91" � 8"

?�$�$���� 42".9 � 4./ "9;
���� 4".2/ � "8

2"���	�� ,.0�1 � -�.3 � 40�� 2��
	�� ,.0�9 � 4�.3 � 40��

2��
� ,/�22" � 0�0/93 � 40��

5� 0�4901 � 0�000/
2��& ,-4�" � 0�-3 � 40��

2��& ,0�"9- � 0�0193 � 40��

��&�� ��4
 ���� ��� �	��� ����	 $����� ��� �Æ�������� ���� �	� �	������� ������ &��������
����	 �	� � �	��� &	��� 	� ��

� , I��3 	� 1�0 ?�� ,4�.?��3� ��� ������������� ��� �����$
������������
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������ 
�� ���� ������ 
�� #�

?�$�$
$�� 1949 � 4-" "9;
�=> 44/9 � 14

?�$�$���� 448/ � "8 "9;
���� 4119 � 14

2"���	�� ,.0�1 � -�.3 � 40�� 2��
	�� ,.0�9 � 4�.3 � 40��

2��
� ,-�-/. � 0�0823 � 40��

5� 0�448/ � 0�0008
2��& ,12�0 � 0�-3 � 40��

2��& ,0�-41 � 0�04/3 � 40��

��&�� ��1
 ���� ��� �	��� ����	 $����� ��� �Æ�������� ���� �	� �	������� ������ &��������
����	 �	� � �	��� &	��� 	� ��

� , I��3 	� 1�1 ?�� ,1�4?��3� ��� ������������� ��� �����$
������������

�	� ��
� � 1�0?��# ���

��	
� + ,1�90 � 0�-0������ � 0�-"��*���3 � 40��

�	� ��
� � 1�1?���

F���� �%����	� 1�-/# ��� �&	�� ������� �	�����	�� �	

����� + ,8�.- � 0�88������ � 0�18����� �������
3 � 40���

�	� ��
� � 1�0?��# ���

����� + ,8�"8 � 0�8/������ � 0�18����� �������
3 � 40���

�	� ��
� � 1�1?���

��� ������� �	� ��� ���	���� D��	
� �	�����	����� �	 ��� �&	�� ��

� ��%���������

���������� �	 ��� � ���	� ���� ����� ���

D�, I�� � 4�.R �
��



� : -�/3 + ,8�1" � 0�-/������ � 0�/"��*���3 � 40���

���

D�, I�� � 1�4R �
��



� : -�/3 + ,1�.2 � 0�-8������ � 0�1.��*���3 � 40���

��� ��������	� 	� ����� &���� 	� ��� �&	�� ������� &�������� ����	 ������������ �� ���������

�� �����	� "�-�
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�	���� 	� �$��������� 1���� ,U3 14���� ,U3

4�3 �������� �Æ�����$ �1�1 �1�1

1�3 *�����	� 7� �Æ�����$ �4�4 �4�4

-�3 ������� �������� 7� �1�9 �1�9

8�3 C������������� �1�1 �1�.

/�3 @������� ���	��������	� �9�9 �9�8

9�3 
�
� �����$ ���	����	� �8�- �8�-

2�3 C �	������ �4�4 �4�4

:3 *����������� �$��������� �.�0 �.�4

4&3 � � �
�� ��������	� �2�8 �2�8

1&3 
�������� �	������	�� �8�- �/�4

C3 C�����	��� ��������	� �"�9 �.�0

4�3� � ���� ��������	� �8�0 �8�8

1�3 ����� ������	� ������������� �.�0 �4�4

�3 ������ ��������	� �.�" �8�/

�	��� ,*�� � �3 �4/�" �4-�9

��&�� ��-
 ������$ 	� �$�������� ������������� �	� � �	��� &	��� 	� ��� ������	� �����$ 	�
1�0 ?��� ��� �$��������� 	� ��� ������ ��������	� ���	 ������� ��� ���	������� �������������
���	������ ���� ��� ����������$ 	� 8� ��� <� ��� �	��� �$���������� ����������$ ���
�	������ �� ��� %�������� ��� 	� ��� �������������� 7� ��� ���� ����� � �������	� ���
����� 	��$ �� 	�� �������	�# ��� �	�����	����� ����������$ ��� �$������G���
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�	���� 	� �$��������� 1���� ,U3 14���� ,U3

4�3 �������� �Æ�����$ �4�4 �0�.

1�3 *�����	� 7� �Æ�����$ �0�2 �0�.

-�3 ������� �������� 7� �1�1 �1�/

8�3 C������������� �4�" �1�4

/�3 @������� ���	��������	� �1�" �1�"

9�3 
�
� �����$ ���	����	� �4�4 �0�.

2�3 C �	������ �4�4 �4�4

:3 *����������� �$��������� �8�/ �8�2

4&3 � � �
�� ��������	� �-�9 �-�"

1&3 
�������� �	������	�� �-�9 �-�.

C3 C�����	��� ��������	� �/�4 �/�8

4�3� � ���� ��������	� �8�. �9�0

1�3 ����� ������	� ������������� �44�. �1�2

�3 ������ ��������	� �41�. �9�9
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